Provision for taxation 20.000 Cash Balance 30,000
3,00,000 3,00,000
Solution.

Long - Term Debt
() Debt-Equity Ratio = ong — term ¢

Shareholders Fund
Long-term Debt = Secured loan ¥ 80,000
Shareholder's Fund = Equity Share Capital + Reserves + P.L. Afe
= 1,060,000 + 20,000 + 30,000 = 1,50,600

80000
(50,000 >

Liquid Assets
Liquud Liabihties

Debt-Equity Ratio =

N Liguidity Ratioc =

Liquid Assets = Sundry Debtors + Advances + Cash Balance
= 30,000 + 10,000 + 30.000 = 70,000
Liquid Liabilities = Provision for Taxation + sundry creditors
= 20,000 + 50,000 = 70,000
70,000 _
70,000
(/i) Fixed Assets to Current Assets
Fixed Assets _ 1,40,000 _
Current Assets 1,00,000

Turnover - 3,60,000 -
Fixed Assets 1,40,000

Hlustration 4. The Balance sheet of Naronath & Co. as on 31.12.2000 shows
as follows :

Il

Liquid Ratio 1

1.4

()  Fixed Assets Turnover = 4

Liabilities 3 Assets T
Equity capital 100,000 Fived Assets 1,80,000
15% Preference shares 50,000 Stores . 25.000
12% Debentures 50000 Debtors 55,000
Retained Earnings 20,000 Bills Receivable 3,000
Creditors 43,000 Bank 2,000
2.65,000 2.65,000

Comment on the Financial position of the Company i.e.. Debt-Equity Ratio,
Fixed Assets Ratio, Current Ratio, Liquidity.

Solution.

t - ity Rati
0 Debt-Equity Ratio = o2t Eduity Ratio

Long - Term Debt
Debentures = 50,000
Equity Share Capital + Retained Earnings
1,00,000 + 50,000 + 20,000

50,000
1.70,000

n

Long-term Debt
Shareholder's Fund

I

=29
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Accounting Theory and Fixed Assets

Practice (i) Fixed Assets Ratioc = Proprictor's Fund 1.80,000

Proprietor's Fund = Equity Share Capital + Preference Share
Capital + Retained Earnings

Notes = 1,00,000 + 50,000 + 20,000 = 1.70,000
\ . 1,80,000
Fixed Assets Ratio = 770,600 1.05

Current Assets
_ Current Liabilities
Current Assets = Stores + Debtors + BR + Bank

= 25,000+ 55,000+ 3,000 2,000 = 85,000
Current Liabilities = 45,000

(i) Current Ratio =

Current Ratio =

Liquid Assets
Liquid Liabilities
Liquid Assets = Debtors + Bill Receivable + Cash
= 55,000 + 3,000 + 2,000 = 60.000
Liquid Liabilities = 45,000
60,000
45,000

Hlustration 5. From the following particulars pertaining to Assets and Liabilities
1
of a company calculate :

() Liquid Ratio =

Liquid Ratio = =133

(a) Cuwrrent Ratio (h) Liguidity Ratio

{¢) Proprietary Ratio (d) Debi-equiry Rativ

(¢) Capiral Gearing Ratio

Liabilities 3 Assets 4
3000 equity shares T 10 each 300,000 Land & Building 6.00,000
8% 2000 per shares X 100 each 2.00.000 Plant & Machinery  5,00,000
9% L000 Debentures of T 100 each  4,00,000 Debtors 2,00,000
Reserves 3.00,000 Stock 240,000
Creditors 1,50.000 Cash and Bank 55,000
Bank over draft 50,000 Prepaid Expenses 3,000
16,00,000 16,00,060
Solution.

Current Asscts
Current Liabilities

Stock + Cash + Prepaid Expenses + Debtors
- 2,40,000 + 55,0600 + 5,000 + 2,00,000
5.00,000
Current Liabilities = Creditors + Bank Overdraft

(H Current Ratio =

n

Current Assets

1
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= 1.50,000 + 50,000 = 2,00,000
5,00,000
2,00,000
Liguid Asscits

Liquid Liabilities

Liquid Assets = Cash and Bank + Debtors

= 55,000 + 2,00,000 = 2,55,000
Liquid Liabilities: Creditors
= 1.50,000
2,55,000

Liquid Ratio = 1,50,000 =171

Proprictor's Fund
Total Tangible Assets

25:1

(i Liguid Ratio

(i) Proprietary Ratio =

Proprietor's Funds = Equity Share Capital + Preference Share
Capital + Reserves and Sarplus
= 5,00,000 + 2,00,000 + 3,00.,000
10,00,000

Proprietary Ratio = 16.00.000 0.625: 1

External Eguities
Internal Equities

() Debi-Equity Ratio =

External Equities = Long-term Liabilities
+ Short-term Liabilities
= 4,00,000 + 2,00,000 = 6,00,000

Internat Equities = Proprietor's funds
6.00,000
= 70.00,000 06!

Fixed Interest Bearing Securities

() Capital Gearing Ratio = Equity Share Capital + Reserves
Fixed Interest Bearing Securities = Preference Shares 2,00,000
= [Debentures 4,00,000
6,00,000
_6,00,000 _ ‘
~ 3,00,000 07+

Hlustration 6. From the following details of a trader you are required 10
calculate :

(i) Purchase for the year (if) Rate of stock turnover

(¢) Percentage of Gross profit to turnover

Sales 3 33.984 Stock at the close af cost price 1,814
Sales Refurns 380 G.P for the year 8068
Stock «ai the beginning at cost 1,378

price
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Solution. Trading Account
To Opening stock 1,378 By Sales 33,984
To Purchase (Bf) 25,972 (-) Sales Retums 380
To gross profit ) 8,068 33,604
' By Closing stock 1,814
35,418 35,418
(f) Purchase for the year ¥ 25,972
(i) Stock Turmover = Co:viiaig%ﬁcskold

il

Cost of Goods Sold Sales - GP = 33,984 — 8,068 = 25,916

Opening Stock + Closin g Stock

Average Stock = 3
-
_ L3712 : 1,814 _ 1,596
215’599]66 = 16.23 times

E

(iif} Percentage of Gross Profit to Turnover

= %X100=%X100=23.74%
Problem 7. Calculate stock turnover ratio from the following information :
Opening Stock 38,000
Purchases 4,84.000
Sales 6.40,000
Gross Profif Rute - 25% on Sales
Solution.
(i) Stock Turnover Ratio = Coitv?:f-agzgggf Id
Cost of Goods Sold = Sales - GP
= 6.,40,000 — 1.60,000 = 4,80,000
Stock Turnover Ratio = % = B.27 times Ans.

Here, there is no closing stock. So, there is no need to calculate the average
stock.

Hiustration 8. Calculate the operating Ratio from the following figures.

liems (X in Lakhs)
Sales 17,874
Sales Returns 4
Other Incomes 33
Cost of Sales 15,440




Administration and Selling Exp. 1,843
Depreciation 63
Interest Expenses (Now-operating)
Solution. )
Operating Ratio = Cost of Goods Solg;cCS)peraung Expenses <100
_ 15,440+ 1,843 <100 = 97%

17,870

Hiustration 9. The following is the Trading and Profit and loss account of
Mathan Bros Private Limited for the year ended June 30,2001.

4 T
To Stock in hand 76.230 By sales 5.00,000
To Purchases 313,250 By Stock i hund 98,500
To Carriage and Freight 2,000
To iTages 3.000
To Gross Profit 2.00,000
3.98.500 598300
To Administriiron
Expenses 1.00.000 By Gross profu 2.00.000
To Finance Expenses ! By Non-operating Incomes
fnierest 1,200 Interest on Sechrities 1,306
Discotnt 2,400 Dividend on Shares 3.750
Bad Debis 3,400 7.000  Profit an-Sale of Shares 750 6,000
To Sefling Distribution Expenses 12.000
To Non-operating expenses
Loss on sale of securities 350
Provision for legal suit 1,650 2.000
To Net prafit 84,000
2.06,000 2,06.000
You are required to calculate:
(1} Grass profit-Ratio (if} Expenses Ratio (individual)
(ifiy Net profii Ratio (v} Operating profit Ratio
(v} Operating Ratio (vi}y Stock turnover Ratio
Solution. Gross Profit 2,00,000
14 4 R -
(i) Gross Profit Ratio = ~—g == x 100 = $gatamn % 100
(i) Expenses Ratio = Indlwdga:llixpenscs
@ Ad ministration Epenses <100 = 1,01,000 <100 =2.02%
Sales 5,00,000 '
) Fmancseal;‘c’;penscs <100 = ———-5;’(?, %%0 x 100 = 1.40%
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Selling and Distribution Expenses y

(©) Saies 100
12,000
= 3.00.000 > 100 =2.40%
_ Non - Operating Expenscs _ 2,000 _
(d) Sales x100 = 3.00.000 <100 =0.4%
(7/if) Net Profit Ratio :
Net Profit 84,000
WXIOO = mx 100 =16.8%
. . . Operating Profit
() Operating Profit Ratio = Sales x100
Operating Profit = Net Profit + Non-Operating Expenses
— Non Operating Incomes
= 84,000 + 2,000 - 6,000 = 80,000
80,000 _
= &500.000 <100 = 6%
(v} Operating Ratio
_ Cost of Goods Sold + Operating Expenses < 100
- Sales
Cost of Goods Sold = Sales — Gross profit
ie., 5.00,000 —2.00.000 = 3.00,000

Operating Expenses

All Expenses Debited in the Profit & Loss A/c Except Non-operating
Expenses [including Finance expense])

1.01,000 + 7.000 + 12,600 = [,20,000
+
Operating Ratio = 3,90, (;030 ;6(2)0’000 x 84%
: . Cost of Goods Sold

{vi) Stock Turnover Ratio = Average Stock
Cost of Goods Sold = 3,00,000 -

*ni t + i L

Average Stock = Opening Stock > Closin g Stock
6,250+ 95,50 '
_ 7625 29,30 - 85,875
- 3,00,000

= RER75 3.49 times
Problem 0. Suraj & Co. sells goods on cash as well as credit (though not on
deferred instalment terms). The following particulars are extracted from their books
of account for the calendar year 2004.

Total Gross sales = 1.00,000
Cash sales (included in above) = 20,000
Sales Returns = 7,000
Total Debtors for Sales on 31.12,2004 = 9000
Bills Receivabie on 31.12.2004 = 1,000




Provision for Doubtful Debts on 31.12.2004
Total Creditors 31.12.2004 4

Calculate the Average Collection Period.

1,000
10,000 .

ll

Solution.

Average Colicction Period __
Debtors + Bills Receivable + Provision for Doubtful Debts 5
Net Credit Sales
9,000+ 1,000+ 1,000
73,000

365

x 365 =55 days
Workings:
Net Credit Sales

Total Gross Sales — Cash Sales - Sales Returns
= 1,00,000 — 20,000 — 7,000 = 73,000

Hlustration 11. The following is the Trading account of M/s SKC Litd. You are
required to calculate the stock turnover Ratio.

To Opening Stock 7,960 By Sales 39,000
70 Purchases 19,500 By Closing Stock 7.200
To Carriage imvards 300
To gross profit 18,240
46,200 46,200
Solution.

Cost of Goods Sold
Average Stock

Stock Turnover Ratio =

Cost of Goods Sold = Sales — Gross Profit

39,000 — 18,240 = 20,760

Opening Stock + Closin g Stock
]

I

il

Average Stock

7,960+ 7,200
2

7.580
20,760 .
?’5—860 =2.73 times

Hlustration 12. The Balance Sheet of Lal and Co. on 31 12.2000 shows the
Jollowing details :

T

Cash 9,500
Marketable Securities 15.000

‘ Invemtories 1.00,600
Debtors 85,000

Prepaid Expenses 5.000
Long-termt Loans 1.06,000

Trade Creditors 64.000

Analysis of Financial
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Accounting Theory and

Practice Income Tax Payable ) 9.000
Accrued Expenses 12,000
You are required 1o compute
Notes (i) Current Ratio (if) Acid-Test Ratio.
Solution.

Current Assets
Current Liabilities

() Current Ratio =

Current Assets = Cash + Marketable Securities + Debtors
+ Prepaid Expenses
= 9.500-+ 15,000 + 1,00,000 + 85,000 + 5,000
= 2,14.500
Current Liabilities = Trade Creditors + Income Tax Payable
+ Accrued Expenses
= 64,000 + 9.000 + 12,000 = 85,000
Current Assets
Current Liabilities

Current Ratio =

2,14,500
85,000 252
Liquid Assets
Liguid Liabilities
Liquid Assets = Cash + Marketable Securities + Debtors
+ Prepaid Expenses
= 9,500+ 15,000 + 85,000 + 5,000 = 1,14,500

Liquid Liabilities = Trade Creditors + Income Tax Payable

+ Accrued Expenses

= 64,000 + 9,000 + 12,000 = 85,000

(if) Acid Test Ratio =

1,14,500
85,000
Htustration 13. From the following figures caleulate the creditors turnover
ratio and the average age of accounts payable.

= 1.34:1

4
Credit Purchase During the year 1998 1,00,000
Creditors on 01.01. 1998 20,000
Creditors on 31.12.1998 10,000
Bills Pavahle on 01.01. 1998 4,000
Bills Payable on 31.12.1998 6,000

Solution.
Net Credit Purchase _1,00,000

i

Creditor's Turnover Ratio Average Account Payable 20,000

3 times

. Months 12
' - = = — =7
Average Pavmeni Period Creditors TuMmover 5 2.4 months
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Problem 14. From the data given below compute :

(a) Working Capital

(¢} Current Ratio

(e) Debt-Equity Ratio

Balance Sheet of Butterfly Ltd. as on 31st December

(b) Net Capital Employed
(d) Acid Test Ratio
(/) Fixed Assets Ratio

O LabiliGess © 7 | e Assels & | g T
Equity Share Capital 25,000 | Fixed Assets © 30,000
Preference Share Cupital 5,000 | Current Assels : Stores 2,000
Reserve and Surplus 4,000 | Sundry Debtors 1,000
Debentures 8,000 | Cash 300
Bank loan 4,000 | Bank 2,500
Sundry creditors 1,000 | Preliminary expenses 8,000
Proposed Dividends 1,000 Brokerage on shares 2,000
Provision for Taxation 2,000 Stock 4,000

30,000 50,000

Solution
Working Capital

Current Assets

Current Liabilities

(a) Working Capital

fl

N

() Net Capital Employed
All assets excluding fictitious assets — Current liabilities i.e.,
T 40,000 - 4,000 = 36,000

()
(d)

Liquid Assets
Ligwd Liabihities

() Debt—Equity Ratio

QOutsider's Fund

Current Ratio =

Acid Test Ratio =

Current Assets — Current Liabilities
Stores + Sundry Debtors + Cash + Bank + Stock
2.000 + 1,000 + 2,500 + 4,000 + 500 = 10,000

Sundry Creditors + Proposed Dividends
+ Provision for Taxation
1,000 §,000 + 2,000 = 4,000

1,000 — 4,000 = 6,000

Current Assets 10,000 _ 251
Current Liabilities 4,000 -7 °

Liquid Assets
Liquid Liabilities
2,500 + 500 + 1,000 = L.e, 4.000
2,000 + 1,000 + 1,000 = ie., 4,000
4,000 |
4,000

Outsider's Fund 16,000
Shareholder's Fund — 34,000
Outsider's Fund 16,000
Debentures + Bank Loan + Sundry Credilors
+ Proposed Dividends + Provision for Taxation
8,000 + 4,000 + 1,000 + 1,000 + 2,000 = 16,000

=47:1
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Shareholder's Fund

il

Equity Share Capital + Preference Share Capital
+ Reserves and Surplus
25,000+ 5,000 + 4,000 = 34,000
047:1

Fixed Assets 30,000
Long - term Funds 46,000

Equity Share Capital, Preference Share Capital.
Reserves and Surplus. Debentures, Bank Loan.
25,000 + 5,000 + 4,000 + 8,000 + 4,000 = 46,000

IHustration. You have been asked by the management of a firm to project a
Trading, Profit and Loss A/c and the Balance Sheet on the basis of the following
estimated figures and ratios, for the next financial year.

Debt-Equity Ratio

(/) Fixed Assets Ratio =65:1

H

Long-term Funds

Ratio to gross profit 20%
Stock turnover ratio 5 times
Average debt collection period 3 Months
Creditors 3 Months
Current ratio 2
Proprietary ratio (fixed assets to capital employed) 73%
Capital gearing ratio (Preference shares and debentures 1o equity) 30%
Net profit to issued equity capital 10%
General Reserve and Profit and Loss to issued equity capital 25%
Preference share capitul to debentures 2

Cost of sales consists of 3 O%Ijbr materials
Gross profit 36.25,000

Solution : Projected Trading and Profit Loss Account

To Cost of materials 12,50,000 | By Sales 31,253,000
To Direct expenses 12,50.000
To Gross profit 6.25,000
31,25,000 31.23,000
To Indirect expenses 4,581,500 | By Gross profit 6,25,000
(Balancing figure)
To Net Profit 1.43,5000
6.25,000 6,25,000




Projected Batance Sheet

2. Cost of Sales :
Cost of Sales

3. Materials :
50% of Cost of Sales

4. Direct Expenses :

Direct Expenses

5. Stock:

Stock Turnover Ratio

Le. s

Stock
6. Debtors:

Debtors Turnover =

Preference Share Capital 5,12.500 | Fixed Assets 19,21,875
Equity Share Capital 14,35,000 | Current Assets :
Debentures 2,56,250 | S1ock 500,000
General Reserve 2,15,250 | Debtors 7.81,250
Profit and Loss Afc 1,43,500
Current Liabilities;
Overdraft 3,28,125
Creditors 3,12,500
32,03,125 32,03,125
Workings :
1. Sales: G Prof
L ross Protig
Gross Profit Ratio = Sales < 100
. _ 36,25,000
(i.e)20 = Saics~ 100
20 Sales T6,25,000 x 100
'6,25,000
Sales — 5~ 100
< 31,25,00

Sales — Gross Profit
T31,25,000 ~ ¥ 6.25,000
7 25,00,000

50% of ¥ 25,00,000
{12,50,000

Cost of Sales — Cost of Materials
¥ 25,00.000 - T 12,50.000
T 12,50,000

Cost of Sales
Stock

T 25,00,000
Stock
< 5,00,000 (25,00,000/5)

=5

Debtors

Credit Sales x12

Analysis of Financial
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10.

11.

12,

I3.

(ie)d =

Debtors

Total Current Assets

Current Liabilities :
{i.e.} 2 Current Liabilities

Current Liabilities
Creditors :

Creditors Tumover Ratio

(ie)3
Creditors
Overdraft :

Overdraft

Fixed Assets :
Fixed Asseis

Debtors
¥ 31,25.000
¥ 7,81,250
Stock + Debtors
T 5,00.000 + T 7.81,250
312,81,250
Current Asscts
Current Liabilities
Current Assets

<12,81,250
2

T 6.40,625

12

=2

Creditors N
Credit Purchases

Credifors X
<12,50,000

T3,12,500

{Materials have been purchased on credit)

12 =3

12

Current Liabilities — Creditors
¥6.40,625-33,12,500
Z3,28.125

75

Capital Employed
Working Capital

100
25

Capital Employed
Working Capital

Fixed Assets

Capital Employed :
Capital Employed

Capital Gearing Ratio :

100
Current Assets — Current Liabilities

T 12.81,250 — ¥ 6,40,625
Z 6,40,625

% 6,40.625 x 3
219,21,875

Fixed Assets + Current Assets
— Current Liabilities
$19,21,875+3 12,81,250 - T 6,40,625

$25,62.500

Pref, Share Capital + Debenture
Tota] Capital Employed

=30%

Pref. Share Capital + Debentures = 30% of ¥ 25,62.500

< 7,68,750




14,

15.

16,

17.

Equity Shareholder's Fund Capital Fund — (Pref. Share Capital and

Debentures)
< 25,62.500-X 7,68,750
17,93,750

1

T7,68,750 % 2. 512,500

1l

Preference Share Capital

3
1
Debentures = ¥ 7,068,750 3= T 2,56,250
General Reserve and Profit and Loss :
25

25% of Equity Share Capital = I17,93.750 % =3 3,58,750

125
(Shareholders Fund include General Reserve and Profit)

Equity Share Capital :
Equity Shareholders Fund — (Reserve and Profit)
T.17,93,750-% 3,58,750 = T 14,35,000
Profit : |
10% of Equity Share Capital
10% of ¥ 14,35,000 = T 1,43,500

General Reserve :
General Reserve and Profit — Profit

3 3,58.750 - 1,43.500 = ¥ 2,15,250

Type |l : Ratio to Balance Sheet

Hiustration 1. From the following details find out

(1) Current Assets (i1 Current Liabilities
(iify Liquid Assets (fv) Stock,
Current Ratio 2.5
Liguidity Ratio ' 13
Working Capital T 60,000
Solution. :
1 Current Assets — Current Liabilities = Working Capital
A l \
2.5 - 1.0 = 15
\ A l
1,00.000 -~ 40,000 = 60,000
2 Liquid Ratio :  Liquid Assets :  Liquid Liabtlities
l 2
1.5 = 100
1 1
60.000 = 40,000
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Current Assets 1.00,600

Current Liabilities 40,000

Notes Liquid Assels 60.000
Stock 40,000

NOTE :
(7} Here. all Current Liabilities have been taken as Liquid Liabilities
(/i) Difference between Current Assets and Liquid Assets is the stock.

Hiustration 2. From the following details, prepave Balance sheet of Moorthy
Lid., with as many details as possible, ‘

() Stock Velocity : 6.
(i) Capital Turnover Ratio : 2.

—

(iif) Fixed Asset Turnover Ratio - 4.
(i) Gross Profit Turniover Ratio : 20%.
(v) Debtorks Velociry : 2 months.
(vi) Creditors Velocity : 73 days.
(vit) Gross Profit was 3 60.000.
(viif) Reserves and Surplus 3 20,000, -
{ix) Closing Stock was I 3,000 in Excess of Opening Stock.

Solution.
Workings :
(/) Costof Goods Sold + GP = Sales
1 l \
0% 20% 100%
2.40,000 + 60,000 = 3,00.000
.. Cost of Goods Sold
(ii) Stock turnover = Average Stock (X)
= Stock Velocity (6}
2,40,000
X = 050
Average Stock = 40,000
Total Stock value = 40,000 x 2 = 80,000
Less : Excess = 5,000
75,000
Opening Stock = 37,500
Closing Stock = 37,500 + 5,000 = 42,500
(i) Debtor's Velacity = 2 months

176 Self-Instructional Material




2
Debtors(X) 15 = 1 je. X =3,00,000x =
Sales | 12
Debtors = T 50.000
(iv) Creditor's Velocity = 73 days.
Creditors (X) x365 = T3
Purchase
X*245000><~13L = 49,000
s T 365 ?

(NOTE : Purchase = Cost of Sates + Increase in Stock = 2.40,000 + 3,000 = 2,45.000 )

(v)  Fixed Assets Turnover Ratio = Fix;iu?\lsf;:sr X
X = ﬁ(ﬁoﬁ = 60.000
(vi) Capital Turnover Ratio = 2
Turnover n
Capital (X) -
X= wzoﬁ = 2 1,20,000
i Total Capital = 1,20,000
Creditors = 49,000
Total Liabtlities = 1,69,000
All Assets (42,500 + 50.000 + 60,000) = 1,52.500
Cash (1,69.000 — {,52,500) = 16,500
1,69.000
Statement of Proprietary Funds : )
Fixed Assets = 60,000
Working Capital
(Current Assets — CL)
Closing Stock 42,500
Debtors 50.000
. Cash 16,500
1,09,000
Less : Creditors 49,000
60,000
Proprietor's Fund 1,20.000
It consists of share capital and Reserves and Surplus,
Share Capital 1,00.0600
Reserves and Surplus 20,000
1.20,000

Hiustration 3. Calculate the current assets of a company from the following
information :
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(i} Srock Twrnover 5 thnes
(1) Stock at the end is T 5,000; more than the stock in the beginning
(iify Sales (@il credit) T 2,00.000
(iv) Gross Profit Ratio 20%
(") Current Liabilities T 60,000
(vi) Quick Ratio 0.75.

Solution. :

1. Costof Goods Sold + GP = Sales
) S d
80% + 20% = 100%
\ \: A
1.60.000 + 40.000 = 2,00,000
2. Stock Turnover Ratio = 5 times
Cost of Goods Sold . 5 fimes
Average Stock (X)
X = —ILO:;QQQ = 32,000

Average Stock = <32.000
Full Seock Value = 32,000 x 2= 64,000
Less  Excess Value = 5.000

55,000

59,000
9’2 = 29,500

Opening Stock = 29,300
Closing Stock = 29,500 + 5.000 = 34,000

3. Quick Ratio

Quick Assets : Quick Liabilities
{ \
0.75 100
3 \
45,000 . 60,000
Quick Ratio
Closing Stock = 34.500
Quick Assets = 45,000
79,500

Hiustration 4. From the following information. prepare a Balance sheet as on
31.3.2003 :

(i) Working Capital T 1.20,000
(7)) Reserves and Surplus 80,000




(iif) Bank Overdraft 20,000 (vi) Current Ratio 2.5, Analysis of Financial

(iv) Assets (Fixed) — Proprietary Ratio 0.75 : 1 Statement
(v} Liguid Ratio 1.5
Solution. :
I. Current Assets — Current Liabilities = Working Capital Notes
\ \J 1
2.5 ~ 1.00 = 15
" \ \
2,00.000 — 80.000 = }.20.000
2. Proprietor's Fund - Fixed Assets = Working Capital
) \: \
1.00 - 73 = 25
\ \ 1
4,80.00 - 3,60,000 = 1,20,000
3. Liguid Ratio
\ Liquid Assets : Liquid Liabilities
1.5 ;100
90,000 1 60,000
Current Liabilities 80.000 Current Assets 200,000
Less: BOD 20,000 Liquid Assets 90,000
Liguid Liabilities 60,000 Stock 1,10,000
Balance Sheet
me  wldabilities B |a Assets A
Share Capital (4,8,000 — 80,000) | 4.00.000 | Fixed Assets 3.60,000
Reserves and Surplus 80,000 | Stock 1,160,000
Bank Overdraft 20,000 | Other Current Assets 90,000
Sundry Creditors 60,000
5,60,000 5,60,000
Hlustration §. From the following information prepare a Balance sheet and
show the working.
(i} Working Capital T 75,000 (v) Liguid Ratio : 1.15
(ify Reserves and Surplus I 1,00,000 (vi) Long-term Liabilities Nil
(i) Bank Overdraft T 60,000 (vii) Fived Assets to Proprietor s Fund-: 0.75
(v Current Ratio : 1.75.
“
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Solution. :

I. Current Assets — Current Liabilities = Working Capital
1.75 - L0 = .75
e S \
1,75,000 - 1,00,800 = 75,000
2. Proprietor's Fund — Fixed Assets = Working Capital

. 4 2

1.00 - 75 = .25

2 l 1

3,00.000 - 2,25.000 = 75,000

3. Liquid Ratio

Liquid Assets Liquid Liabilities

115 ¢ 1.00
\’ s
46,000 - 40,000
Current Liabilities 1,00.000 Current Assets 1.75,000
Less: BOD 60,000 Liquid Assets 46,000
Liquid Liabilities 40.000 Stock 1.29,000
Balance Sheet
Liabilities = *F [ ¢ Assets | T
Share Capital (3,00,000 — 1,00.000) 2,00.000 | Fixed Assets 2,25,000
Reserves and Surplus 1.00,000 | Stock 1,29.000
Bank Overdraft 60,000 | Other Current Assets |~ 46,000
Sundry Creditors (1.00,000 — 60,000) 40,000
4,00,000 400,000

THustration 6. From the following particulars prepare the balance sheet of ABC
Limited.

(7)) Sales for the year T 20,00,000
(i) Gross Profit Ratio 25%
(iiy Current Ratio : 1.50
(W) Quick feash Drs} Ratio : 1.25
(v)y Stock Turnover Ratio : 15
(vi) Debt Collection Period : 1 ¥: months
(vif) Twrnover fo Fived Assets : 1.5
(viii} Fixed Assets fo Nerworth : 3/6 {83)
(ix) Ratio of Reserves to Share Capital 173 (0.33) [The term nurnover refers to
cost of sules and stock refers to closing stock].




Solution. :

(/) Costof Goods Sold + GP = Sales
! i L
75% + 25% = 100%
\ I !
1,50,000 + 5,000,000 = 20,060,000
(n Stock Turmover Ratio
Cost of Goods Sold _ 15 15,00,000 _ 05
Average Stock (X) X
_ 15,00,000
X
Average Stock = 1,00.000
(iif)y Current Ratio ;o 1.50 6,00,000
Quick Ratio ;1323 5,00,000
Stock 25 1.00,000

(#v) Current Ratio

1Y

Current Assets : Current Liabtlities
4 \)

1.50 .00

6.00,000 4,00,000

(v) Debt Collection Period : 1% months

Debtors X .
Sales < 12713 3p.90,000 <1215
X = 20,00,000x -!1-7,5*
Debtors = 2,50,000
(vi) Turnover to Fixed Assets : 1.5
Cost of GoodsSold 15
Fixed Assets (X)
15,00,000
X= 73
Fixed Assets = 10,00,000

{vii) Fixed Assetsto Networth = 5/6

\ \J

3 6
10,00,000 12.00,000
10,00,000

5 x6=12,00,000

Analysis of Financial
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(viii} Ratio of Reserves to Share Capital = 1/3

Reserves + Share Capital = WNet Worth
1 + 3 = 4
3,00,000 +  9,00.000 = 12,00,000
/ 1 {
12,060,000
# x 3=9,00,000
Batlance Sheet
“Liabilities Assets I
Share Capital 9.00,000 | Fixed Assets 10,006,000
Reserves 3,00,000 | Current Assets 6,00.000
Current Liabilities 400,000
16,00,000 16,00,000

Hlustration 7. From the following information you are requived 1o prepare a

balance sheet :
Current Ratio
Liquid Ratio
Stock Turnover Ratio (Cost of Sales /Closing Stock)
Gross Profit Ratio
Debt Collection Period
Reserves and Surplus to Capital
Turnover of Fixed Assels
Capital Gegring Ratio
Fixed Assets to Net worth

Sales for the veur

Solution.
() Costof Goods Sold + GP = BSales
d { d
75% - 25% = 100%
9.00,000 + 3,00,000 = 12,00.000
(i} Stock Turnover Ratio =9
Cost of Goods Sold 9,00,000
Average Stock (X) =9 X7 ?
X = 9,009, (00
Stock = 1,00,000
(#ii) Current Ratio 1.75 3,50.000

175

125

9

25%

I % months
0.2

12

0.6

125

I 12,00,000

st




Quick Ratio 1.25 2.50,000 " Analysis of Financial
Statentent
Stock 0.50 1.00,000
() Debt Collection Period = 1 % months
P;%’g—“ixlz =15 Notes
Debtors = 1,50,000

1.5
X = IZ’OO’OOOXE

Debtors = [,50,000
(v} Tumover of Fixed Assets 1.2

Tpmover —15 = 9.00,000 — 13
(X) Fixed Assets X :
X = 9, 03,2000
Fixed Assets = 7.50,000
(vi) Fixed Assets to : Networth=1.25:1
X 1
N 125 1,00
7.50.000 : 6,00,000
(vii) Reserves and Surplus to Capital : 0.2 .
Reserves + Share Capitaf = Net Worth
0.2 + 1.00 = 1.2
: \ 1 !
' ,00.000 +  5,00,000 = 6,00,000
———6’0]().’2000 x1=15,00,000

(viiiy Capital Gearing Ratio
(X) Fixed Interest Bering
Equity Share Capital
X
Long-term Debt

= 0.6

5,00,000 x 0.6
Z 3.00,000

Balance Sheet

. Liabilities A Assets g |WF T
Equity Share Capital 5.00,000 | Fixed Assets 7,50.000
Long-term Debt 3,00,000 | Current Assets 3.50,000
' Reserves 1,00,000

Seif-instructional Material 183




Accomg:gczi?n’ and Current Liabilities {2,00000 ‘ ------------------- l -----------
11.60,000 11,00.000
NOTE : Current Ratio
Notes Current Assets : Current Liabilities
1.75 1.00
3.50,000 2,00,000
flustration 8. Using the information and the form given below compute the
balance shect items for a firm having a sale of ¥ 36 lakhs.
Sales/Total Assets 3 Sales/Debtors /3
Sales/Fixed Assets 3 Cuwrrent Ratio 2
Sales/Current Assets 7.3 Total Assets/Net worth 2.5
Sales/Tnventories 20 Debt Equity /
Balance Sheet
i 5u  ddbilities e ) I |ke P ull u% .
Networth ik Fixed Assets ok
Long-term Debt rkx Inventories *HE
Currem Liabilities ek Debtors *x
Liguid Assets *
Current Assets i
Solution.
1. Sales : Total assets = 3
2 d
3 : 1
36,00,000 : 12,860,000
2. Sales : Fixed assets =5
5 : |
36,00,000 : 7.20,000
3. Sales : Current assets = 7.3
7.5 : 1.00
36,00,000 : 4.80,000
4. Sales ; Inventories
20 : 1
36,00,000 : 1.80,000
5. Sales : Debtors
15 , : 1.00
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36.00,000
6. Current Ratio

2
4.80,000
7. Total Assets
2
25
12,00,000
8. Debt
.0
4.80,000

2,40,000
~Current Assets

Current Liabilities
1.00

2.40,000
Net worth=2.5

\)

1.00

4,80.000
Equity

1.0

4,80,000

Balance Sheet

B 75 S iabilitie ol Asséts o o
Net worth 4.80,000 | Fixed Assets 7.20,000
Long-term Debt 4,380,000 ; Inventories 1.80,000
Current Liabilities 2.40,000 | Debtors 2.40,000
Liquid Assets 60,000
12,00,000 12,00,000
Current Assets 4.80,000
Debtors 2.40.000
Stock 1,80.000
4,280,000
Liquid Assets 60,000
ustration 9. From the following information compute the Balance sheet
Total Assets/Net worth = 35
Sales to fixed Assels = 6
Sales to current Assets = 8
Sales to inventory = 15
Sales 1o Debtors = 18
Current Ratio = 23
Annual sales = ¥ 25,00,000
Solution. .
() Sales to Fixed Assets = 6:1
{ !
25,00,00  4.16,667
(in) Sales to Current Assets = 8

Analysis of Financial
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Sales _
) (X)Currcnl Assets . 5
X 25,03,000
Current Assets = 3,12,500
(#1) Debtors = S Sales 18
(X) Debtors
X = w =1,38,889
(i) Sales Inventory =15 : 1
15 I
\: \
25,00,000 1,66,667
() Current Ratio
Current Assets Current Liabilities
25 1.0
\ \:
312,500 1,25,000
(vi) Total Assets Net worth = 3,35
35 1.00
{ d
7.29.167 2,08,333
L2057 1 1.00=2,08,333
Total Assets = Fixed Assets 4,16,667
Current Assets  3,12.500
7,29,167

Long Term Debhr :

Total Assets
7.29, 167

Long-term Debt

!

[Net worth + Current Liabilities]
[1,78.667 + 1,25.000]

$4,25,500

Balance Sheet

¢ Liabilities |% & CAssets [F
Net worth ® 1,78,667 | Fixed Assets 4,16,667
Long-terin Debt 4.25,500 | Current Assets 3,12,500
Current Liabilities 1,25,000

7,29.000 7,29,167




Current Assets .
[nventory
Debtors

Liquid Assets

Current Assets

1,66.667
1,38.889

6,944
3.12,500

Hiustration 10. Following are the ratios to the trading activities of Indian

Traders Lid.
Debtor's Velocity
Stock Velocity
Creditors Velocity
Gross Profit Ratio

3 months
8 months
2 months
25%

Gross Profit for the year ended 31.12.2001 amounts to T 4,00,000. Closing
stock of the year is T 10,000 above the opening stack. Bills receivable are worth I
25,000 and bills payable X 10,000.

Find out (a) Sales (b) Sundry Debtors (c) Closing Stock and (d) Sundry

Creditors.
Solution.
1.
Cost of Goods Sold + GP

75% + 23%
1 \
12,00,000 + 4,00,000
2. Debtor's Velocity : 3 months
Debtors
Sales 12

Less ;- Bills receivable
Sundry Debtors
3. Stock Velocity : 8 months

Cost of Goods Sold N
Average Stock (X)

12

X

Average Stock
Total Stock Value 8,00,000 x 2

Excess Stock

Opening Stock 7,95,000

Closing Stock = 7,95,000

i

i}

= Sales

= 100%

!
16,00,000

. X _
J.ie, 16,00.000 x12 =3

4,00,000
25,000
3.75,000

_ 12,00,000

8 X

x12 =8

8
12,00,0000 12

8.00,000
16,00,000
10.000
15,90,000

7.95,000

Analysis of Financial
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Excess Value = 10,000 8,05,000
16,00,000
4. Sundry Creditors
Opening Stock +  Purchase — Closing Stock = Cost of Goods Sold
7.95,000 +  x—8.05,000 = 12,00,00¢
x = 12.00,000 +  8.05,000-7.95,000 = 12,110,000
5. Creditor's Velocity = 2 months
Creditors + Bills Payable
d“m;urg":sip yable 15 2 i.e.,m)f—ﬂ()ﬁxaz =2
Account Pavable = 2.01,667
Less : Bills Payable = 10,000
Creditors = [,91,667

flustration 11. From the following information prepare a Balunce Sheet with
as many details as possible.

Gross Profit T 80,000 Current Assets” T 1,50.000
Gross Profit to Cost of Goods 173 Account Pavable Velociry 90 days
Sold Ratio

Stock Velocity ' 6 times Bills Receivable < 20,000
Opening Stock T 36,000 Bills Payable T 3,000
Account  Receivable Velvcity 72 days Fixed Assets Turnover 8 times
(Year 360 days) Ratio

Nate : Turnover refer 1o Cost of Sales.
Solution.
1.

Cost of Goods Sold + GP = Sales
) ! \
3 + 1 = 4
2.40,000 + 80,000 = 3,20,000
2. Stock Velocity = 6 times
Cost of Goods Sold _2,40.000 i
Average Stock (X) X
o Average Stock = 40.000
3. Average Stock = ¥ 40,000

Full Stock Value =40.000 x 2 = 80,000
Less : Opening Stock = 36,000
Closing Stock = 44,000
4. Debtors Velocity




Debtors + Bill Receivable , Analysis of Financial
Sales 360 = 72 Statement

72
X =3,20,000 x 360 64,000

Drs + Bills Receivable = 64.000 Notes
Less : Bills Receivable = 20,000
Debtors = 44,000
5. Creditor's Velocity or Accounts Payable Velocity

Crednor;;zalllssepayable <360 = 90, ic. 12,4;(:000 X 360 = 90
X = 2,438,000 %
Bills Payable + Creditors = 62,000
Less - Bills payable = 5,000
Creditors = 57,000

Find out the Purchases
Opening Steck + Purchase —  Closing Stock = Cost of Goods Sold
¢ { 1 4
36.000 + x - 44,000 = 2.40.000
x = 2.40.008 + 44,000 - 36,000
Purchase T = 248,000

6. Fixed Assets Turnover Ratio
Turmover : 2,40,000
- =8.ie, X 3
Fixed Asscts (X)

Fixed Assets

ll

30,000

Balance Sheet

¥ Liabilities 3 W OAsSets .
Capital (B/F) 1,18,000 [ Fixed Assets 30,000
Creditors 57.000 | Closing Stock 44.000
Bills Payable 5.000 | Debtors 44,000

Bills Receivable 20.000
Other Current Assets 42 000
1,80,000 1,80,000
Total Current Assets given : 1,50,000
Stock 44.000
Debtors 44,000
B.R. 20,000 1,08,000
Other Current Assets 42,000
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Praciice ended 31st December; find out :
(i) Net worth
(tif}  Total Debt fo Net worth
Notes (v) Current Assets
(vii) Debtors and
Sales to Net worth
Current Liabilities 10 Net worth
Total Debts to Net worth
Current Ratio
Sales 1o Stock
Debtor s Velocity
Annual Sales
Cash Sales
Solution,
(/y Salesto Net worth

Sales

3

15,00,000

15,00,000

3 x1=13,00,000

(éi) Current Liabilities to Net worth

{ivy Long-term Debt

() Current Assets
Current Ratio
Current Assets
2.0
3.00,000
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(i) Current Liabilities
(v} Long-term Debt
vi) Stock
(viii) Fixed Assets

3 times

30%

60%

2

10 times

9 times

< 15,00.000

10% of Sales

5 times
Net worth
1
3,00.000

Current Liabilities = 50% of T 3,00,000

= 1,50,000
(iii} Total Debt to Net worth = 60%
Total Debt is 60% ot 3,00,000 = 1,80,000 (or)
Total Debt Net worth
60% 100%
) o
£,80,000 3,00.000

Long term Debt = Total Debt —~ Current Liabilities

= 1,80,000 — 1,50,000 = 30,000

Current Liabilities
1.00
1,50,000




(vi) Stock

Sales to Stock
Sales
10.0
15,00,000

(vii) Debtor's Velocity

Credit Sales

Debtor's Turnover Ratio

X

Debtors

(viri) Fixed Assets

Hitustration 13. With the help of the following Ratios regarding Narmatha Tex,
draw the Trading, Profit and Loss A/c and Balance Sheet of the company for the year

2004.
()
(i)
(iti)
(iv)

()
(vi)
(vii)

(viii)
(ix)

Fixed Assets to Net worth Ratio

3,00,000

100 x 60 =1,80,000

ie., Fixed Assets
1
60%
1.80.000

Current Ratio
Liquidity Ratio
Net working capital

Stock Turnover Ratio

Gross Profit Ratio

Fixed Assets Turnover Ratio
(on Cost of Sales)

Debt Collection Period

Fived Assets to Shareholder 5 Net worth

Reserves and Surplus 10 Capital

10 times
Stock
1.00
1,530,000

9 times
15,00,000 % S0

100
900,000

Dcbtors (X)
Sales =9,
. X
€. 300,000
9,00,000
9
1,00,000

9

60%

Net worth
I

100%
3.00,000

23
13
T 3,00.000

6 times (Cost of Saies/
Closing Stock)

20%

2 times

2 months
0.80

0.3
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Solution. :

I. Current Assets — Current Liabilities = Working Capital
2 \ 2
2.3 - 100 1.5
\J I {
5,00.000 1 2.00,000 = 3,00.000
2. Stock Velocity 2.5 = 5,00,000
Liquidity Ratio 1.5 — 3,00,000
Stock 1.0 — 200,000
3. Stock Turnover Ratio : 6 times
(X) Costof GoodsSeld X N
Closing Stock = 6.0e, 555,000 °
Cost of Goods Sold = 12,00,000
4.
Cost of Goods Sold + GP = Sales
80% 20% = 100%
12,00.000 3,00,000 = 15,00,000
{ﬂ%—m—o y 20] = 3,00,000
5. Debt Collection Period = 2 months
+
X—Dsl:lesﬁxu = 2,i.e.,*l-§’—(j%]b-6>412=2
X = 15,00,000x %
Debtors + BR = 2,350,000
6. Fixed Assets Turnover Ratio
Turnover ) 12,00,000
Fixed Assers = 2, ie., — - 2
X ———12’02’000 = 6,00.000

7. Fixed Assets to Shareholder's Net worth = .80

Fixed Assets (6,00,000)

Sharcholder's Net worth (X}

X

Shareholder's Net worth =

8. Reserves and Surplus to capital : 0.5

.80

6,00,000
80

7,50,000




Reserves
50

d
2,50,000

+

-+

+

It

Share Capital
1.00

1

5,00,000

f

Balance Sheet

Net Worth
1.50

d
7.50,000

B Liabilivies s &R,
Share Capital 5,00,000 | Fixed Assets 6,00,600
Reserves and Surplus 2,50,000 | Current Assets 5,00.000
Current Liabilities 2,00.000
Long-term Loan 1,50,000
11,00,000 11,00.000

Total Current Assets given : 5,00.000

Stock 2,00,000

Debtors 2.50,000 4,50,000

Cash 30,000

Hluswration 14. From the following figures and ratios draw out trading. profit
and loss account and balance sheet,

Share capital = 1,80,000
Working capital = 63,000
Bank overdraft = 10,000

There is no fictitious assel. In current assets there is no asset other than Stock
debtors and cash. Closing stock is 20% higher than the opening stock.

Current Ratio
Proprietary Ratio
Stock Velocity
Nert Profit Ratio
Quick Ratio
Gross Profit Ratio
Debior s Velocity

Solution. Gross Profit ¥ 38,500, NP 23,950 B/s total 2.22,000.

2.3
0.7
i

10% (1o average Capital employed)

1.3

20% to Sales

363 days

Hlustration 15. With the following Ratios and further information given below,
prepare Trading. Profit and Loss A/c and a Balance Sheet of Shri Surjit & Co.

(i) Gross Prafit Ratio
(i) Ner Profit/Sales
(iii)  Stock Turnover Ratio
fiv) Ner Profit Capital

(v Capital to Totad Liubilities

;D 25%
- 20%
10
1/5
172

Analysis of Financial
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(vi)

()

Fixed Assets/Capital

tvii) Fived Assets/Total Current Assets
(viii) Fixed Assets

Closing Stock

Solution,
(i) Capnal

{#)

(dii)

(v)

(v)

(vi) Total Liabilities : Capital to total liabilities L

Fixed Assets

>
10,00,000

ok

10,00,000 * 4| = 8:00,000

Net Profit Ratio
Net Profit
1.00
{
1,60,000
Net Profit/Sales
Net Profit (1,60.000) y
Sales(X)

100

X

Sales

Cost of Goods Sold
75%
6,00,000
Stock Turnover Ration
Cost of goods sold (6,00, 000)
Average Stock ()\)

X

Average stock
Actual/Full stock value 60.000 x 2
Less : Closing Stock
Opening Stock

Capital
(X) Total Liabilities

;3
- 5/7
: %10,00.000
- ¥17,00,000

Capital
4
8,00,000

Capital
5.00

{
8,00,000
20%

= 20%

i

100
20

1,60,000 x
< 8,00,000

GP =
25%
2,00,000

Sales
100%
8,00.000

10
6,00,000
i0

60,000
1,20.000
1,00,000
20,000

2
|

2




8,00,000 Analysis of Financial
Total Liabilitics Statement
X =8,00,000x2 = 16,00,000
(vi7) Total Current Assets
Fixed Asscts to Total Current Asscts : 5/7 Notes

Fixed Assets = ¥ 10,00,000
Fixed Assets

= 5/7
(X) Total Current Assets
¢ X = lO,OO,OOOX%
= 14,00,000
Less ; Closing Stock = 1,00,000
Current Assets = 13,00,000

Trading and Profit and Loss Account for the year ended

To Opening Stock : By Sales 8.00,000
To Purchases 6,280,000 | By Closing Stock 1,00,000
To Gross Profit 2,00.000

9.00,000 9,00,000
To Expenses 40,000 | By Gross Profit 2,00.000
To Net Profit 1,60.000

2,00,000 2,00,000

Balance Sheet
e nlinbilities” 2 _Assets ), T
Share Capital (8,00,000— 1,60,000} ] 6.40,000 | Fixed Assets 10,00.000
Net Profit 1,60,000 | Stock 1.00,000
Current Liabilities 16,00.000 | Other Current Assets | 13,00,000
24.00,000 24.00,000 |

Hluseration 16. You are given the following informarion periaining to the
Financial Statements of Reliance Ltd as an 31.12.2004. On the hasis of the information
supplied, you are required to prepare Trading, Profif and Loss Account for the vear
ended and a Balance Sheet as on the date.

i . Ner Current Assets 2.00,000
Issued Share Capital 6.00,000
Current Ratio ;L8
Quick Ratio [Ratio of Debtors and Bank
Balance 1o Current Liabilities] o 135
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Accounting Theory and Fixed Assets to Shareholder s Equity o 80%
Practice

Ratio of Gross Profit on Turnover ;2%
Net Profit 10 Issued Share Capital o 20%
Stock Turnover Ratio s 5 times
Notes Average of Qutstanding for the year o 36 Yodays
On 31.12.2004, the Current Assets consisted only of Stock Debtors and Bank
Balance. Liabilities consisted of Share Capital, Current Liabilities and Assels
consisted of Fixed Assets and Current Assels.
Solution.
1.
Current Assets — Current Liabilities = Working Capital
1.8 1.00 .8
4,50,000 - 2.50,000 = 2,00,000
2. Quick Ratio
Quick Assets :  Current Liabilities
1.35 1.00
3,37.500 2,50,000
3. Stock | '
Current Assets — Quick Asseis = Stock
4,50,000 —3,37,500 = [,12,500
4. Stock Turnover
Cost of Goods Sold (X} .
Closing Stock (1.12,500)
X = 112,500 % 5=562.500
5. Ratio of Gross Profit on Turnover 25%
Cost of Goods Sold + @GP = Sales
75% + 25% 100%
5,62,500 + 1.87,500 7.50,000
6. Debtor's Turnover Ratio (Here, there are no Bills Receivable)
X365 = e, —7,55000 %365 = 36.5
. X = 17,50,000x %%
Debtors = ¥ 75,000
7. Quick Assets (Debtors + Bank) = 3,37,500
Less : Debtors = 75,000
Cash in hand = 2,62,500
8. Net Profit to Issued Share Capital : 20%
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20%
d
1,20,000

6,00,060 "
100

9. Fixed Assets

20] =1.20,000

100
2
6.00,000

Fixed Asscts to Shareholder's Equity, change into

Sharehoider's equity
!

100%

1

£0,00,000

2,00,000
20

}

X 80] = §,00,000

1l

Fixed Assets

X X’

80% = 20

\ t
8.00,000 = 2,00000

Trading and Profit and Loss Account for the year ended

Net Current Assets

. gl T e e | X s
To Cost of Goods Sold 5,62.500 | By Sales 7.50,000
To Gross Profit 1.87,500
7,350,000 7,50.000
To Expenses 67.50¢ | By Gross Profit 1.87.500
To Net Profit 1.20,000
1,87.,500 1.87,5000
Balance Sheet
: 1# sAsset 177 %
Share Capital 6,00,000 | Fixed Assets 8.00,000
Reserves and Surplus (B/F) 2,80.000 | Current Assets ;
Stock .12,500
Debtors 75,000
Bank 2,62,500
Profit for the year 1,20,000
Current Liabilities 2,50,000
12,50,000 12,50,000

Hiustration 17. The following are the Ratios and other details of Rubix Lid. :

Debtor s velocity
Creditor s velocity

Stock turnover

3 months

2 months

& times

Analysis of Financial
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Capital - turnover Ratio 2.5 times
8 times
23%

Gross Profit in a year amounts to X 80,000. There is no Long-term Loan or
Overdrafi. Reserves and Surplus amount to I 28,000. Liquid Assets are T 97,333,
Closing Stock of the year is 3 2,000 more than the Opening Stock. Bills Receivable
amount (0 % 5,000 und Bills Payable to 3 2,000.

Find out :

(i} Sales

(iii)  Sundry Creditors
(v) Fived Assets

Construct the Balance Sheet with as many details as possible,

Fixed Assets - Turnover Ratio

Gross profit Turnover Ratio

(it} Sundrv Debtors
(iv) Closing Stock
(vi} Proprietor’s Fund

Solution.
(i) Sales
Cost of Goods Sold + GP — Sales
5% 25% 100%
2.40,000 80,000 3.20,000

(i) "Debtor's Turnover Ratio (Here. there are no Bills Receivable)

Debtors + Bill Recetvable (X)
Debtor's Velocity = - x[2
Sales (3,20,000)

X =3,20,000 x % = 30.000
Debtors + Bills Receivable = 80,000

Less : Bills Receivable = 3,000
Debtors = 75,000

(7iiy Sundry Creditors
Creditors + Bills Pa.yab]e <13 = 2
Purchase (Credit)

X =2.,42,000x 1—22- = 40,333

Less : Bills Payable = 2,000
Creditors = 38,333

Find out the purchase

Opening Stock +  Purchase — Closing Stock = Cost of Goods Sold
29,000 +  X-31,000 = 2,40,000
X =2.40.000 + 31,000 -29,000

X =242000 ie, Purchase =% 2.42,000




(i) Closing Stock

Cost of Goods Sold
Average Stock (X)

X

Average Stock
_ Total Stock Value 30.000 = 2

Less : Excess

Opening Stock
Closing Stock 29,000 + 2,000
(v) Fixed Assets

3,20,000
_‘8
Fixed Assets Turnover Ratio

x:

(vi) Proprietor's Fund

Proprietor's Fund

8

2,40,000
8
30.000

60,000
2,000

58.000
29,000
31,000

40.000
8

~ Current Liability

Cash and Bank Balance

Quick Assets

Less ; Bills Receivable
Debtors

Cash at Bank

5,000
75,000

Balance Sheet

Fixed Assets + Stock + Liquid Assets

97,333

80,000
17,333

40,000 + 31,000 + 97,333 — 40,333 =% 1,28,000

% S Liabilities & 4 s X e A T
Share Capital 1,00,000 | Fixed Assets 40,000
Reserves and Surplus 28,000 ; Stock 31,000
Bills Payable 2,000 | Dcbtors 75,000
Sundry Creditors 38.333 | Bills Receivable 5,000
Cash and Bank 17,333

1,68,333 1,68,333

Hiustration 18. From the following information of a Textile Company complete

the Proforma balance Sheet if Sales are worth< 28.00,000.

Sales to Net worth
Current Debt to Net worth
Total Debt 10 Net worth
Current Ratio

Net Sales to Inventory

= 23 times
= 2%
= 7%

= 2.9 times

it

4.7 times

Analysis of Financial
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Average Collection Period 64 days

33.2%

Fived Assets to Net worth

Preforms Balance Sheet

Net worth ? Fixed 4ssets ?
Long-term Debt z Cash ?
Current Debi ? Siock ?
Sundry Debtors ?
Solution.
1. Sales to Net worth 2.3 times
Sales (23,00,000) _
= 2.3 times
Net worth (X)
X= —23;2%-@ 10,00,000
Networth = ¥10,00.000
2. Current Debt
Current Debt Net worth
\ \
42% 100%
L 1
4,20,000 10,00,000
10,00.900 ?gbooo % 42 =4,20,000
3. Total Debt
Total Debt to Net worth = 75%
Total Debt Net worth
75% 100
7,50,0600 10,00,000
[i.e.. Total debt is 75% of net worth 10,00,000 x Too = 7.50,000]
4. Long-term Debt
Long-term Debt = Total Debt — Current Debt
= 7,50,000 - 4.20,000
= 3,30,000
5. Current Assets T
Current Ratio 29
Current Asscts Current Liabilities
29 1.0




12.18,000 4.20,000 Analysis of Financial_

&?ﬂoﬂx - _ 12.18.000 Statement
6. Inventory
Net Sales to Inventory Notes
Sales(23,00,000) _
=~ = 4.6 times
Inventory (X)
X 23’3(_]6000
Inventory = 5,00,000
7. Debtor
Average Collection Period
Here, there is no bill receivable. Hence, the formula
Debtors (X)
x360 = 90
Sales {23,00,000)
X = 23,00,000x3—%%
Debtors = 3,75,000
8. Fixed Assets
Fixed Assets to Net worth
F—;%‘:—S = 53.2%
Fixed Assets Net worth
] d
53.2% . 100%
5.32,000 10,00,000
]0,(1]36000 X539
9. Find out the Cash
Total Current Assels 12,18.000
Less Stock 5.00,000
Debtors 5.75,000 10,75.000
Cash 1,43.000
Balance Sheet
| Liabilities 3 Assets 4
Net worth 10,00,000 | Fixed Assets 5.32,000
Long-term Debt 3,30,000 | Debtors 5,753,000
Current Debt 4,20,000 | Stock 3,00,000
Cash 1,43,000
17,50.000 17,50.000
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Accounting Theory and Iustration 19. Srinivasan Cotton Company’s Stock Turnover is 5 times stock
Practice at the end is T 20,000 which is more than at the beginning. Sales (all Credit) are T
8.00,000. Rate of Gross Profit on Cost is /4. Current Liabilities ¥ 1,20,000. Quick

Ratio is 0.75. Calculate Current Assets.

Notes Solution.
Cost of Goods Sold {6,00,000)
Stock Turnover Ratio = =35
Average Stock (X)
6,00,000
X = s = 1,20,000
Average Stock = 1,20,000
4 NOTE : )
Cost of Goods Sold = Sales — Gross Profit
= 8,00,000 - 2,00,000 = 6,00,000
Total Stock Value 0 1.20,000 % 2 2.40,000
Less : Excess Value 20,000
2,20,000
\. J
Opening Stock = ¥ 1,10,000

i

Closing Stock = ¥ 20,000 + 1,10,000 = 1,30,000

Quick Ratio :

Quick Ratio : Current Liabilities
A2 {

75 1.00

2 !

Current Assets

Quick Assets = I 90,000

Closing Stock = ¥ [,30,000

< 2,20,000

Hiustration 20, Calculate Stock Turnover Ratio from the following details :

(1) Opening Stock T 29,000

(ii) Closing Stock 31,000
(iii} Sedes ¥ 3,20,000
(iv) Gross Profit — Ratio 25% on Sales

Solution.

90.000 1,20.000
Current Assets
I

Cost of Goods Sold
Average Stock

_2,40,000 sy
= _““‘“'_“30,000 = & umes

Stock Turnover Ratioc =
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29,000+ 31,000
Average Stock = : 5 = 30,000
Cost of Goods Sold + GP — Sales
T5% +  25% 100%
2.40.000 80,000 3,20,000

4.6. Financial Analysis

Financial Analysis is the systematic numerical calculation of the relationship
of one financial fact with the other to measure the profitability, operational
efficiency, solvency and the growth potential of the business. The analysis
serves the interest of shareholders. debenture-holders, potential investors, account
payable, bankers, joumnalists, legislators, politicians, researchers, stock exchanges.
taxation authorities politicians. researchers, stock exchanges, taxation authorities and
economists. The analysis of financial statements makes it simple, intelligible and
meaningful for all the concerned parties. Financial statements are split into simple
statements by the process of rearranging. regrouping and the calculations of various
ratios. The analysis simplifies, summarizes and systematises the monotonous figures.

Financial analysis in this wav Is the purposeful and systematic presentation
of financial statements. Various items of income and position statements are
compared and their inter-relationship is established . Financial analysis, as such
presents meaningful, expression of the relationship between different items, such as
relationship between gross profit and net sales.

Suppose the Gross profit of the company 1s < 25,000 and Net sales are worth T
1,00,000. At the same time the Gross profit of the second company is ¥ 30,000, and
the net sales amounts to ¥ 2,00,000. According to these figures, the company which
has eamed ¥ 30.000. as profit may be said to be superior as regards its performance.
I we analvsis the figures, we come to know that the Gross profit margin of the first

25,000
company amount to 25% i.e., 1.00.000 100 and the second company amounts to

30,000
i5%ie., m x 100. As such analysis show that the operational efficiency of

the first company is better than the second company.

The use of financial analysis is made to measure the profitability, efficiency and
financial soundness of the business, to make comparative studies and effective future
plans.

Parties interested in the Financial Analysis

Every person concerned with the affairs of the business has an interest in the
financial statements of the business, The information available from the analysis,
serves the interest of difTerent sections. The following parties have an interest in the
analysis of financial statements:

1. Management. The management needs information regarding the
profitability, operational efficiency and financial soundness of the business,

Analysis of Financial
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so that weaknesses of the business may be identified and effective business
plans may be formulated.

2. Shareholders. The shareholders, the virtual owners of business corporate
units have an interest in the welfare and progress of the business. They
want to know about the profitability and future prospects of the enterprise.
The requisite information is available from the analysis of financial
statéments,

3. Workers. Employees of the business are inferested in the profit of the
business. In case of sufficient profits, labour unions have moral justification
to demand for higher wages. Workers in the business are paid bonus on
the basis of productivity and profitabilily, so they have an interest in the
financial analysis of the business.

4. Account Payable. Creditors of the enterprise are interested in the short-
term and long-term financial soundness of the business. They want
to ensure themselves, whether their funds are safe and secured and the
business is capable of making payment of interest regularly and also
refund as per agreements.

5. Government. Financial statements help government in determining tax
liability. The government is also capable of ascertaining the economic
development of the country through the financial analysis. The government
requires the information for formulating effective economic ptans and
balanced growth of different sectors and regions of the economy.

6. Potential investors. The potential investors of the business have an
interest in the operational efficiency and profit earning capacity of the
business unit. They would like to know, how far their previous investment
has been safe and how much the new investment will be safer and secured.

7. Economist and researchers. These parties are interested in the financial
activities of the business, so that they amy study the financial health of
the economic structure of the business. study the rate of economic growth,
compare it with other economics and suggest effective measures to
accelerate the pace of growth,

8. Stock exchange. It is an institution which deals in securities (i.e.,
Shares, Debentures, Debentures Inventory, Bonds etc.). In other words, it
facilitates purchase and sale of shares and debentures of companies. Stock
exchanges are interested in the financial statements, because they have to
collect, analyse and report the financial status of the companies.

»

Type of Financial Analysis/Analysis of Financial Statements

Analysis of financial statements is an art. In this way, It can be presented as
under:
¢ Horizontal analysis. According to this method, the relationship between
different items of financial statements is established. comparisons are made
and results obtained. The basis of this comparison may be:
{9) Comparison of the financial statements of different years of the same
business unit.

g




(i) Comparison of financial statements of a particular year of different
business units.

» Vertical analysis. According to this analysis financial statements of the same
period of different items of the same financial statements are compared, For
example, presenting the value of individual asset as a part of the value of
total assets.

Income statement and position statement used as the basis for analysis are known

as common Size statements (common size Profit and Loss Account and Common size
Balance Sheet),

The analysis can be made in the following ways:
(i) By preparation of the common size statements of the two similar units.

(i) By preparing common size statements of different years of the same
business unit,

Analysis of financial statements is also made on the basis of available

information, such analysis is known as External and Internal analysis.

o External analysis. This analysis is made on the basis of published statements,
reports and informations. These informations of the business are available
even to the outsiders.

¢ Internal analysis. This analysis is based upon the information available to the
business only. These informations are not published for outside parties. Such
pieces of information are used by the management to evaluate managerial
and operational efficiency of their performance. It detects the plus points of
the business operations and reinforces it. It also discovers weaknesses of the
business and tries its best to correct it by applying remedial measures.

Significance/lmportance, Purpose and Advantages of Financial Analysis

Financial statements are prepared at a certain point of time according to
established conventions. These statements are prepared to suit the requirements of
the proprietor. It is therefore, necessary to analyse financial statements to measure
the efficiency, profitability, financial soundness and future prospects of the company.
Financial analysis serves the following purpose.

1. Judging the operational efficiency of the business. It is very significant
that the company must know the operational efficiency of its management.
We analyse the financial statements, match the amount of manufacturing,
selling, distribution and financial expenses of the current year with the
corresponding expenses of the previous year and assess the managerial
cfficiency of the business. We can judge the operational efficiency of the
business by calculating profitability ratios.

(R

Measuring short and long-term financial position. The business
must know its financial soundness. It should satisfy itself that its current
resources are sufficient to meet its current liabilities. We can calculate
current and liquid ratios for comparing current assets and current liabilities
to ascertain short-term financial soundness. Long-term financial position
can be measured by calculating debt equity, proprietary and fixed assets
rattos. The results of the financial analysis may be studied and corrective
steps can be taken, if necessary.

Analysis of Financial |
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Indicating the trend of achievements. Financial statements of the previous
years can be compared and the trend regarding various expenses,
purchases, sales, gross profit and net profit can be ascertained, cost of
goods sold, values of assets and liabilities can be compared and the future
prospects of the business can be indicated.

Assessing the growth potential of the business. The trend and dynamic
analysis of the business provides us sufficient information indicating the
arowth potential of the business. If the trend predicts gloomy picture,
effective measures can be applied as remedial (corrective) measures. If
cost of production is rising without corresponding increase in sales price,
efforts should be made to reduce cost of production.

Measuring the profitability, Financial statements show the gross profit,
net profit and other expenses. The relationship of these items can be
established with sales. Gross profit, net profit, expenses and operating
ratios may be calculated and the profitability of the business ascertained.
In case of improving profitability ratios, the causes responsible for this
performance should be reinforced.

Intra-firm and inter-firm comparison of the performance. Analysis of
financial statements can be made with the previous year's performance
of the same firm and also with the performance of other firms. Intra-firm
analysis provides an opportunity to self-appraisal, whereas inter-firm
analysis presents the operational efficiency of the firm as compared to
other firms. Comparison helps us in detecting our weaknesses and applying
corrective measures.

Forecasting, budgeting and deciding future line of action. Analysis
of financial statements predicts the growth potential of the business.
Comparison of actual performance with the desired performance shows
our shortcomings. The analysis provides sufficient information regarding
the profitability, performance and financial soundness of the business
on the basis of these informations, we can make effective forecasting,
budgeting and planning.

Simplified, systematic and intelligible presentation of facts. Analysis
of financial statement is an effective tool for simplifying, systematising
and summarising the monotonous figures. An average person can draw
conclusion from these ratios. The facts can be made more attractive by
graphs and diagrams, which can be easily understood.

Limitations of Financial Analysis

In spite of all significance of analysis of financial statements as discussed above,
it has the following limitations:

1.

Suffering from the [imitations of financial statements. Financial
statements suffer from variety. of weaknesses. Balance Sheet is prepared
on historical record of the value of assets, It is just possible that assets may
not have the same value. Financial statements are prepared according to
certain conventions at a point of time, whereas the investor is concerned




e

B ]

with the present and future of the company. Certain assets and liabilities are
not disclosed. Personal judgment plays an important role in determining
the figure of the balance sheet. In other words, we can say that balance
sheet cannot be said to have a complete accuracy. Financial statements
suffer from these weaknesses, so analysis based upen these statements
cannot be said to be always reliable.

Absence of standard universally accepted terminology. Accounting
is not an exact science. It does not have standard, universally accepted
terminology. Different meanings are given to a particular term. There are
different methods of providing depreciation. Interest may be charged on
different rates. In this way, there is sufficient possibility of manipulation
and the financial statements have to suffer, As a consequence financial
analysis also proves to be defective,

Ignoring price level changes. The results shown by financial statements
may be misleading, if price leve] changes have not been accounted for. The
ratio may improve with the increase in price, whereas the actual efficiency
may not improve. Ratios of the two years will not be meaningful for
comparison, if the prices of commodities are different. Change in price
affects cost of production, sales and values of assets and as a conseguence
comparability of ratios also suffers.

[gnoring qualitative aspect. Financial analysis does not measure the
qualitative aspects of the business. It does not show the skill, technical
know how and the efficiency of its emplovees and managers. It is the
quantitative measurement of the performance. It means that analysis of
financial statements measures only the one sided performance of the
business. It completely ignores human resources.,

Financial statements are affected by window dressing. The management
displays rosy picture of the enterprise through financial statements.
Sometimes material informations is concealed. Financial statements
sometimes contain false information. In order to show excellent profit,
sales may be exaggerated, stock may be over valued and certain purchases
may not be shown. In such cases analysis of financial statements will also
be incorrect.

Financial statements are affected by the personal ability and bias
of analyst, The figures of financial statemenis do not speak themselves.
These informations are analysed and interpreted by shrewd analysts, who
may have their own views, reflected in the analysis. In many situations
the accountant has to choose between alternative available ie., choice
between straight line and diminishing balance method of depreciation
and choice between LIFO and FIFO method of the valuation of stock.
In other words. it is the personal ability of the analyst which manipulates
the information of the financial statements in its own favour and satisfy
their own whims. As subjectivity is inherent in the personal judgement, so
financial statements can never be free from bias. In such cases, financial
analysis fails to disclose the true picture.

- - . .
Misleading results in the absence of absence of absolute data. Result
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shown by financial analysis may be misleading in the absence of absolute
data. We cannot have the idea of the size of the business. Increase in sales
form ¥ 40,000 to 80,000 shows that sales has doubled. In case of other
firms increases of sale from T 20,00,000 to 40,00,000 also shows that the
sales has doubled but the size of the firm is quite different. Profitability
ratio of two firms may be the same, but magnitude of their businesses may
be quite different.

Tools of Financial Analysis

The following tools are used to measure the operational efficiency and financial
soundness of the enterprise:

Comparative Statements 4 : Ratios Analysis*

Common Size Statements 5 : Funds Flow Statements*

Trend Analysis 6 : Cash Flow Statement**

* Funds Flow Statement and Trend Analysis is out of CBSE sylabus.

** These have been discussed in detail in the next chapters.

4.7. Comparative Statements

Business is a continuing activity with profit motive. An efficient management
should not be satisfied with the present performance but should try to discover the
possible profit earning possibilities of the business. In order to achieve this objective,
the management should compare its current performance with the performance of
previous year and identify the plus and minus points of the business. Weaknesses and
shortcomings identified by the comparison should be removed as early as possible.
In this way, remedial measures may be applied. The plus points may be strengthened.
For example, if cost of production is increasing as compared to the previous years,
it should be ascertained whether sales is also increasing proportionately. The
management should also ensure itself with the causes responsible for the increasing
cost of production. whether it is due to the economic policies of the business,
unavoidable adverse circumstances of the business or due to the operational
inefficiency. In this way we can also compare with the financial statements of other
competitive enterprises.

Comparative study of financial statement as such is the comparison of the
financial statements of the business with the previous vear's financial statements and
with the performance of other competitive enterprise, so that weaknesses may be
identified and remedial measures applied.




Format of Comparative Statement of Profit & Loss Analysis of Financial

Statermen!
For the years ended 31st March ....... and 31st March.......
Purffcﬂﬁ%@(/ij AETEY 4 *Note s_Fr;gx_:_J_re_’ P.‘gu‘?g? “Absohite * Pe?i‘}%mg_eqz
A -~ No | aithe ai the Change | change’
endof, | endofy -(.-*n_'gl-m'ie_qr.
f}%ﬁ?&ﬁf ’ 'vﬁré?féu?i Decrease). Notes

“reporting | reporting;| (E)S{CE D)
period | period R
AR OR) | (DI R)
Ll

I. | Revenue fram Operations —_ - — -

I, | Other Income — — — -

[ | Towal Revenue (1 + 11} —- — — —

IV. | Expenses
Cost of Malerials Consumed — -— — —
Purchase of Stock-In-Tradc — - —_ -
Changes in Tnventories of Finished Goods -— — — —
Work-in-Progress and Stock-in-Trade - — — —_
Emplayecs Benefits Expenses -— — — —
Finance Costs -— — - j—
Depreciation and Amortization Expenses - - — —

Other Expenses : -- —— — —

Total Expenses — — — —_

V. | Profit before Tax (13 - 1V) - n— - -

VI | Tax - -— — -

i YIL | Profit after Fax {(V-V1)

Comparison of financial statements can be made, if information of all the
statements are uniform. This is why, common size income statements and position
statements are prepared. Unless the information are uniform, the purpose of making
comparative statement cannot be achieved.

In the words of FAULKE, “Comparative analysis is the study of trend of the
sanie itens and computed froni two or more financial statements of the same business
enterprise on different dates,”

Inter-Firm Versus Intra-Firm Comparison

Financial statements can be compared both inter-firm and intra-firm. In
case of inter-firm comparison financial statements of two or more firms are
compared, whereas in case of intra-firm comparison financial statements of the
same enterprise for two or more years are compared. Jntra-firm comparison is
also termed as trend analyses. It indicates the trend of the profitability, operational
efficiency and financial soundness of the business enterprise. Trend analysis may also
he named as horizontal analvsis, because each accounting variable is placed and
analysed horizontally.
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(A) Comparative Income Statement

It is a statement which shows in percentage term the total of income earned
and expenses incurred during the two or more accounting periods. It is useful for the
purpose of comparing the income statement over the past few vears or quarters etc. It
helps the horizontal analysis of each accounting variable for future decision-making
purpose.

Explanation of items

The above format is designed as per the new schedule VI format introduced with
effect from 31st March 2012. The items under this format are discussed as below:

Revenue from operations: {t indicates the revenue generated from the sale of
goods or by providing services to the customers. It includes net sales which is gross
sales less returns inward (sales return) and sales tax (if not deducted). If sales return
is separately given, it should be deducted from sales to ascertain Net sales. If sales
return is not given, sales should be supposed to be Net sales. Also, in the case of
service organizations, it will include separate revenue stream of the business like in
the case of telecom company (say Airtel) it will be landline revenue, GSM mobile
conneciion revenue, messaging revente etc.

Profit hefore tax: If we deduct operating expenses (selling. distribution and
administrative expenses) we shall get operating net income. We can get Profit before
tax and interest, if we add other income. We can get Profit before tax and interest, if
we add other income to operating Net income. After deducting interest from Profit
before interest and tax we get profit before tax. If PBT is not specifically given it
should be separately ascertained and change in its absolute figures and percentage
should be shown in the comparative statement.

Profit after tax: It can be ascertained by deducting tax from before tax. If it
is not given it should be determined and change in its absolute figures and percentage
be shown in the comparative statement.

How to Prepare Comparative Income Statement?

Step 1:  Write the items related with incomes and expenses in Column A one
by one.

Step 2:  Write the previous year's income statement data in Column B one by
one,

Step 3: Write the current year's income statement data in Column C one by
one.

Step 4: Find out the absolute change (difference benween figure of current
year and previous year i.e., Column C — Column B) and write them in
Column D one by one.

Step 5:  Find out the proportionate change (expressing absolute as percentage
of figures of previous year) and write them in Column E one by one.

Htustration 1. From the following Statement of Profit and Loss of Moon Ltd,

Jor the years ended 31st March 2011 and 2012, prepare a comparative statement of
Profit and Loss.
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¢, B Particulars¥ "NoteNo. | 2010:016) 2011-12
Revenue from operations 6,00.000| 10.00,000
Employee benefits expenses 2,006,000 3,00,000
Other expenses 30,000 25.000
Tax Rate 40%

Solution.

Comparative Statement of Profit and Loss
For the years ended 31st March 2011 and 3 1st March 2012

L 010-11 | 200112 Absolute " Percentage
Euarticulars ] & 4} Increase/decrense | Incréase/decrease
= s ;&1 = ¥ o .
[ ATy Q) :, A
I.  Revenue from Operations 6,00,000 | 10,840,000 4.00,680
Less: Expenses:
1. Employee Benefits Expenses 200000 | 3,00.006 1,00,6040 0
Other Expenses 50,000 25000 (25.000) (50)
ill. Profit before Tax 350000 | 6,75,080 3.25,000 93
Less: Tax 40% 140,000 | 2,70,000 1,30.000
IV Profit afier Tax 200000 | 40500 1.95,000 93

(B)

Comparative Balance Sheet

Comparative Balance Sheet is a slatement showing assets and liabilities of the
business for two or more accounting periods. It also shows the percentage change
in the monetary value of the assets and liabilities. It helps in analysing the financial
positionyof the company in terms of change in the value of assets and liabilities. It
15 useful for the purpose of showing the comparative value of assets and labilities,

Format of Comparative Balance Sheet as per scheduie H|

Format of Comparative Balance Sheet

For the years ended March..... and March .......

Now|® | @ iDFE-c
No. | Previous |-Gurromt | Absolute ;-] D x 100/
. sYear Year Increase/ | Percentage
Particulars {4) ) @ | decrease increasel
. - ol <) decrease
- 3 =ld| . | (%),

I EQUITY AND LIABILITIES

I.  Shareholder's Funds

{a) Share capital

{$) Reserves and surplus

1) Money received against share warrants

[

Share Application Money Pending Allotinent

Non-current Liabititics

L]

(@) Long-lerm borrowings

(&) Deferred tax liahililies (nety

Seif-instructional Material
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{¢) Oiher long-lenn liabilities

(efy Long-term provisions

4, Current Liahilities

{a) Short-term bosrowings

(b} Trade pavables

(€) Ouher current liabililies

{ch) Short-temm provisions

Toral

[I.  ASSETS

[, Non-currenl Asscts

{ony Fixed assets

() Tangible asscts

{if) Intangible assets

{4} Capilal work in progress

{7} Intangible asscls under development

{5} Non-current investments

(¢} Deferred tax assets (ner)

(d) Long-term loans and advances

() Other non-current assets

2. Curvent Assers

{a) Current investments

141 Inveniories

{e) Trade receivables

(d) Cash and cash equivalents

te) Short-ierm loans and advances

(N1 Other current assets

Total

Explanation

The above format is designed as per the new schedule III format introduced by

the companies Act, 2013,

How to Prepare Comparative Income Statement?

Step 1:

one by one
Step 2:
Step 3:
Step 4:

Write the items related with assets, capital and liabilities in Column A

Write the previous year's Balance Sheet data in Column A one by one.
Write the current year's Balance Sheet data in Column C one by one.

Find oul the absolute changes (difference between the figure of current

year and previous year f.e., Column C — Column B) one by one.

Step 5:

one by one.

Find out the proportionate changes (expressing absolute changes as
percentage of figures of previous year) and write them in Column E

[ pp—



Hiustration 2. Convert the following statement of profit and loss into the

comparative statement of profit and loss of BCR Co., Lid.:

Particulars " Note No) '31 March 13°| 31 March I4°
(i)  Revenue from Operations 60.00,000 75.00.000
(i) Other Incomes 1.20.000 1,530,000
(iii) Expenses 30.60,000 +44,00,000
(v)  Income Tax 40% 35%

Solution,

Comparative Statement of Profit and Loss

2

For the years ended March 31. 2013 and 2014

s % " _;\hw! ; I("fﬁ) l’ergc_gyftmg
2004 2013 crease (43 Increase (+) o

i deercasé (7 |3 d'ccr'i:a?ifﬁﬁ

® @ ®|F @ "
1.  Revenue from Qperations 75.00,000 |  60.00,000 15.60,000 25.00
1. Add: Other Incomes 1.20,000 1,350,000 (30,000) (20.Gi)
10, ‘Fotal Revenue (1 + 1) T6.20.H) 61.50,060 14,70,060 2394
IV, Less: Expenses 50,60,000 | 44,00,00¢ 6.60,000 15.00
Profit before Tax 2560000 17 50,0080 8,100,000 46.19
V., Less: Tax 10,24 000 612568 4,11.560 67.18
Profit after Tax 15.36,000 11.37.500 398,500 3503

Hiustration 3. From the following statement of profit and loss of Madhu Co.

Ltd., prepare comparative statement of profit und loss for the year ended March 31,
2013 and 2014:

Note.No.

Revenue from operations
Employee benefits expenses
Other expenses

Tax Rate 0%

31 March 2013 ) |31iMarch 2014/3),
16,00.000 20,00,000

&8.00.000 {16,00.000

200,000 1.00,000

Solution. Comparative statement of profit and loss of Madhu Co. Ltd.. for the

year ended March 31, 2013 and 2014:

& K l:  Absoht (%) Pércentage ;
E TR Ww‘g
Increase {+) orj | =lncvease (£} i
. dtl‘l’(‘}lsl‘.{—)% Y deerease (-

__ . _® ® NI

1.  Revenue from Operations 20,00,600 16,00,000 4,090,000 25
1. Less: Expenscs

{a) Employee benefit expenses 10,00,000 8.00.000 2,600,000 25

(4} Other expenses 1,00,000 2.00.000 (1.00,080} (30)

1l Prefit before Tax (I -11) 900,000 600,000 3.00.000 S0

IV, Less: Tax @ 4% 3.60,000 2 40,000 1.26,000 50

Profit after Tax 5,40,000 360000 1.80.000 50

Hlustration 4. From the following “Statemnent of Profit and Losy’ for the year
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L

ended 31st March, 2013, prepare a ‘Comparative Statement of Profit and Loss of

Fidya Lid.:
| Particilars . . INoteNo.| 2012:2013:) | 2011 -2012 ®
Revenue from operations 14,000,000 11.00.000
Other icome 4,00.000 3,00,000
Expenses 11,.00,000 12,00.000
Solution.

Comparative Statement of Profit and Loss of Vidya L¢d.

For the vears ended 31st, 2012 and 2013

. Note [ 200001 :\bﬁ‘uhl‘lc v Percentage

Particubars N ey - Increase/ Increase/
B . ol st i e o H
. s deerdite, | deerease (%) |
I. Revenue from Operatinns 11,040,000 | 14.00,000 3.00,000 27237
ier) Add - Other [ncome 3.00,000 | 4.00.000 1,00,000 33.33%
li.  lotal Reveoue (1+ 1) 14.0G,000 { 18.00,600 4,00,060 28.57%
{a) Less : Expenses 12.08,000 | 11.00,600 | {1,00.00M (8.33%)
T Trofit before Tax (TH = IV) 200,000 | 7.00.000 5.00,000 250%
{er) Less : Tax 42 50% 1,06.000 | 3.50.000 2.50,000 250%
iV, Profit after Tax (V=VI) 1.00.000 | 3.50.000 2.50.000 230%

Hlustration 5. From the following Statement of Profit and Loss of Suntrack Ltd.,

Jor the years ended 315t March, 2011 and 2012, prepare a ‘Comparative Statement

of Profit and Loss .
7 Particulars ‘Note No. | 2011-2012 ) 20102011 ?)
Revenue from operations 20,00,000 12,00,000
Other Income 12,006,000 g.00 000
Expenses 13,00.000 i0.00,.000
Solution.

Suntract Ltd.
. Comparative Statement of Profit and Loss of Suntrack Lud.

g {Pex ccnﬁﬁﬁ
‘Particulars § @y i;:;:::}gg :,'L‘;ﬁf,*;f%
(%)

1. Revenune from Operations 12,00.000 | 20,00.000 §.08,000 66,67
1. Other Incume 9,00,000 | 12,00.000 3.00,060 3333
1. ‘Total Revenue (1 + 11} 24,006,000 | 32000000 11,00,000 5238
IV, lLess : Expenses 10,00,000 | 13.00,000 3.00,000 30,00
V. Profit before Tax (ITN =1V} 11.00,000 | 19,00,000 8,00,000 7272

Hiustration 6. From the following “Statement.of Profit and Loss’ for the year
ended 3181 March, 2013 prepare a ‘Comparative Stafement of Profit and Loss ' of

(roods Services Lid.:




= - e e 2 £ % i3

T Particulard Note No. | ™2011-2012,) | “2010- 2011
Revenue from operations 20.00,000 15.00,000
Other Income 10.00,000 4,00 000
Expenses 21.00.000 1500000

Rate of Income tax was 50%
Solution.
Comparative Statement of Profit and Loss
For the years ended 31st March. 2012 and 2013

] Note ) A F20135F| Absolte, | Perceritge*

ar o decredse decrease
Revenue from Operations 15.30,000 20.00,000 5,00.000 33.33%
Add: Other Incomes 4.00.000 10,090,000 6,00.000 150%
Total Revenue 19,00,008 1  30,00.600 1£.90.000 37.89%
Less: Expenses 15.00,000 | 21.00.000 6.00,000 40%
Profif before Tax 4,06.000 9,460,000 500,000 125%
Less: Tax @ 50% 2,00.060 4.50,000 2,530,000 125%
Prafit after Fax 2,00,G00 450,000 2.50,000 125%

Hiustration 7. From the following Statement of Profit and Loss of Moontrack
Lid., for the years ended 31st March 2011 and 2012, prepare a ‘Comparative
Statement of Profit and Loss’.

Uy T, ¥ 3 B AT E ey a3 =

Particulars g Note No. | 2011-2012i%) | %2010-201L83)
Revenue from operations 40.00,000 24.00,000 |
Other Income 24,00,000 18,00,000
Expenses 16.00,000 14,00,600

Solution.
Comparative Statement of Profit and .Loss
For the years ended 31st March, 2011 and 2012

£ B R —
Ty F 2014 g cAbsolute Percéniage
z%‘.y 18 hicrease/decrea nereasé rdecrease
¥ B i e
7 N ®) 87
Revenue from Operations 2400000 | 40,080,000 16,00.000 66.67
Other incomes 18,00,000 |  24,00,000 £,00,000 3333
‘Total Revenue 42,00,000 ] 64,00.000 22,00.000 5238
Less: Expenses 14,00,000 16,00.004 2,00.000 14.28
Profit before Tax 2800000 [ 48,00.000 20.00,000 71,42

Hiustration 8. Following information is extracted from the statement of Profit
and Loss for the years ended 31st March, 2012 and 2013. Prepare a Comparative

Statement of Profit and Loss:
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Y Paticilors, | NoteNo. | 31 Mareh 20137%), | 31 March 2013 @
Revenue from operations 40,00.000 32,00,000
Ewmployee bencfits expenses 20,00,000 16,00,060
Other expenses 2,00,000 400,000
Tax Rate 40% 0%

Solution.

Comparative Statement of Profit and Loss

For the vears ended 31st March, 2012 and 2013

A 2013 20137 (BR absolire " Percentage © %
Parf:'_E‘u!ars e _ %) ) Increase/decrease | Increaseldecrense (36)
f e P : e B R
[.  Revenue from Opcrations 32.00,000 | 40,00,000 8.00,000 25%
1. Total Revenue 32,00,000 | 4000000 8,00,000 25%,
fll. Expenses
Employee's Benefit Expenses 16,00,000 | 20,00.000 4,00.000 25%
Chther 1Expenses 400,000 | 2,00,000 {2,00,000) {30%)
Total Expenses 20,00.000 | 22.00,000 200,000 10%
IV.  Profit hefore Tax 12.00.000 | 18.00,600 6.00,000 50%
Vo Less: Tax 41,80,000 | 7.20,000 2.40,000 50%
V1.  Profit after Tax 7.20,000 | 10.80,000 3.60,000 50%
Hlustration 9. Prepare a Comparative Statement of Prafit and Loss from the
Jollowing details:
. e T . :
Note | 31203:20133(:31-03-2012
. v N a%« k2 B v-w-/-%r
. No. R )
Revenue from operations < 30.00,000 | T 20.00,000
Other Income (% of Revenue from operations) 15% 20%
Expenses (% of Revenue from operations) 60% 30%

Solution. (a)

Comparative Statement of Profit and Loss

For the years ended 31st March, 2011 and 2012

Particu ars

: Nofe%i

I.  Revenue from Operations 20,900,000 30,560,000 $0,00,000 50
1. Other Income 460,000 4.50,000 50.000 123
M. Total Revenue (I + 1) 24.00,000 | 34.50,000 16,50.000 43.75
1V, Expenses 10,086,000 1 8.00,000 4,00.000 80
V. Profit before Tax (1-1V) 14.00,000 16.50,000 2,50.000 17.85

From thie following statement of Profit and Loss of Star Ltd. for the years ended
31st March 2011 and 2012 prepare a comparative statement of Profit and Loss




ggéucufarv -ﬂ.:%?ﬂl 7
s (%) e s L ‘s
Revenue from operations 20,00,000 16,060,000
Emplovee benefits expenses 10,00.000 8.00,000
Other expenses 1.00,000 2,00.000
Tax 50% 30%
(®) )

Comparative Statement of Profit and Loss

For the vears ended 31st March, 2011 and 2012

31-03:2012 |#31:03-2013"} Mdbsolute | Percentage "
wNowe | . R} Increasef Increase!
[ ]
D 3
A B
1. Revenue from Operations 16.00,800 20.00,000 4,00.000 25
1. Less: Expenses
Employee benefit expenses £,00,000 10.00.000 2.06,000 25
Other Expenses 200,000 1.00.000 t1.00.000} {50y
1. ‘Total Expenses 10,040,000 11,00.000 1.00,000 13
IV,  Profit before fax (I - 11} 6,600,600 9,00.000 300,000 0
V. Tax 3,00,600 450,000 1.50,000 30
VI.  Profit after max 3.00,000 4,508,000 1,30,000 50

HHustration 10. From the following Balance Sheet of Shabnaz Shahab Limited
as on 31st March 2011 and 2012, prepare a Comparative Balance Sheel:

Paticularsy, Ay M| NoeNo. | 2011-12
EQUITY AND LIABILITIES
\.  Shareholders Funds
(aj Share Capital 21,00.000 29.00,000
(b} Reserves and surplus 10.00,000 12.00,000
2. Non-current Liabilities
Long-term horrowings 12.00.000 18,00.000
3.  Current Liabilities
Trade payvables - 8,00.000 12,00,000
Total 51,00,000 71,00,000
ASSETS
. Nowu-current Assets
Fixed Assels
(i) Tangible assets 21,00,000 29.00.000
(i) Imangible assets | 1200000 | 18,060,000
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2. Current Assets
(a) Inventories 10.00,000 12,00,000
(b} Cash und cush equivalents 8,00,000 12,00,000
sLo0.000 71,600,000
Solution,
Shahnaz Shahab Ltd.
Comparative Balance Sheet
For the years ended on 31st March 2011 and 315t March 2012
_ i Particulars - }‘\’ore: 2000-77 20!!;;;2 . Absql_lgg_ Percentage .
:@? : No; ; rease/decreq. increasesdecre
. Py k|
EQUITY AND LIABILITIES
|.  Shareholders Funds
{a} Share Capital 21,00.000 | 29.00,000 8.00.000 38
(b} Reserves and surplus 10,00.000 | 12,060,000 2,00.000 20
2. Nouw-current Liabilirics
Long-term borrowings 12,00,000 1 18.00.000 6.00,000 S0
3. Currcat Liabilities
Trade payables 800,060 | 12.00,000 4,00.000 S0
‘lotal SLOGO00 | 7100008 20,0000 39
ASSETS
1. Nen-current Asscts
Fixed Assets
(/) Tangible assels 21,00.000 | 29.00,080 R,00.600 IR
{7} Tntangible assets i2,00,000 | 18,00,600 6,00,000 50
2. Current Assets
{a) Tavenories 10.00.000 ; 12,00.000 200,000 20
{#) Cash and cash equivalents 8,090,000 1200000 4,00,000 s 50
SLO0.000 | 7100060 201,00.000 3%

Note. Figure in bracket are negative

Assets have been classified us Non-curvent and Current Assets.

In the same way, liabilities have been classified as shareholder's fund
current and non-current liabilities.

Hiustration 11, From the jollowing Balance Sheet of Balgji Traders as 31st

Moarch 2011 and 2012, prepare a Comparative Balance Sheet:

R 3

S «| Note No. | 20102115 i 2011<12
1. Shareholders Funds
(a) Share Capital 10,00,600 12,00,000
(b) Reserves and surplus 100,000 1 10.000
2. Nen-curremt Liahilities | [ )




Long-term borrowings 6.00.000]  7,00.000
Other long-term borrowings 1,50,000 1.30,000
Long-term provisions 25.000 20,000
Current Liabilities
Trade payables 80,000 1,00,000
Short-term provisions 13,000 18,000
Total 19.70,000 22,78,000
ASSETS '
Non-current Assets
Fixed Assets
(i} Tungible assets 14,95.000 17,215,000
(ii} Intangible assets 1.20,000 1.50,000
Capital work in progress 80,000 96,000
Current Assets
{a) Inventories 50,600 43,000
tb) Cash and cash equivalents 33,000 42,000
(¢) Curremt invesiments 1.00,000 1,20.000
(di Trade receivables 20,000 1.10.0600
Total 19,760,000 22,78,000
Solution.
Balaji Traders
Comparative Balance Sheet
For the yvears ended on 31st March 2012 and 315t March 2013
‘Particu | Nnte E gwll 13 %% Ahsnlutr& Pnrenugc &
No, & iereascidecroase increase/
%& e 5 i drcro;l«c 19
EQUITY AND LIABILITIES
. Sharcholders Funds
(¢} Share Capital 10,00,000 | 12.00,000 2,00,000 26
{5 Reserves and surplus 100,000 | 1.10,000 10,000 {0
2. Nun-current Lizbilities
(@) Long-term borrowings 600000 1 7,00.000 1,06,000 17
{4 Other long-term borrowings 150,000 1 1.30.000 (20.000) [{E)]
t¢) Lang-term provisions 25,000 20,000 {5,000) (20)
3. Current Liabilities
(@} Trade payables 80.000 | 100,000 20,000 25
(43 Shori-term provisions 15.000 18.006 3,000 20
"Total 19.70,000 | 22,78.000 3.08,000 16
ASSETS

Non-curreni Assets
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{a) Fixed Assels

(1) Tangible asscts 14950606 | $17,21.000 2,26,000 i3

(#) Inuangible assels £,20600 | 1,50.000 30,000 25

{53 Capital work in progress 80,000 40,600 10,600 13

2. Current Assets

(@) Inventories 50,000 45,000 {3.000) (10)

{h) Cash and cash cquivalents 35,000 42,008 7.000 20

t¢) Current investiments 100000 | 1,20.000 20,060 20

{d) Trade receivables 90,000 | 1,10,000 20.000 22
‘Fotal 19.70,000 | 2278000 308,000 16

Note. Figures in the brackels are negative.

Hlustration 12. The followings are the excerpts of balance sheets of J. Ltd., for
the year ended March 31, 2013 and 2014. Prepare a Comparative balance sheet and

comment on the financial position of the business firm.

Parsz‘éffmg
[. EQUITYAND LIABILITIES
1. Shareholders Fuunds
a) Share Cupital 20,00,000 13,00.000
h} Reserves and surplus 3,000,000 4,00, 000
2. Nou-current Liabilities
(a) Long-term borrowings 9.00,000 6,00,000
3. Current Liabilitics
(a) Trade payvables 3,00.000 2,00.000
Total 15,00,000 27.00,600
II. ASSETS
1. Non-current Assels
{a} Fixed Assets
— Tangible assels 20,00.000 13,00,000
— Intangible assets 900,000 6,00,000
2. Current Asxety
(a) Current assets 3,00.000 4,00,000
— Inventories 3,00,000 200000
~ Cush and cash equivalents
Toral 33,600,000 27,00,000
Solution




Comparative Balance Sheet Analysis of Financial

as a March 2013 and March 20714 (Figure in Lakhs) Statement
" 201 2013°7 | .Absolute Change | Percentage .
a3 , v L Chaiige (%) *,
1. EQUITY AND LIABILITIES Notes
1.  Shareholders Funds
{#r) Share (apital 20 13 03 3333
{h) Reserves and sumlus 03 04 M 25)
2. Non-current Liabilities
{a) Lang-term borrowings Y 06 3 50
3. Current Liahilities ,
{er) Frade payables 03 02 01 30
Total 35 27 0% 29.63
II.  ASSETS
l.  Non-cdrrent Assets
{ar) Fixed Assets
(¥ Tangible assets 20 13 03 33133
(#) langiblc assets 0 06. 03 50
2, Current Assets
(1) Inventories 03 04 (O1) {25)
{5) Cash and cash equivalents 03 02 ol 30
Total 33 X7 08 29.63

4.8. Common Size Statements

-Convenient comparison of the financial statements requires that the financial
statement should be converted into common size statements. Every ttem of the
statement is presented in the form of percentage of its important heading. Every item
of income statement is expressed in terms of the percentage of the total sales. in the
same way every asset is expressed in terms of the percentage of total assets and every
liability is expressed in terms of the percentage of total hability.

Common Size Balance Sheet

Common Size Balance Sheet refers to the statement which shows the assets and
liabilities of the business in percentage terms to enable better comparison of the value
of assets and liabilities over two or more accounting periods. It is useful to analyse
the increasing or decreasing trend of the assets and liabilities as compared with the
previous period from current period.

How to Prepare Common Size Balance Sheet?

Step 1:  Pick up the items of assets, liabilities and capital and write them in
Column A.

Step 2: Pick up the absolute amounts of assets, liabilities and capital of
carrent vears's Balance Sheet and write them in Column C.
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Step 3:

Step 4:

Step 5:

Pick up the absolute amounts of assets, liabilities and capital of
previous year's Balance Sheet and write them in Column C,

Calculate the percentage of different items of previous year's Balance
Sheet to total liabilities of previous year and write them in Column
D.

Calculate the percentage of different items of current vear's Balance
Sheet to total liabilities of the current year and write them in Column
E.

Hlustration 13. From the following Balunce Sheet of Rashmi Mills Lid., prepare
the common size balance sheet for the year ended March 31st 2011 and March 31st

2012
ot Pavicdars | NoteNo.|2010-11&) | 201i-12)
EQUITYAND LIABILITIES
1. Shareholders Fundy
(a) Share Capital 24,00,000 30.50.000
(b) Reserves and surplus 13,00,000 13.50.000
2.  Now-current Linhifities
Long-term borrowings 1500000 1950000
3. Current Liabilities
Trade pavables 11,00.000 12,00,000
Total 63,00,000 75.50,600
ASSETS
1. Nen-current Assets
Fixed Assets
(i) Tangible assets 24,00.000 30.50.000
(ii) Intungible ussets 15.00000 1930000
2. Current Assets
(a} Inventories 13,00.000 13,350,000
(h) Cash and cash equivalents 11.00,000 12,00,000
Total 6.3,00,000 75,560,000
Solution.

Common Size Balance Sheet
For the vears ended on 31st March 2011 and March 2012

; jcttlars Notw { 20i0=11 Percentage of "%;;grcemqgé af
% R toral T ronal v
g SN TR K
< 'U‘{QQ M.ﬂH 42
EQUITY AND LIABILITIES
i.  Sharcholders Fuends
{a} Sharc Capital 24,060,000 | 30,50,00¢ 38 40
(&) Reserves and surplus 13.00,000 | 13.50,000 | 18




3 Nomewvent Vibiines T T T
Long-term borrowings 1300000 | 15.50,000 24 26
3. Current Liabilitics
Trade payables 11.00,000 § 12,60.000 17 16
Tatal 63.00,000 | 75.50,000 100 100
ASSETS
l.  Non-current Asscts
Fixed Assets
() Tangible assets 24.00,000 | 30,50.000 38 40
{#) Intangible assets 15,00,060 | 19,50.000 24 26
2. Current Assets
{2} Inventories 13,00,000 | 13,50,000 21 18
{5} Cash and cash equivalents 11,00,000 { 12,00.000 17 16
‘Total 63.00.000 { 75.50.000 100 100
Working Notes
Calculation of Percentage
Assets 2010-11 2011-42
Si ital 24,0 30,350,000
o 500,000 100 =38%  T55p'go %100 = 40%
Reserve and surplus ] .000 13,50,000
N Sai00000 <100 =21% 75'3g0gg <100 = 18%
Long-term borrowings 15,00, 000 19,50,000
5 & 62-8me0=24% —<55.605 ¥ 100 = 26%
Trade payables 11.00,000 12,00,000
" §300:000 %100 = 17% 75750, ogp * 100 = 16%
Tangible assets 24,00,000 30,50,000
) 00000 %100 = 38%  T755:gog ¥100 = 40%
Inventories 13,00,000 13,50,000
3.00,000 100 = 21% 7550,ggg * 100 = 18%
Cash and cash equivalent 11,00, 12,00,000
S 0000 *100 = 17% 75 557000 100 = 16%

Common Size Income Statement

Common Size Income Statement is known as commion size because it is
converted to a common variable indicated by percentage. “Common size income
statement refers to the income statement for two or more accounting period on the
basis of which income and expenses are shown in percentage terms.” It helps in
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comparing the relative value of income and expenses over two or more accounting
periods. Financial managers prepare these common size statemenis for business
reporting and decision making purposes.

Format of Common-size Statement of Profit and Loss

For the years ended March..... and March ...

il P
Percentage of Revenue.

_g-ggrrwla%gi) B

migwnt from Operations®
- Figweat | Figwéat | Current | Previois

the end; the cend .| reporting | reporting
; of Prq_}z'of?;’? period (%) period (%)
wreporiing | . reporting ¢ _?Ejﬁ )
Period (C)*| Périod (D) )

in.
V.

VI
VII.

Revenue from Operations — - 10y 130

Other Incame - — — —-

‘Total Revenne (1 + I} -— — — —

Expcenses
Cost of Materials Consumed . — —_ —
Purchases of Stock-in-Trade - - - -
Changes in inventorics of Finished Goods -— - - -
Work-tn-Progress and Stock-in-Trade —_ - -— -
Employees Benefits Expenses . — — —
Finance Costs — — —_— —
Depreciation and Amortization Cxpeunses —_ - - S

Other Expenses - — - .

Total Expenses — - — —

Profit before Tax (L1f - 1V) : — — — —

Tan

Prodit after Tax (¥ - VI) -— . — —

{d} Cash and cash vquivalents - - - -

(¢} Short-term loans and advances - - - -

{#) Other current assels - - - -

‘Total

How to Prepare Common Size Income Statement?

Step 1:
Step 2:
Step 3:
Step 4:

Step 5:

Pick up the items of income statement and write them in Column A.
Write the current year's income statement data in Column C.
Write the previous year's income statement data in Column D.

Calculate the percentage relation of cwrrent year's income statement
data to net sales of current year and write it in Column E. -

Calculate the percentage relation of previous vear's income statement
data to net sales of the previous year and write it in Column F.

In order to make such common size income statement sales is supposed to be




100 and every item of the income statement is expressed in terms of percentage of

Analysis of Financial

total sales. Statement
filustration 14. Prepare common-size balance sheet of XRI Lid., from the
SJollowing information:
. Particul Note | March 31, 2014 | March 31, 2013 Notes
. FN BA 2O A
I. EQUITYAND LIABILITIES
1. Shareholders Fundy
faj Share Capital 20.00,000 12,00.000
(b) Reserves and surplus 5,.00,000 5,00,000
2. Non-current Liabilities '
() Long-term borrowings 6,00,000 3.00,000
3. Current Liahilities
(a) Trade pavahles 15,306,000 10,350,000
Total 41,56.000 32,50,000
1. ASSETS
1.  Non-current Assets
(@) Fixved Assets
— Tungible assets
Plant and machinery 15.00.000 10.00,000
— Intangible assets
Goodwill 15,00.000 10,00,000
(b) Non-current investments 10,00,000 10,00,000
2. Current Assety
{a) Inventories 1,50.000 2,50.000
Total 35.00,000 27,00,600
Solution

Common-size Balance Sheet of XR! Lt

For the year ended March 31, 2013 and March 31, 2014

.'Ab?gfy_._fg\}!u'gjgggf;ls,gz:
5132014 | 31033013

1. EQUITY AND LIABILITIES
1. Sharchokders Funds

(a} Share Capital 15,060,000 12,006,000 36,14 36.93

{6 Resenves and surplus 5.00,000 5.00,000 12.05 15.38
2. Non-current Liabilities

{a) Long-term borrowings 6.00.000 5,600,000 14,46 1538

Self-instructional Msterial 225




Accounting Theory and 37" Cyyrrent Linbitities

Practice
ter) Trade payables 15.50,000 10.50,000 37.33 EXE]
‘Total 41.50,000 32.50.000 104 1001
1. ASSETS
Notes E,  Non-current Assels

{a} Fixed Assels
— Tangible assets
Plant & machinery 14.00,000 8.00,000 3373 24.61
— Imtangible assets
Goodwill 16,00,000 12,00,000 JR55 3692

2. Nom-current Invesinents

{er) Current assets 10,00,000 10.00,000 24,10 0N
— Inventories 1.50,000 2,50.000 362 7.69
Total 41,550,000 32.50.000 100 ]

Hiustration 15, From the following Income Statenent of ABC Lid.. prepare the
common size income statement for the year ended March 31st 2013 and March 31st

2014.
o Patticulars _|2012-13,%) | 2013-14 )
I Revenue from Operations 15,00,000 18.00,000
Il  Expenses
) Purchases of Stock-in-Trade 7.05000|  7.92.000
Changes in inventorics of Finished Goods 1,05.000 72,000
Employees Benefits Expenses 405,000 - 5,04.000
Finance Costs 75,000 34,000
Depreciation and Amortization Expenses 15.000 18,000
Other Expenses 45,000 36.600
Total Expenses 13,530,000 14.76,000
I Profit before Tux (I-11) 1,530,000 3,24,000
IV Tax@35% 52,3500 1.13,400
V. Profit after Tux (HI = IV} 97.500 210,600
. Solution.
2042-13. § 201314 | Percentage 5| Perceniage.
g © | T G o
: 00293@) | 2003°14R)
T Revenue from Operations 15,00.800 | 18,00.000 100 T
il.  Expenses
Purchascs of Stock-in-Trade 705,000 | 7.92,000 47 #
Changes in inventories of Finished Goods | 1.03,000 72,000 7 4
Employ<es Benefits Expenscs 405,000 | 5,04.000 27 28
Finance Costs ] 75,000 | 54,000 5] 3
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""""""""""""""""""""""""""""""""""""""""""""" Analysis of Financial
Depreciation and Amortization Expenses 15,000 18,000 | 1 ysis of
Statement

- Other Expenscs 45,000 36,000 3 2
‘Total Expenses 13,50.000 | 14,76,0600 a0 82
NI, Profit before Tax (1-11) 1,50.040 3,24.000 10 18

V. Tax @ 35% 52,500 [ 1.13.400 3.5 6.3 Notes
V. Profic after Tax (111 - iV} 97,500 215,600 6.5 187

Hiustration 16. From the following Income Statements of Kejriwal Ltd., prepare
the common size income statement for the year ended March 31st 2014 and March

31st 2015.
- i q’?ﬁiﬁﬁi‘*‘f“ﬁf&s .-r,%"i'igﬁf {22013-1 4R) ..:-.301-'?-.?-1 3'R)
I Revenue from Operations 15.00,000 18,00.000
I, Other Incone 3,00,000 270,000
I, Total Revenue (I+11) 18,00.000 20,70,000
V. Expenses
Cost of Materials Consumed 3,00,000 £.50.000
Purchases of Stock-in-Trade 270,000 1,850,000
Changes in inventories of Finished Goods
Work-in-Progress and Stock-in-Trade 73,000 36,000
Employees Benefits Expenses 2.25,000 3,24.000
Finance Costs 2,40,000 252,000
Depreciation and Amortization Expenses 30.000 1.80,000
Other Expenses _ 75,000 90.000
Total Expenses 1215000 13.12,000
V. Profit before Tux (I - IV} 5,85,.000 3,58,000
Vi Tax(@35% 204,750 1,95.300
VIL.  Profit after Tax (V- VI) 380,250 3.62,700
Solution.
2013%14 " 120144 Percentage $1 1 Percintase
Ny of Total of Total
5,22014:15
. L ) &)
1. Revenuc fram Operations 15.00,000 | 18,00,000 100
1. Other Income 3.00,000 | 2,70.000 20 5
A M. Total Revenue (1 + 1) 18.00,000 | 20,70,000 120 15
V.  Expemses
Cost of Materials Consumed 3,00000 [ 4.50,000 20 25
Purchases of Stock-in-Trade 2.70,000 1,80,060 18 i0
Changes in inventories of Finished Goods
Work-in-Progress and Stock-in-Trade 75,000 36.000 5 2
_______ Employces Benefi Expenses | 223000] o] U BL.B
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Finance Costs | 2e0000] 2:000] el 11
Bepreciation and Amortization Expenses 30.000 1,286,000 2 10

Other Expenses 73,000 90.000 5 3

Tatal Expenses 12,135,000 15,12.000 Xl g4

V. Profit before Tax (111 -1V) 3,85.0060 5.58.000 3¢ 3l
VI laxid 35% 2,04.750 1.93,300 13.65 10.85
VII.  Profit alter Tax (V - VI) 3.80.250 3.62,700 25.36 2015

Hlustration 17. From the following statement of Profit and Loss of Star Lid.,
Jro the year ended 31st March 2012. Prepare a common Size Statement of Profit and

Loss.

. W-Part;cula@%

e m——

Note'No.

31:03-2012 %)

Revenue from Operations 20,00,000

Employec benefit expenses 10,00.000

Other Expenses 1,600,000
Solution.

Common Size Statement of Profit and Loss

For the)

B

ear ended 31, March, 2012

Absolut

3 Amount ) | from Operations
PR % 2071-1288 01
I.  Revenue from Operations 20,00.000 100
II. Employee benefit expenses 10,00,000 50
Other Expenses 1.00,000 3
Iil. Total Expenses 11,00,000 55
1V. Profit before Tax {1 - 111} 9.00,000 45

4.9. Test Problems

I. The following information is extracted from the book of Confident Co. Ltd.
You are required to rearrange the information for Financial Analysis and
calculate (1) Return on investment (ROI) (2) Return on capital employed
(3) Return on shareholder's funds (4) Return on equity shareholder's (5)
Return on total assets.
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Particulars Z Particulars 4
Net Sales 16.00,000 | Profit & Loss Account 2,00.000
Cost of goods sold 6.00,000 | Debentures 2,50.000
interest on debentures 25,000 | Sundry creditors 50.000
Loss on sale of furniture 5,000 | Equity share capital 3,00.000
Interest on govt. securities 5,000 | 10% pref. share capital 2,00.000
Fixed assets less depreciation | 10,75,000 | Operating expenses 1,50.000




Investment in govt. securities
5.00,000 |,
400,000

Current assets

Reserves

50,000 | Provision for tax

[Ans. (1) 17.24%, (2) 12%. (3) 12.62%, (4) 10.77%]

2. Calculate the earnings per share from the following information:

Net Profit before tax
Tax on profit

15% preference share capital X

Equity share capital 4,700 shares of T 10 each

10 each)

T 10,00,000

T 50%

T 2,00,000

< 4,70,000
fAns. ¥ 100 per share]

3. Profit and Loss Account of X Lid., is given below

Profit and Loss Account

Particulars 4 Particulars 4
To Opening stock 2,060,000 [ By sales 16,00.000
To Purchases 12,008,000 | By Closing stock 3,20.000
To Administration expenses 1,20,000 | By Dividend 4.000
To Selling expenses 80,000
To Financial expenses 40.000
To Loss on sale of assets 5,000
To Net profit 2,79.000
19,24,000 19,24,000

Calculate the Profitability Ratios

[Ans. (1) G.P: 32.5%, (2) N.P: 17.44%, (3) OP: 20%, (4) OP Ratio: 80%]

4. {(a)} From the following details of a trader you are required to calculate

stock turnover ratio.

Sales

Sales returns
Opening stock at cost
Closing stock at cost

Total Gross profit for the yvear

(h) Calculate stock turnover ratio and Stock tumover period from the
following sales ¥ 10,000,000; Gross profit ratio 20%: Stock at the
beginning of the year I 1,75,000; Stock at the end of the year ¥

1,45.000

4
39.984
380
1,378
1,814
8.068

1Ans. (1) 19.76 Times (2) 2.4 months]
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Accounting Theory and 5. Ganesh Bros. sells goods on cash and credit terms and also purchased
Practice goods on cash and credit terms. The following particulars are obtained
from their books.

4
Notes Total sales 5,00,000
Cash sales 40.000
Sales returns 20,000
Debtors at the end 80,000
Bills receivable at the end 20,000
Reserve for doubtful debts 1,000
Total purchases 3,00,000
Cash purchases 50,000
Purchase returns 10,000
Creditors at the end 60,000
Bilis payable at the end 20,000
Reserve for discount on creditors 2,600
Opening stock 50.000
Closing stock 40,000
Gross profit 1,00,000
Fixed assets 10,00,000

Calculate activity ratio (turnover ratio)

[Ans. (1) 8.44 Stock Turnover Ratio; (2) 0.48 Times Fixed Asset Turnover Ratio;
(3) 4.4 Debtors Turnover Ratio; (4) 83 Debtors Collection Period: (5) 2
Times A/c Payable; (6) 122 A/c Payable Period]

6. You are given the following information

4
Cash 18,000
Debtors 1.42,000
Closing Stock 1,80,000
Bills Payable 27,000
Creditors 50,000
Outstanding expenses 15,000
Tax payable 75,000

Calculate: (¢) Current ratio (b) Liquidity ratio (¢} Absolute hiquidity ratio..
[Ans. (1) 2.036 Times, (2)0.96, (3)0.11]

7. From the following Balance Sheet of Balaji Industries Lid., you are
required to calculate debt equity ratio.
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Balance Sheet Analysis of Financial

Statement
As at 31.12.1999
Liabilities 4 Assets 4
Share capital | Fixed assets 1,20,080 Notes
10,000 shares of T 10 each 1.00.000 | Current assets 80,000
General reserve 12,000
P& LAl 8.000
Debentures 30.000
Current liabilities 50,000
2,00,000 2,00,000
[Ans. 0.67]
8. Balance Sheet of Rama Lid. as at 31.12.1993 is as follows:
Liabilities T Assets 3
Equity capital 2.00,000 | Fixed assets 3.60,000
9% Preference share capital 1,00,000 | Stock 50,000
8% Debentures 1,00,000 | Debtors £,10,000
Profit and Loss Alc 40,000 | Bills Receivable 6,000
Creditors 90,000 | Bank balance 4,000
5,30,000 5,30,000

Find out: (1) Fixed assets ratio and (2) Capital gearing ratio.

[Ans. (1) 0.81 (2) 0.833]

9. Given below is the summarized Balance Sheet and Profit and Loss of
Ragunath Sugar Mills Ltd. as on 31.12.2007. You are required to calculate.

1. Current ratio 2. Quick ratio
3. Fixed assets ratio 4. Debt equity ratio
5. Proprietary ratio 6. Stock turnover ratio
7. Fixed assets lurnover ratio- 8. Returnon capital employed
* 9. Debtors turnover ratio 10. Creditors turnover ratio
11. Net profit ratio 12. Operating ratio
Balance Sheet
As at 31.12.1999
Liabilities 3 Asselts T
Share capital Land and building | 30,00.000
40,000 shares of T 10 each | 40,00,000 | Plant & Machinery | 16.00,000
Reserves 18.00,000 | Stock 29.60,000
Creditors 26,00,000 | Debtors 14,20,000
Profit & L.oss Account | 600000 | Cashatbank | 620,000
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6% Debentures 6,00.000
96,00,000 96,000,000
Profit and Loss Account for the year ended
on 31.12.2007
Particulars 4 FParticulars 4
To Opening stock 19.90.000 | By sales 1,70,00,000
To Purchases 1.09,03.000 | By Closing stock 29.80.600
To Direct expenses 2.85.000
To Gross profit 68,00,000
1.99.80,000 1,99,80,000
To Administration expenses 30,060,000 7 By Gross profit bid $8,00,000
To Selling & Distribution exp, 6.00.000 | By Non-operating income 1.80.000
To Financial expenses 3,060,000
To Other non-gperating exp. §0.000
To Net profit 30,00.000
69,580,000 69,350,000

[Ans. (1) 1.92.(2) 0.78. (3} 0.66. (4} 0.67. (6} 4.10 times, (7) 3.69 times, (8)

10.

it.

12.

45.71%, (9) 11.97 times. (10) 4.19 times (11) 17.64%, (12) 81.17%]
Find out fixed assets and gross profit from the following information:
Sales ¥ 10.00,000
Gross profit ratio 25%

Fixed assets turnover {on cost of sales) 5 times
{Ans. T 1,50,000]

Given:
Current assets = 2.8
Acid-test ratic = 1.5
Working capital = ¥ 1,62,000
Calculate:
1. Cwirent 2. Current liabilities

3. Liquid assets 4. Stock
[Ans. (1) ¥ 2,52,000, (2) ¥ 90,000. (3)T 1.35,000 (4)3 1.17,000]

Following are the ratios relating to the trading activities of Nagul Trader
Ltd., Madras

Receivable turnover = 90 days

Inventory tumover = 3 times
Payable turnover = 3 months
Gross profit ratio = 25%

Gross profit for the amounted to T 18,000, closing inventory of the year is
T 2,000 above the opening inventory. Bill Receivable amount to ¥ 2,500




and Bilis Payable ¥ 1,00. Ascertain the following:
1. Sales 2. Debtors
3. Closing inventory and 4. Sundry creditors.
[Ans. (1) T 72,000, (2) T 1550 Debtors, (3) 19,000, (4) 13.000]

13. The following figures are extracted from the Balance Sheet of X Ltd. As
on 3ist December:

Particulars 1992% 1993%
Stock 25,000 40,000
Debtors 10,000 16.000
Cash at Bank 5,000 4,600
Creditors 8,000 15,000
Bills Payable 2,000 3.000
Provision for Taxes 5,000 7.000
Bank Overdraft 5.000 15,000

Calculate the Current ratio and Quick ratio for two years.
[Ams. (1) Current ratio, (2) Quick ratic 1992 - 2 times, 1992 - 0.75,
1993 - 1.5 times, 1993 - 0.50]

14. From the following particulars, pertaining to assets and labilities of a
company calculate {a) liquid ratio, (5) proprietary ratio. (¢) debt equity
ratio, and (d) capital gearing ratio.

Liabilities 54 Assels 3

5.000 equity shares of ¥ 50| 2,50,000 | Building 3.00,000

each

1,000 8% preference shares| 1,00,000 | Machinery 2,50.000

of ¥ 100 each

2,000 9% Debentures of T | 2,00,000 | Stock 1,20,000

100 each

Reserves 1,50,000 | Debtors 1,00,000

Creditors 75,060 | Cash at Bank 27.500

Bank Overdraft 25,000 | Prepaid expenses 2,500
8,00,000 8.00,060

[Ans, (1) Current ratio, (2) Quick ratio 1992 - 2 times,
1992 -.0.75, 1993 - 1.5 times, 1993 - (.50]
15. Following is the Balance Sheet of Kovalan & Co. Lid.

Liabilities 4 Assets 4
Equity shares capital 1,00,000 | Cash 2.000
6% Preference share capital 1.00,000 | Bank 10,000
7% Debentures . ... 40000 Bills Receivable | 30000

Analysis of Financial
Statement
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8% Public debt | - 20,000 | Investments | 20,000
Bank overdraft 40,000 [ Debtors 70.000
Creditors 60,000 | Stock 40,000
Outstanding creditors 7.000 | Furniture 30.000
Proposed dividend 10,000 { Machinery 1.00,000
Reserves 1,50,000 | Land & Building | 2,20,000
Reserves for taxation 20,000 | Goodwill 35.000
P & L Account 20.000 | Preliminary exp. 10,000

5,67,000 5,67,000

During the year provision for taxation was I 20,000. Dividend was
proposed at % 10,000. Profit carried from the last year was 15,000. You are
required to calculate.

() Current ratio
(i) Liquidity ratio
(iii) Debt-equity ratio
(iv) Fixed assets ratio and
(v} Fixed charges cover ratio
[Ans. (1) 1.26, (2) 0.96, (3) 0.17, (4) 0.83, (5) 8.95
{Profit before interest and tax T 39400,
Fixed charges 2,800 + 1,600 = 44000)}

16. From the following given ratios and figures, prepare a summarized Balance
Sheet of XYZ Co. Ltd., for the year ended 31.12.2005.

(a@) Working capital = ¥60,000

(&) Reserves and surplus = 40,000

(¢) Bank overdraft = 310,000 i
() Assets (fixed) proprietorship ratio = 0.75

(¢) Current ratio = 250

(H Liquid ratio = 1.50

[Ans. Assets — Total: T 2.80,000: Fixed assets: ¥ 1,80,000: Stock: T 40.000; Other
current assets: T 60,000; Liabilities — Total : ¥ 2,80,000; Capital: T

2,00.000; Reserves and surplus: ¥ 40,000: Bank overdraft: ¥ 10,000;

Other current liabilities: ¥ 30.000]

17. From the following details prepare statement of Proprietary funds with as
many details as possible.

(7} Stock velocity = 6
(i} Capital turnover ratio = 2
(iiiy Fixed assets turnover ratio = 4
(i) Gross profit turnover ratio = 20 percent
(v} Debtors velocity = 2 months
(vi} Creditors velocity = 73 days




The Gross profit was ¥ 60,000. Reserves and surplus amount to I 20,000,
Closing stock was ¥ 5,000 in excess of opening stock
[Ans. Proprietary funds: ¥ 1,20.000; Capital : ¥ 1,00,000; Reserves : ¥ 20,000;
Current liabilities : T 49,000: Debtors ¥ 50.000; Closing stock : I 42,500:
Other current assets: ¥ 16,500; (Bal. fig. in Balance Sheet) fixed assets T

60,000]

18. From the following comparative Balance Sheet of Shahnaz Shahab Limited
for the years 2010 and 2011, find out the change (Increase/Decrease) in
the absolute figures and also the changes in percentage.

Particulars 2010 %) 2011 )
[. EQUITY AND LIABILITIES
1. Shareholders Funds:
(a) Share Capital 16,20,000 £8.00,000
2.  Non-current Liabilities
{a) Long-term borrowings 3,60,000 4.95,000
3.  Current Liabilities 1,35,000 1,35,000
21,15.000 24,30.000
II. ASSETS
1. Non-current Assets
(@) Fixed Assets
(") Temgible assets 10,80,000 13.50,000
(i) Intangible assets 4,50,000 6,30.000
(#if) Capital work-in-progress 3.60,000 2.70.000
2.  Current Assets 2,25.000 1.80,000
£,50,00,000 | 1,54,50.000
19. From the following information prepare a Comparative Income Statement: |
Particulars 2012 2013
) )
Revenue from operations 6.40,000| 8,00,000
Cost of goods sold 3,20,0001 4,880,000
Administrative, selling & distribution expenses 64.000¢ 1,60.000
Other income 32,000 48,000
Income tax 96,000 1,12,000

20. Prepare the comparative Balance Sheet of M/s Balaji Traders from the

following:
Particulars 2010 X} 2011 )
+ I.  EQUITY AND LIABILITIES
. Shareholders Funds:
________ (@) Share Capial | 32000] 56000

Analysis of Financial
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Accoun;:;g;izory and (#) Rescrves' an;l- Surpl us --------------- 9 ,600 -------- g :OEJO-
2.  Non-current Liabilities: !
{a) Long-term borrowings 40,000 40,000
Notes 81,600 1,04.000
Ii. ASSETS
1.  Non-current Assets
(a) Fixed Assets
(i) Tangible ussets 64,000 81,600
2. Current Assets ;
(¢) Trade receivables 8,000 16,000
(b Cash and cash equivalents 9.600 6,400
81,600 1,04,000
21. Following are the Balance Sheet of Radha Ltd., as on 31.12,2008 and
31.12.2009.
Particulars 2008 ) 2009 %)
l. EQUITY AND LIABILITIES
i. Shareholders Funds:
(a@) Share Capital 13.00,000 19.50.000
(5) Reserves and Surplus 13,00,000 [ ° 13,00,000
2. Non-current Liabilities:
Long-term borrowings 2,60,000 10,490,000
3. Current Liabilities: 3,90,000 6,50,000
32,50,000 49,490,000
1t. ASSETS
1. Non-current Assets
(a) Fixed Assets
(/) Tangible assets 26,00,000 39,00,000
2. Current Assets 6,50,000 10,40,000
32,50,000 49.40,000
You are required to prepare a comparative Balance Sheet on the basis of
the information given in the above Balance Sheet.
22. Preparc a Comparative Balance Sheet of M/s Gupta Traders from the
following information:
Particulars 2011 2012 Particulars 2011 202
) Y T 3
Share Capital 33000} 30000 | Tangible assels 35000 | 66,000
Resnveandsuples | 6000|5000 | et it | 5000 | 1000
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Long-term borrowings | 25,000 | 25.000 | Cash and cash equivalent | 6000 | 4,000 A”"b’f;zlg n‘:j::’”"“’"
66.000 | 80,000 66,000 | 80.000
23. Prepare a Common Size Balance Sheet from the following information:

Parrfcu.-’c-rrs | 2!(9;)2 2((% 3 Notes

Equity share capital 7,20,000 9,00.000
Preference share capital 4.80,000 5.40,000
Reserves and Surplus 1,50,000 1,20,000
Long-term borrowing 2,40,000 1,80,000
Short-term borrowing 1,20,000 1.20,000
Trade Payable 48,000 60,000
Short term provision 18,000 24,000
Tangible assets 9,60.000 14.40,000
Intangible assets 6.00,000 3,60,000
Current assets 2,16,000 1,44,000
24. From the following information prepare common size income statement.
Particulars March 31, 2012 | March 31, 2011
Revenue from operations 10,00.000 12,50,000
Cost of materials consumed 7.70,000 11,004,000
Other income 1,00,000 1,25,000
Finance cost 1,65,000 1,50.000
Other expenses 1.10,000 75,000
Profit 35,000 50,000

25. From the following information relating to B C Ltd., prepare 2 comparative
Income Statement, showing the percentage increase/decrease in 2011 over

20190:
Particulars 2010 2011
) )
Revenue from operations 2.00,000 4,00.000
Cost of materials consumed 80,000 1.44,000
Other expenses 60,000 1,32,000
Income tax 10,000 12.000
Profit 50,000 1.05,000

26. From the following Balance Sheet of Usha Chemical Ltd., on 31st
December, 2011 and 2012, prepare comparative balance sheets.

Particulars 2011 R) 2002 R)
I. EQUITY AND LIABILITIES

1.  Sharcholders Funds:
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27.

28.

{a) Share Capital 5,060,000 10,00.000
(b) Reserves and Surplus 3,00.000 2,00,000
2. Non-current Liabilitics:
(a) Long-term borrowings 5.00,000 3.00,000
3. Current Liabilities:
(¢) Trade Payables 2.00,000 4,680,000
15,00,000 24.00,000
1.  ASSETS
I. Non-current Assets
(a) Fixed Assets
(7} Tangible assets 10,00,000 15,00,000
2. Current Assets
(@) Cash and cash equivalents 5,00,000 9,00,600
15,00,000 24,00,000
From the following information, prepare a comparative income statement.
FParticulars 2012 2013
3 3
Revenue from operations 10.00,000 15.00,000
Cost of materials consumed 8.00,000 11,060,000
Purchase of stock-in-trade 1,080,000 1,50.000
Other expenses 1.00,000 2.50,000
Other Income 20,000 24,000
Income tax 40,000 80,000

From the following summarised Balance Sheet as 3 1st December. prepare
a Comparative Balance Sheet of X Ltd. as at that date.

Particulars 2011 ) 2012 )
[. EQUITY AND LIABILITIES
1. Shareholders Funds:
{a) Share Capital
(1} Equity Share Capital 60,00,000 60,00,000
(if) Preference Share Capital 15,00,000 15,00,000
(b} Reserve and Surplus 15,00,000 i 8,00.000
2. Non-current Liabilities:
(a) Long-term borrowings 30,00,000 27,00,000
3. Current Liabilities:
(a) Short-term borrowings 15,00,000 18,00,000
________ (5) Qther current liabilities | 12:00.000] 1320000




29.
30.
31
32.
33,
34,

36.

37

(c) Short-term provisious 3,00,000 3,30,000
1,50,00,000 | 1,54,50,000

1I. ASSETS
1.  Non-carrent Assets
(&) Fixed Assets

() Tangible assets 90.00,000| 1,08.00,000
(i) Intangible assets . 15,00,000 15,00,000

2. Current Assets
(¢} Cash and cash equivalents 45,00,000 31.50,000

1,50,00,000 ( 1,54,50.000

What is meant by Ratio Analysis?

List out the Liquidity Ratios.

What are Turnover Ratios?

What do you understand by Operating Ratios and Stock Turnover Ratio?
Briefly explain the objectives of Ratio Analysis.

What are the Limitations Ratio Analysis.

Discuss some of the important ratios usually worked from the financial
statement showing how they would be useful to top level management.

“Ratio analysis is 4 tool 10 examine the health of a business with a view to
make the financial results more intelligible”.

Discuss the significance of various accounting ratios in the analysis of

" financial statements.

Analysis of Financial
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Structure
;
5.1. Definition of Working Capital g
5.2. Nature and Scope of Working Capital

5.3. Learing Objectives

5.4. Tntroduction to Working Capital

5.5. Types of Working Capital

5.6. Needs of Working Capital

5.7. Computation (OR Estimation) of Working Capital: Working Capital Cycle

5.8. Introduction

5.9. Meaning of Fund Flow Statement
5.10. Different Names of Fund Flow Statement
5.11. Managerial Uses of Fund Flow Statement
5.12. Limitations of Fund Flow Statement
%.13. Steps in Preparation of Fund Flow Statement
14. Review Exercise

5.1. Definition of Working Capital

Capital of the concern may be divided into two major heading

Capital

Fixed Capital Working Capital

Fig. 5.1. Capital of the Business

Fixed capital means that capital, which is used for long-term investment of the
business concern. For example, purchase of permanent assets. Normally it consists
of non-recurring in nature.

Working Capital is another part of the capital which s needed for meeting day
to day requirement of the business concern. For example, payment to creditors, salary
paid to workers, purchase of raw maierials etc., normally it consists of recurring in
nature. It can be easily converted into cash. Hence, it is also known as short-term
capital.

There are some definitions given by experts, such as:
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According to the definition of Mead, Baker and Malott, “Working Capital
means Current Assets”. According to the definition of J.8. Mill, “The sum of the
current asset is the working capital of a business . —

According to the definition of Weston and Brigham, “Working Cupital refers
o a firm's investment in shori-term assels, cash, shovt-term securities, accounts
receivables and inventories’.

According to the definition of Bonneville, “Any acquisition of funds which
increases the current assets, increase working capital also for they are one and the
same”. According to the definition of Shubin, “Working Capital is the amount of
Sfunds necessary to cover the cost of operating the enterprises”.

According to the definition of Genestenberg, “Circuluting capitul means
current assets of a company that are changed in the ordinary course of business from
one form to another, for example, from cash'to invenlories, inventories to receivables,
receivables fo cash’™.

5.2. Nature and Scope of Working Capital

Working capital can be classified or understood with the help of the following
two important concepts.

5.3. Léarning Objectives

After going through this unit you should be able to:
» cxplain nature, scope and definition of working capital.
» illustrate working capital cycle.
+ assess and compute the working capital management.
* describe profitability through liguidity trade-off and working capital policy.
» state overview of working capital management.

5.4. Introduction to Working Capital

Working capital management is also one of the important parts of the financial
management. It is concerned with short-term finance of the business concem which
is closely related trade between profitability and liquidity. Efficient working capital
management leads to improve the operating performance of the business concern and
it helps to meet the short term liquidity. Hence, study of working capital management
is not only an important part of financial management but also are overall management
of the business concern, '

Working capital is described as the capital which is not fixed but the more
common uses of the working capital is to consider it as the difference between the
book value of current assets an current liabilities. This unit deals with the following
important aspects of the working capital management:

* Meaning of Working Capital

e Concept of Working Capital

* Types of Working Capital

* Needs of Working Capital

Self-instructional Material
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» Factors determining Working Capital

¢ Computation of Working Capital

¢ Sources of Working Capital

* Working Capital Management Policy

* Working Capital and Banking Committee

~ Gross
E[# Working

#Capital

Fig. 5.2. Working Capital Concept
Gross Working Capital v

Gross Working Capital is the general concept which determines the working
capital concept. Thus. the gross working capital is the capital invested in total current
assets of the business concern.

GWC=CA

Net Working Capital

Net Working Capital is the specific concept, which, considers both current assets
and curent liability of the concern. Net Working Capital is the excess of current
assets over the current liability of the concern during a particular period.

If the current assets exceed the current liabilities it is said to be positive
working capital; it is reverse, it is said to be Negative working capital.

NWC=CA-CL

Component of Working Capital

Working capital constitutes various current assets and current liabilitics. This
can be illustrated by the following chart.

Woking Capital

—» Cashin Hand —» Bills Payable

—» Cashin Bank —» Sundry Creditors

—» Bills Receivable —» Outstanding Expenses

——» Sundry Debtors —» Short-term Loans and Advances
—» Shotr-term Loans Advances —» Dividend Payable

= Inventories —» Bank Overdraft

l—» Prepaid Expenses —» Provision for Taxation

—» Accrued income




5.5. Types of Working Capital

Working Capital may be classified into three important types on the basis of
time.

Permanent Working Capital

Tt is also known as Fixed Working Capital. It is the capital; the business concern
must maintain certain amount of capital at minimum level at ali times. The level
of Permanent Capital depends upon the nature of the business. Permanent or Fixed
Working Capital will not change irrespective of time or volume of sales.

Working Capital
I I
Permanent Temporary Semi Variable
Working Capital Working Capital Working Capital
| i
Permanent Temporary
Working Capital Working Capital

Fig. 5.3. Types of Working Capital

Permanent Working Capital

o«

L

Amount or
Werking Capital
Time

Fig. 5.4, Permanent Working Capital.

Temporary Working Capital

It ts also known as variable working capital. It is the amount of capital which is
required to meet the Seasonal demands and some special purposes. It can be further
classified into Seasonal Working Capital and Special Working Capital.

The capital required to meet the seasonal needs of the business concem is called
as Seasonal Working Capital. The capital required to meet the special exigencies such
as launching of extensive marketing campaigns for conducting research, etc.

Semi Variable Working Capital

Certain amount of Working Capital is in the field level up to a certain stage and
after that it will increase depending upon the change of sales or time.

Fund Flow Statement
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Amount
of Working Ternporary

Capital Working
Capital

Time

Fig. 5.5. Temporary Working Capital
Semi Variable Working Capital —
Amount of | ——————
Working Capital

Time

Fig. 5.6. Semi Variable Working Capital

5.6. Needs of Working Capital

Working Capital is an essential part of the business concern. Every business
concern must maintain certain amount of Working Capital for their day-to-day
requirements and meet the short-term obligations. Working Capital is needed for the
following purposes.

1.

Purchase of raw materials and spares: The basic part of manufacturing
process is, raw materials. It should purchase frequently according to the
needs of the business concern. Hence, every business concern maintains
certain amount as Working Capilal to purchase raw materials, components,
spares, etc.

Payment of wages and salary: The next part of Working Capital is
payment of wages and salaries to labour and employees. Periodical
payment facilities make employees perfect in their work. So a business
concern maintains adequate the amount of working capital to make the
payvment of wages and salaries.

Day-to-day expenses: Abusiness concern hasto meetvarions expenditures
regarding the operations at daily basis like fuel, power, office expenses,
elc.

Provide credit obligations: A business concern responsible to provide
credit facilities to the customer and meet the short-term obligation. So the
concern must provide adequate Working Capital.

Working Capital Position/Balanced Working Capital Position

A business concern must maintain a sound Working Capital position to improve
the efficiency of business operation and efficient management of finance. Both




excessive and inadequate Working Capital lead to some problems in the business Fund Filow Statement
concern.

A.Causes and effects of excessive working capital

e Excessive Working Capital leads to unnecessary accumulation of raw
materials, components and spares. Notes

¢ Excessive Working Capital results in locking up of excess Working Capital.
o [t creates bad debts. reduces collection periods, etc.

| ¢ It leads to reduce the profits.

B. Causes and cffects of inadequate working capital
» lInadequate working capital cannot buy its requirements in bulk order.

o It becomes difficuit to implement operating plans and activate the firm's
profit target.

e [t becomes impossible to utilize efficiently the fixed assets.

¢ The rate of return on investment also falls with the shortage of Working
Capital.

¢ [t reduces the overall operation of the business.

5.7. Computation (OR Estimation) of Working Capital:
Working Capital Cycle

Working Capital requirement depends upon number of factors. Now the
discussion is on how to calculate the Working Capital needs of the business concern.
It may also depend upon various factors but some of the common methods are used
to estimate the Working Capital.

A. Estimation of Components of Working Capital Method

Working capital consists of various current assets and current liabilities. Hence,
we have to estimate how much current assets as inventories required and how much
cash required to meet the short term obligations. Finance Manager first estimates the
assets and required Working Capital for a particular period.

B. Percent of Sales Method

Based on the past experience between Sales and Working Capital requirements,
a ratio can be determined for estimating the Working Capital requirement in future.
It is the simple and tradition method to estimate the Working Capital requirements.
Under this method, first we have to find out the sales to Working Capital ratio and
based on that we have to estimate Working Capital requirements. This method also
expresses the relationship between the Sales and Working Capital.

C. Operating Cycle

Working Capital requirements depend upon the operating cycle of the business.
The operating cycle begins with the acquisition of raw material and ends with the
collection of receivables. Operating cycle consists of the following important stages:

1. Raw Material and Storage Stage, (R)
2. Work in Process Stage, (W)
3. Finished Goods Stage, (F)
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4. Debtors Collection Stage, (D)
5. Creditors Payment Period Stage, (C)

] O=R+W+F+D-C ]

Fig. 5.7. Working Capital Cycle

Each component of the coperating cycle can be calculated by the following

formula:
Average Stock of Raw Material

R = Average Raw Material Consumption Per Day
W Average Work in Process Inventory
Average Cost of Production Per Day
F Average Finished Stock Inventory
Average cost of Goods Sold Per Day
D Average Book Debts
Average Credit Sales Per Day
C = Average Trade Creditors
Average Credit Purchase Per Day
Sources
I Long-term | | Short-term |
Shares Debenture Public Loz}ns Retined
Deposit  from Earning ‘ Arrangements
Financial - Installment
Institutions Bank Order
Loan and | | Advances
Credit
Short-term
Instruments

Fig. 5.8. 72277




The above sources are also classified into internal sources and external sources
of working capital. Internal sources such as:

s Retained Earnings

¢ Depreciation Funds etc.

External sources such as:

¢ Debentures and Public Deposits

* Loans from Banks and Financial Institutions
« Advances and Credit

¢ Financial arrangements like Factoring, etc.

5.8. Introduction

The traditional concept of profit and loss account and balance sheet has a limited
role to play in financial analysis. The profit and loss account reflects the results of
the business operations for a specified period of time. It takes into account only the
expenses incurred and income received during the accounting period. The balance
sheet gives a summary of the assets and liabilities at a particular period of time. And
at the same time, balance sheet does not explain the details about the movement of
funds. In actual practice, a business concern receives funds from various sources and
invested in various ways of investment. It is a continuous process. The ultimate aim
of the financial management is 10 study and control these funds in order to maintain
the solvency and financial soundness of the firm. For the purpose of complete study
of sources and applications of funds over the accounting period. a separate statement
is essential to find the periodical increase or decrease of such funds of an enterprise.
This statement is called fund flow statement.

5.9. Meaning of Fund Flow Statement

The fund flow statement is a statement which reveals the methods by which the
business has been financed and how it has used its funds between two balance sheet
dates.

In the words of Foulke : “A statement of sources and application of funds is
a technical device, designed to analyse the changes in the financial conditions of a
business enterprise between two balance sheet dates.”

5.10. Different Names of Fund Flow Statement

A statement of sources and application of funds
A statement of sources and uses of funds
Where Got and where Gone statement
Inflow-outflow of fund statement

Statement of funds supplied and applied; funds received and disbursed statement

5.11. Managerial Uses of Fund Flow Statement

Fund flow statement is an invaluable analytical tool for a financial manager
for the purpose of evaluating the employment of funds by a firm and also to assess

Fund Flow Statement
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10.

L

sources of such funds. Following are the important managerial uses of fund flow
statement,

The foremost use of the fund flow statement is to explain the reasons for
changes in the assets and liabilities between two balance sheet dates.

Fund flow statement gives details about the funds obtained and used in past.
Based upon this detail, manager can take correct actions at appropriate
times.

Fund flow statement acts as a control device when compared with budgeted
figures. 1t also gives guidance to the finance manager for taking remedial
action if there is any deviation.

It helps the management to formulate various financial policies—viz
dividend, bonus etc.

It gives guidance to the management with regard to working capital.
Through fund flow statement, management can take proper steps for
effective utilisation of surplus working capital or in case of inadequacy,
suitable arrangement can be made for improving the working capital
position,

It identifies the strong and weak financial areas of the firm.

It gives the answers for various financial intricate questions ;

— How much funds were generated ?

— How were the funds used ?

Effective utilisation of available resources and scarce resources should be
allocated according to the preferential needs.

With the help of the fund flow statement, financial and lending institutions
can easily evaluate the credit worthiness and repaying capacity of the
borrowing company.

It enables the management to reformulate the firm’s financial activity on
the basis of the statement.

5.12.

Limitations of Fund Flow Statement

In the real sense, the fund flow statement lacks originality, because it is
only a rearrangement of data given in financial statements.

It indicates only the past year’s performance and is not for the future. Even
to prepare projected fund flow statement. it cannot show much accuracy.
It cannot reveal continuous changes. Because, only any particiilar two
years are taken into account for analysis purpose.

Fund flow statement is not a substiiute for a financial statement. It gives
% - . - - L}
only some informations about changes in working capital alone.

5.13. Steps in Preparation of Fund Flow Statement

() Preparation of fund flow statement.

(i) Preparation of statement of changes in working capital.




(iif) Preparation of adjusted profits and loss account (to find out fund from
operation or fund lost in operation).

(iv} Adjustment and their treatments,
(v} Preparation of separate ledger.

(vi) Treatment about the proviston for taxation and proposed divider.

NOTE: Fund flow statement alone is a major part of the solution: remaining other

treatment of provision for taxation and proposed dividend, adjustment
etc were supported to work the fund flow statement.

things i.e., working capital statement, P.L. A /c. preparation of ledger. |,

l. Preparation Fund Flow Statement

Here we have to prepare the fund flow statement in the T Shape

I. Fund Flow Statement ; (Specimen form)

i

Amount sApplications of Funds Am@oun_t
. by iy b %
Issue of shares Redemption of redeemable XX
.| Issue of debentures Preference shares XX
Loan borrowed Redemption of debentures XX
{Long term, medium term) Repayment of loans XX
Acceptance of deposits XX Repayment of deposits XX
Sate of fixed assets XX Purchase of fixed assets XX
Sale of investments (Long term} XX Purchase of long tem XX
investments
Decrease in working capital XX Payment of dividend XX
{Transfer from working capital Income tax paid XX
statements)
Fund from operation XX Increase in working capital XX
{Transfer from P&L Afc Fund loss in operation XX
Working capital statement) {Transfer from P&L Afc)

II. Working Capital Statement

For the purpose of finding out increase or decrease in working capital, we have
to prepare statement of changes in working capital. [TCA-TCL=WC(C]

Particulars Year I Year I1

Current Assets

Cash in hand XX XX
Cash at bank XX XX
Sundry debtors XX XX
Bills receivable XX XX
Marketable securities XX XX
Inventory XX XX
Prepaid expenses XX XX

Fund Flow Statement
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Short term investment

Accrued incomes

Total Current Assets (TCA) (A)

Current Liubilitics
Sundry Creditors
Bills payable
QOutstanding expenses

Bank overdraft

Income received in advance

Short term loans
Cash credit from bank
Proviston for taxation

Proposed dividend

Provision against current assets

Provision for doubiful debts
Total Current Liahilities (TCL) (B)

Working Capital (A-B)
Increase of Decrease
[TAC - TCL = W(C}

XX
XX
XX

XX
xX
XX
XX
XX
XX
XX
XX
XX
XX
XX
XX
XX
XX

XX
XX
XX

XX
XX
XX
XX
XX
XX
XX
XX
XX
XX
XX
XX
XX

After the computation of working capital, we have to find out the increase or

decrease in working,

1. Fund from Operation : Fund from operation is found out by two

methods

(#) Statement method.

(/1) Accounting method.

Normally. accounting method is easy and convenient. So, we have 10 adopt
accounting method i.e., profit and loss account is used to find out the fund from
operation. Here, profit and loss account is prepared in a usual procedure.

P.aﬁ%ﬁ;‘?s ' :\%owi By Amom‘f;%i

To Goodwilt written ofl XX By Balance b/d XX
To Preliminary expenses written off XX By Profit on sale of fixed assets XX
To Patents written off ’ XX

To Depreciation XX By Interest sale of investment XX
To Dividend paid XX By Any other non-operating incomes XX
Ta Provision for (axation XX XX
To Loss on sale of fixed assets XX By Fund from operation xX
To Discount on issue of shares XX




To Interim dividend paid XX
To Balance c/d XX
To Fund operation XX
To Fund operation XX XX

1V, Important adjustments and their treatments

All the adjustments appear in two places

Adjustment Treatment

1. Depreciation — P.L.A/c debit side

Respective asset Afc credit side
2. Dividend paid — P.L. A/c debit side

Fund flow statement Application side
3. Income tax paid — Income tax A/c debit side

Fund flow statement—Application side
4, Income tax provision — PL. A/c debit side

Income tax A/c credit side
5. Loss on sale of fixed — PL.A/ec debit side

Assets Respective asset Afc credit side
6. Interim dividend paid  — PL . A/c debit side

Fund flow statement—Application side

V. Preparation of separate ledger A/c, if necessary Le., about the non-
current (either Assets or Liability) items related information given in the
adjustment means we have to prepare separate ledger. Balances from this
fedger can be transferred to fund flow statement means we have to prepare

a separate ledger. Balances from this ledger can be transferred to fund flow:

statement.
V1. Treatment about the provision for taxation and proposed dividend

Provision for taxation and proposed dividend taken as current liability means it
should appear under working capital statement.

Some times, regarding the provision for taxation, information is given in the
adjustment. So, it should be treated as non current liability. Provision for taxation
taken as non-current liability means proposed dividend is also taken as a non-current
liability.

(&) Treatment of provision for taxation

(/) Income Tax provided given in the adjustment, we have to find the tax
paid-P.L. A/c debit side
Income Tax A/c credit

(Balancing figure of taxation A/c is called tax paid and then it is
transferred to Applications side)

(i) Income tax paid given in the adjustment, we have to find the income
tax provision.

Fund Flow Statement
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Fund flow statement — application side
Income tax A/c — debit side

(Balancing figure of taxation A/c is called tax provided and then it is
transferred to P.L. A/c debit side)

(b) Treatment of proposed dividend

Whenever provision for taxation is treated as non-current liability,
proposed dividend is also taken as non-current liability. At that time, the
following rufes will be applicable.

Last year amount — application side

Current year amount : profit & loss A/c debit side.

[ Y

% .f. . slllustrations and Solutions:

Hiustration 1. The following are the summarised balance sheets of M/s. Krishna
Lid. as on 31.12.2019 and 2021

Liabilities 2019 Rs. 2020 Rs.
10% preference shares 1,00,000 1,190,000
Equity Shares 2,20,000 2,50,000
Share premium 20,000 26,000
Profit & Loss A/c 1,04,000 1,34,000
12% debentures 70,00 64,000
Creditors 38,000 46,000
Bills Payable 5,000 4,000
Proviston for tax 10.009 12,000
Dividend Payable 7,000 8,000
5,74,000 6,54,000
Assets 2019 Rs. 2020 Rs.
Machinery 2,00,000 230,000
Buildings 1,50,000 1.76,000
Land 18,000 18,000
Cash 42,000 32,000
Debtors 38,000 38,000
Bills receivable 42,000 62,000
Stock 84.000 98,000
5.74,000 6,54,000

You are required to prepare a statement of sources and application of funds

Selution : Fund Flow Statement




Particulars = Fund Flow Statement
Issue of preference shares §0.000 | Purchase of machinery
Issue of Equity shares 30,000 | Purchase of Building Notes
Share premium received 6,000 | Increase in working capital 14,000
Fund from operation 30.000 | Redemption of debenture 6,000
76,000 76,000
Working : (i) Statement of changes in working capital
2019 2020
T 4
Current Assels:
Cash 42,000 32,000
Debtors 38.000 38,000
Bills receivables 42.000 62.000
Stock 84,000 98,000
Total current assets 2,06.000 2,30,000
Current Liabilities :
Creditors 38,000 46,000
Bitis payable 5,000 4,000
Provision for Tax 10,000 12,000
Dividend payable 7,000 8,000
Total current fiabilities 60.000 70.000
Working capital 1,46,000 1.60,000

Increase in working capital : ¥ 14000 (1,46,000 — 1,60,000)
[Transfer to Fund Flow Statement]
(/) Profit and Loss Account

To Balance b/d (Closing) 1,34,000 { By Balance c/d (Opening) 1.04.000
By Fund from operation 30,000
1.34.000 £,34.000

Hlustration 2. From the following balance sheets, prepare schedule of changes
in working cupital.

Liabilities Dec. 1980 Dec. 1981 Assets Dec. 1980  Dec. 1981

T 4 4 4
Share capital 200,000 250,000 Cash 30.000 47,000
Creditors 70,000 45.000 Debtors 1,20,000 1.15.000
Retained Land 50,000 66,000
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Eamings 10,000

23,000  Siock 80,000

2,80,000

90,000

3,18,000 2,80,000

Solution :

3,18,000

Fund Flow Statement

W BAmount )|t *&?%%’PH |t|£t;?§rs T
NPT N S P il B S
Issue of shares 50,000 | Purchase of Land 16,000
Fund from operation 13,000 | Increase in working capital 47,000
63,000 63,000
Working : (/) Statement of changes in working capital
1980 1981
4 4
Current Assets:
Cash 30,000 47,000
Debtors 1,20.000 1,115,600
Stock 80,000 90,000
Total current assets 2,30,000 2,532,000
Current Liabilities :
Creditors 70,000 45,600
Total current Liabilities 70,000 45 000
Working capital 1,60,000 2,07,000
Increase in working capital : {1,60,000 —2,07,000)
(i) Profit and Loss Account
To Balance b/d 23,000 | By Balance c/d 10.000
By Fund fiom operation (B/f) 13,000
23,000 23,000

Hlustration 3. The following are the summarised balance sheets of X Lid., as on

371 December 2018 and 2019,

31" Dec. Assets 31 Dec.

Liabilities 2018 2019 2018 2019

T 3 4 4
Redeemable Preference
Shares 10,000 Fixed Assets 41,000 40000
Equity shares 40,000 40.000 Less : Depreciation 1LG0G 15000
General Reserve 2,000 2,000
Profit & loss A/c 1000 £.200 20000 25,000
Debentures 6,000 7,000 Debhtors 20,000 24.000

’




Creditors 12,000 11,000 Stock 30,000 35000  FundFlow Statement
Provision for Tax 3000 4200 Prepaid exp. 300 300
Proposed dividend 350600 3800 Cash L2006 3,500
Bark uverdraft 12,500 6,800 Notes
81,500 | 83.000 81,500 | 88.000
You are required to prepare :
1. A statement showing changes in the working capital
2. A statement of sources and application of funds.
Solution : Fund Flow Statement
' _ _'Sﬁilrce 6ﬁ“1’lhd_s . ) “:% ) Appli(ia_:f_ionl?it[I:Imﬂd'S; N o T "
Issue of preference shares 10,000 | Increase in working capital 16.200
Issue of Debentures 1,000
Sale of fixed assels 1,000
Fund from operation 4,200
16,200 16,200
Working : (/) Statement of changes in working capital
2018 2019
4 4
Current Assets:
Debtors 20,000 24,000
Stock ' 30,000 35,000
Prepaid Expenses 300 300
Cash 1,200 3,500
Total Current Assets 51,500 63.000
Current Liabilities :
Creditors 12.000 11,000
Provision for tax 3,000 4.200
Proposed Dividend 5.000 5,800
Bank Overdraft 12,500 6,300
Total current liabilities 32,500 27.800
Working capital 19.000 35,200
Increase in working capital 16.200 (19,000 - 35,200)
Hint : Provision for taxation and proposed dividend taken as current liabilities.
(if) Profit and Loss Account
To Balance b/d 1,200 By Balance ¢/d 1.000
To Depreciation 4,000 By Fund from operation 4,200
5,200 5,200
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Hiustration 4. From the following balance sheets, prepare a statement showing
changes in working capital during 1993.

Balance sheer of Pioneer Lid. as on 31st December:

Liabilities 1994 ) 1995 )
Share capitad 3,00,000 6.00.000
Reserves 130,000 1,880,000
PL Al 40,000 63,000
Debentures 300,000 2,350,000
Creditars for goods 1,70.000 1.60.000
Provision for income tax 60,000 80,000
12,20.000 13,353,000
Assets 2018 ) 2019 (%)
Fixed assets 10.00,000 11,20,000
Less . Depreciation 3,70,000 460,000
6.30,000 6,60,000
Stock 2,40.600 3,70,000
Book debts 2,50,000 2.30,000
Cash in hand and at Bank Balance 80,000 60.000
Preliminary Expenses 20,000 15,000
12,20,000 13,33.000

Solution : Fund Flow Statement ]

i Source of funds _ . Application of funds L I
Issue of shares 1,00.000 | Redemption of debentures 50,000
Fund from operation 1.50.000 | Purchase of fixed assets 1,20,000

Increase in working capital 80,0600

2,50,000 2.50,000

Working : (/) Statement of changes in working capital
1994 1995
T 4
Current Assets:

Stock 2,40.000 3.70.000
Book Debts 2,40,000 3,70,000
Cash in hand & Bank Balance 80,000 . 60,000
Total Current Assets _S'W 60,000

Current Liabilities :




Creditors for goods
Provision for income tax
Total current liabilities
Working capital

Increase in working capital

1,70,000
60,000

2,30,000
3.40.000

80,000

1.60.000

20,000
2,40,000
4,20,000

3,40,000 — 4,20,000

Hint : Provision for taxation and proposed dividend taken as current liabilities.
(if) Profit and Loss Account

3 T
To Balance b/d 65,000 By Balance c/d 40,000
To Reserves 30,000 By Fund from operation | 1,50,000
To  Preliminary  expenses
written off 5,000
To Depreciation 90,000
1,90.000 1,90,000

Htustration 5. Calculaie fund from operation from the information given below

as on 31.3.2000.

1. Net profit for the vear ended 31.3.2000 3 6.50,000.

2. Gain on sale of buildings ¥ 35,500.

3. Goodwill appears in the books at ¥ 1,80,000 out of that 10% has been
written off during the vear.

4. Old machinery worth T 8,000 has been sold for T 6,500 during the year.

5. ¥ 1,25,000 have been transferred to reserve fund.

6. Depreciation has been provided during the year on machinery and fumniture

at 20% whose value is T 6,50.000.

Solution:

Net profit for the year ended 31.3.2019
Add ; Non fund items : {P.L. A/c Debit side items]

Goodwill written off
(£,80.000 = 10/100)

Loss on sale of machinery
{8000 — 6500)

Transferred to Reserve fund

Depreciation
(6.50,000 = 20/i00)

»

Calculation of Fund from Operation

T

18,000

1,500

1.25.600

1.30,000

4
6,50,000

2,774,500

9,24,500

Fund Flow Statement
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Practice
Gain on sale of Buildings 35,500
Fund from operation 8,89,000
Notes {lfustration 6. From the following balance sheets of a sole trader, prepare a

Jund flow statement.

Liahilities 1999 2000 Asyets 1999 2000
3 4 4 L4
Capital 63,000 100,000 Cush 15,000 20,000
Long term loans 30,000 60,000 Debiors 30,000 28,000
Tirade creditors 42,000 39,000 Stock 35,000 72,000
Bank overdraft 35,000 25000 Land & Building 80.000  1,00,000
Outstanding expenses 3,000 6,000 Furniture 15,000 10,000 i
195000 2,30,000 1,953,000 230,000
Solution : Fund Flow Statement
Loan borrowed 10,000 [ Purchase of Land & Buildings | 20,000
Sales of Fumiture 3,000 | Increase in working capital 32,000
Fund from operation 37.000
52,000 52,000
Working : (/) Statement of changes in working capital
1999 2000
4 4
Current Asscts:
Cash 15,000 20,000
Debtors 30,000 28,000
Stock 55,000 72.000
Total Current Assets 1.00.000 £,20,000
Currernt Liahilities :
Trade creditors 42,000 39,000
Bank overdraft 35.000 23,000
Quistanding expenses 5,000 6.000
Total current liabilities 82,000 70,000
Working capital 18,000 50,000
Increase in working capital 32,000 (18,000 — 50,000)

(i) Capital Account
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To Balance c¢/d 1,00,000 By Balance b/d 63,000
By PL.A/c 37,000
1,00,000 1,00.000

(i) Profit and Loss Account

To Capital Account 37,000 By Fund from operation 37,000
37,000 37,000

Hiustration 7. Following are the comparative bulance sheets of « HAL company
Jor the year 1989 and 1990.

Balance Sheet

Liubilities 1989 1990 . Assels F989 1994
4 4 4 4

Share capital 70.000 74,000 Cash 9.0G0 7.800
Debentures 12,000 6,000 Debtors 14,900 17,700
Creditors 10,360 11,840 Stock 49,200 42,700
Profit & loss Afc 10,740 11,360 Goodwill 10,000 3.000
Land 20,000 30.000

103,100 1.03.200 103,100 1,063,200

The following additional information is also available :
(i} Dividends were paid rotalling T 4.000.

(i) Land was purchased for X 10,000, You are required 1o prepare fund flow
statement.

Solution : Fund Flow Statement -

r B '3 |z Application of finds 3
Issue of shares 4,000 | Redemption of Debenture
Fund from operation 9,620 | Dividend paid
Decrease in working capital 6,380 | Purchase of Land
20,000
Working : (f) Statement of changes in working capital
1989 1990
4 L4
Current Assels:
Cash 9,000 7,800
Debtors 14,900 17,700
Stock 49200 42,700
Total Current Assets 73,100 68,200

Fund Flow Statement
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Current Liabilities :

Creditors _ 10,360 11,840
Total current liabilities 10,360 11,840
Working capital 62,740 56,360
Increase in working capital (62,740 - 56,360) 6,380
(i) Profit and Loss Account

To Balance ¢/d 11,360 By Balance b/d 10,749
To Goodwill written of 5,000 By Fund from operation 9,620

To Dividend Paid 4,000
20,360 20,360

(iiiy Land Account

To Balance b/d 20,000 By Balance b/d 30,000

To Cash 10,000
30,000 30,000

Hastration 8. From the following balance sheets of AMB Lid. as on 31.12.2018
and 2019, prepare a schedule of changes in working capital and fund flow statement.

Lichilities

Share capital
General reserve
PL Al

Sunddry creditors
Bills payable

Provision for Tux

Balance Sheet

Provision for doubtful debis

Assets

Goodwill
Buildings
Plant
Investments
Stock

2018
T

1,00,000
14.000
16,000
8,000
1.260
16,000
400
1,535,600

2018
4
12,600
40,000
37.000
10,000
30,000

2019
4

A.00,000

18,000
13,000
3,400
500
18,000
600

2019
T
12,600
36,000
36,000
11,000
23,400




Bills receivable 2,000 3.200
Debtors 18,000 19 000
Cash at hank 6,600 13,200
1,535,600 1.55.800
The following additional information is also available :
1. Depreciation charges on Plant & Buildings at T4,000 each.
2. Provision for taxation of X19.000 was made during the year 2019.
3. Interim dividend of X 8,000 was paid during the vear 2019,
Solution: Fund Flow Statement
,__Sowrccoffands | T gly  Applicationoffunds  [¥ 2
Fund from operation 36,000 | Increase in working capital 7.000
Interim dividend paid 8,000
Tax paid 17.000
Purchase of Plant 3,000
Invesiments 1,000
36,000 36,000
Workings: (7) Statement of changes in working capital
Current Assets : 2018 2019
Stock 30,000 23,400
Bills receivable 2,000 3,200
Debtors 18.000 19,000
Cash at Bank 6,600 15,200
Total current assets 56,600 60,800
Current Liabilities ;
Sundry creditors 8,000 5,400
Bills payable 1,200 800
Provision for Doubtful debts 400 600
Total current liabilities 9,600 6,300
Working capital 47.000 54,000
Increase in working capital (47,000 — 54,000} 7,000
(/) Profit and Loss Account
| To Balance ¢/d 13,000 | By Balance b/d 16,000
To Depreciation on Buildings 4,000 | By Fund from operation 36,000
To Depreciation on Plant 4,000
To Income tax provided 19,000

Fund Flow Statement

Notes
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To Enterim dividend paid 8,000
To General reserve 4,000
52,000 52,000
(iify Provision for Taxation Account
To Balance b/d 18,000 | By Balance b/d 16,000
Ta Cash (Tax Paid) 17,000 | By PLA/ 19.000
(Income Tax Provided}
35,000 35,000
{iv)} Building Account
To Balance b/d 40,000 | By Balance b/d 36,000
By Depreciation 4,000
40,000 40.000
(v} Plant Account
To Balance b/d 37,000 | By Balance b/d 36,000
To Cash (Purchase) 3,000 | By Depreciation 4.000
40,600 40.000
Hiustration 9. From the following balance sheets of Fxe Ltd. prepare
(«) A statement of chunges in working capital
(h) A fund flow statement
Liabifitics 1999 2000 Assels 1999 2000
g 4 4 L4
Egunity share capital 300000  4,00.000 Goodwill 1,15.000 20,000
Redeemable preference Land & Building 200000 170,000
stare capiral L30.000 100000 Plam 80000 2,00.000
General reserve +0.000 70,000 Debtors 1.60.000  2,00.000
Profit & Loss 4/c 30.000 48,000 Srock 77,000  1.09.000
Proposed dividend 42,000 30,000 Bills receivable 20,000 30.000
Creditors 55,000 83,000 Cashin hand 15,000 10,000
Bills pavable 20.000 16,000 Cash ar bank 1H0.000 &.000
Provisian for taxation 40,000 50,000
6.77,000 817,000 677,000 817,000

The following additional information is also available :

(@) Depreciation of T 10,000 and X 20,000 have been charged on plant
and land buildings respectively in 2000.

(b} A dividend of T 20,000 has been paid in 2000.
(c) Income tax of X 35,000 has been paid during 2000




Solution: Fund Flow Statement Fund Flow Statement
s ‘Sourceof funds e o X * Application of funds, | &%
Issue of Equity shares 1,00,000 | Redemption of Redeemabie 50,000
Sales of Land & Building 10.000 | Dividend paid 20,000 Notes
Fund from operation 2,118,000 [ Income tax paid 35,000
Purchase of Plant 1,30,000
Proposed dividend paid 42,000
Increase in working capital 51,0600
3,28,000 3,28,000
Workings: (9) Statement of changes in working capital
Current Assets : 1999 % 2000%
Debtors 1,60,000 2,00,000
Stock 77,000 1.09,000
Bills receivable 20,000 30.000
Cash in hand 15,000 10,000
Cash at Bank 10,000 8,000
Total current assets 2,82,000 3,572,000
Curremt Liabilities :
Creditors 55,000 83,000
Bills payable 20,000 16,000
Total current liabilities 75,000 89,000
Working capital 2.07,000 2,58.000
Increase in working capital 51,000 (2,58,000 — 2,07,000)
(i7) Profit and Loss Account
To General Reserve 30,000 | By Balance c/d 30.000
To Goodwill written off 25,000 | By Fund from operation 2,18,000
To Depreciation on Plant 10,600
To Depreciation of Building | 20,000
To Dividend paid 20,000
.To Balance c/d 48.000
To Income Tax provided 45,000
To Proposed dividend 50,000
2,483,000 1,48,000
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(i) Provision for Taxation Account

To Cash (Tax Paid) 35,000 | Bv Balance b/d 40,0600
To Balance ¢/d 50,000 | By PL. Afc 45,000
85.000 85,000

(iv) Land & Building Account

To Balance b/d 2,00,600 | By Depreciation 20,000
By Balance c/d 1,70,000

By Cash (Sale) 10,000

2,00,000 2,00,000

(v) Plant Account

To Balance b/d 80,000 [ By Depreciation 10,000
To Cash 1,30,000 | By Balance ¢/d 2.00,000
2,10,000 2,10,000

Hlustration 10. The following ave the summarised Balance Sheets of Lucky Lid.
as on 31.12.96 and 1997.

Liabilities 1996 1997 Assets 1996 1997
4 4 T 4

Share capital 2.00000 250,000 Land & Buildings  2,00,000 1.90,000
(General reserve 50,000 60.000 Machinery 1.50.000  1,69,000
PL. Alc 30,500 30,600 Stock 1,00,000 74,000
Bank loan (Long tertn} 70,000 -— Sundry debtors 80,000 64.200
Sundry creditors £,50,600 135200 Cash 500 600
Provision for taxation 30,000 35,000 Bank — 8,000
Goodwill — 5,000

5,30,500 5.10.800 5.30.500  5,10,800

Additional information supplied during the year ended 31.12.2019:
(¢) Dividend of T 23,000 was paid.
(6) Assets of another company were purchased for a consideration of3 50,000
pavable in shares.
The following assets were purchased .
Machinery X 25,000 : stock T 20,000.
(¢} Machinery was further purchased for X 8,000
() Depreciation written off against machinery ¥ 12,000
() Income tax paid during the vear ¥ 33,000.
() Loss on sale of machinery T 200 was written off 1o general reserve.

(g) Depreciation charged against land & buildings was T 10.000. You are
required 1o prepare fund flow statement.




Solution: Fund Flow Statement
Soyrge of fund; g% | Avplicationoffunds | T
Sales of Machinery [,800 | Repayment of Bank loan 70,000
Fund from operation 93300 | Dividend paid 23,000
Decrease in working capital 18,900 | Purchase of Machinery 8,000
Issue of shares {For stock) 20,000 | Income Tax Paid 33,000
1,34.000 1,34,000
Workings: (/) Statement of changes in working capital
Current Assets : 1996 X 19973
Stock 1,00,000 74,000
Sundry Debtors 80,000 64,200
Cash 500 600
Bank — 8,000
Total current assets 1,80.500 1.46,800
Current Liabilities :
Sundry Creditors 1,50,0600 i, 35,200
Total current liabilities 1.50,000 1,35,200
Working capital 30,500 11,600
Increase in working capital 18,900 (30,500 - 11,600)

(i/) Profit and Loss Account

To Dividend paid 23,000 | By Balance b/d - 30.500
To Depreciation on Machinery 12.000 | By Fund from operation 93,300
To Depreciation on Land & 10.000
Building
To General Reserve 10,200
To Income Tax (provided) 38,000
To Baiance c/d 30,600
1,23,800 1.23,800
(ii) Provision for Taxation Account
4 4
To Cash 33.000 | By Balance b/d 33,000
To Balance c/d 35,000 | By Income (Tax provided) BF 38.000
68.000 68,000

Fund Flow Statement

Notes
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Practice
T T
To Balance b/d 1.50,060 | By Depreciation 12,000
Notes To Shares 25,000 [ By General Reserve 200
To Cash (Purchase) .000 | By Balance c/d 1,69,600
By Cash 1.800
1,.83,000 1,83,000

(v) Goodwill Account

4 4
To Balance b/d Nil | By Balance ¢/d 5,000
To Share 5,000

5,000 5,000

(vi) General Reserve Account

4 4
To Balance b/d 60,000 | By Balance b/d 50,000
To Loss on sale of Machinery 200 | By Profit & Loss Afc 10.200
60,200 60,200

{vif) Land & Buildings Account

T 4
To Balance b/d 2,00.000 | By Depreciation 10,000
By Balance ¢/d 1,90.000
2,00,000 2.00.000
(iv) Share Capital Account
T ¥
To Balance ¢/d . 2,50,000 | By Balance b/d 2,00,000
By Machinery 25,000
By Stock 20,000
By Goodwill 5,000
2,50,000 - | 2,50,000

(" NOTE: Total shares issued to 3 50,000. Among this I 25,000 as against\
machinery and 5,000 as against goodwill. Both are non current items.
[t should not affect the working capital. So. only ¥ 20,0600 issued as
against the stock. It should be treated as a source of funds. Because. it
\_ is a current asset. y
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Hlustration 11. From the following summarised financial statement of Anxious
Lid as on 30.04.2018, prepare
(¢) Statement of changes in working capital for the year ended 30.04.2018
and

(h) A statement showing sources and applications of funds during the same

period.
Liakilities 2017 2018 Assets 2017 2018
£ 4 4 4
Share cupital 10.00.000 13.50.000 Fixed assets (Netj  18,00,000 20,350,000
General reserve 300,000 6,000,000 hwvestments 2000600 250000
Profit & loss A/c LO0.600 130,000 Inventories 300000  7.00.000
Debentures 6.00,000  3.00,000 Debtors 3,835,000 6,40, 000
Sundry creditors 9.00.000 1050000 Cash 15,000 10,000
31,00.060 36,530,000 3100,600 36,350,000

During the year ended on 30.04.2018 depreciation charged on fixed assets
amounted 10 2,30,000. The final dividend for the year ended 30.04.2017 amounted
10%1,00,000 was paid on 05.01.2018.

Solution: Fund Flow Statement
% “Source of fiads 757 | "% Application of funds [ %
Issue of Shares 3.50.000 | Purchase of fixed assets 5,00,000
Fund from operation 5,00,000 | Purchase of Invesiments 50,000
Dividend paid 1,00,000
Increase in working capital 1,060,000
Redemption of debenture 1.00.000
8,50,000 8,50,000
Workings: (9 Statement of changes in working capital
Current Assets : 2018 () 2019 ()
Inventors 5,00,000 7.,00.000
Debtors 5,85.000 6.40,000
Cash 15,000 10,000
Total current assets 11,00,000 13,50,000
Current Liabilities .
Sundry creditors 9.00,000 10,50,000
Total current liabilities 9,00,000 10,50,000
Working capital 2,00,000 3,00,000

Increase in working capital 1,006,000 (2,00,000—3,00.000)

Fund Flow Statement

Notes

267

Seff-Instructional Material




Accounting Theory and
Practice

Notes

268 Self-Instructional Material

(/i) Profit and Loss Account

e o % :&i ) % . :
To General Reserve £,00,000 | By Balance b/d 1,00,000
To Dividend paid 1,060,000 | By Fund from operation 5.00,000
To Depreciation 1,356,000
To Balance ¢/d 2,50,000
6.00.000 6.00,000
(ii7) Fixed Assets Account
To Balatice b/d 18,006,000 | By Depreciation 2.50.000
To Cash 5.00.00¢ | By Balance ¢/d 20.50,000
23,00,000 23,00,000

Hlustration 12. From the following balance sheet you are required to prepare
schedule of changes in working capital and fund flow statement.

Balance Sheet

Liabilities 31388 31399 Assets 371.3.98 31.3.99
4 g 4 T
Share capital 30000 50,000 Cash 20,000 10,000
PL Al 80.000  1,10,006 Marketable securities 10,000 -
12% debentures - 30.006  Invesmment 60,001 1,00,000
Sundry creditors 20,000 25,000  Debrors 30,000 40,000
Bills pavable 20,000 3,000  Gross block {,00,000 1.40.000
Other  current 10,000 13,000 (=)  accumulated (40.000) (53,000)
fiabilities depreciation
£,80,000 235,600 1,80,000 235060
Solution: Fund Flow Statement
'- Souré%é%?ﬁfunds F i
Issue of Debentures B 30:000 Purchase 0 Gross block 40,000
Fund from operation 45,000 | [ncrease in working capital 35,(}00
75,000 75,000
Workings: (/) Statement of changes in working capital
Current Assels : 313983 31399
Cash 20,000 £0.000
Marketable securities 10,000 -
Inventories 60,000 1,00,300
Debiers

30,000

40,000




Fund Flow Statement

Total current assets 1.20.000 1,50,000
‘ Current Liahilities :
Sundry creditors 20,000 25,000
Bills payable 20,000 5,000 Notes
Other Current Liabilities 10,000 15,000
Total current liabilities 50,000 45,000
Working capital 70,000 £.05,000
Increase in working capital 35,000 (70,000 — 1.05.000)

(if) Profit and Loss Account

To Depreciation 15,000 | By Balance b/d 80.000

To Balance ¢/d 1,10,000 | By Fund from aperation 45,000
1.25,000 1,25,000

[ NOTE: Gross Block means total fixed assets. )

Hlustration 13. The following are the summarized balance sheets of KNP Lid.
on 3ist December 2002 and 2003,

Liabilities 2002 2003 Assers 2002 2003
4 T 4 4

Share capitol 1200000 1600000 Plamt & Machinery S.00,000  12,90.000
Debentures 4.00,000 6.00.000 Land & building 6.00,000 S,00.006
Profit & lass Arc 230000 500000  Stock 6,410,000 7.00.000
Creditors 2,306,000 1.80.06) Bunk 40,000 §0.000
Provision for Preliminary
Bad & doubtfil 12,000 6,006 FExpenses 14,000 12.000
debls
Depreciation  on 0,004 48,000

land & building

Depreciation  on o), 000 70.000

plant & machinery

24.92.000  30.04,000 21,92,000 30,804,000

The following adjustments are to be made:

I. During the year a part of machinery costing X 1,40,000 (accumulated
depreciation there on % 4,000) was sold for % 12,000.

2. Dividend of % 1,00,000 was paid during the year.

Prepare : (a) statement of changes in working capital, (b) Fund flow
statement
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Accounting Theory and Solution: Fund Flow Statement

Practice . . _
g Sourcttunds p5 | g7 Afplicition offundy | 3
Issue of Shares 4,00,000 | Dividend paid t.00,000
Notes Issue of Debentures 2,00.000 | Purchase of Plant & Machinery 6,30,000
Sales of Machinery 12,000 | Purchase of Land & Building 2,00,000
Fund from operation 4.98.000
N Increase in working capital 1,890,000
11.10,000 11,10,000
Workings: (¥) Statement of changes in working capital
Curreni Assets ; 2002 () 2003 )
Stock 6.00,000 7,00,000
Bank 40,000 £0.000
' Debtors 1,38,000 1,22,000
Total current assets 7.78.000 9,02.000
Current Liahilitics
Creditors 2,30,000 1,80,000
Provision for doubtful debts 12,000 6,000
Total current liabilities 2,42,000 1.86.000
Working capital 5.36.000 7,16,000
Increase in working capital 1,80.000 (5.36.000 — 7.16,000)

(i) Profit and Loss Account

Ta Depreciation By Balance b/d 2,50,0600
Plant & Machinery 14,000 | By Fund from operation 4.,98.000
Land & Butlding 8,000

To Preliminary Expenses
Written off 2,000

To Bividend paid 1,00,000

To Loss on sale of Machinery 1.24.000

To Balance c/d 3,00,000

7.48,000 . 7,48,000

(é5) Plant and Machinery Account

To Balance b/d 8.00,000 | By Cash 12,000
To Cash (Purchase) 6,30,000 | By Accumulated Depreciation 4.000
By Profit & Loss Afc 1,24,000

By Balance c/d 12,90,000

£4,30,000 14,360,000
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{iv) Accumulated Depreciation Account on Plant & Machinery

By Balance b/d
By Profit & Loss Alc

(Current year Depreciation)

60.000

14.000

To Balance c/d 73,000
To Machinery Alc 4,000
| 74,000

[ 74,000 1

(v) Land & Buildings A/c

To machinery A/c

To Balance b/d 6,00,000 | By Balance c/d 8.00,000
To Cash 2,00,000
$,00,000 8.00.000
(vi} Accumulated Depreciation Account on Land & Building
To Balance c/d 48.000 | By Balance c¢/d 40,000
By Profit & Loss Alc 8.000
48,000 48,000
NOTE :
Journal Entry for Ist Adjustment
Cash A/c Dr. 12,000 [Sale of machinery]
Accumulated depreciation A/c Dr. 4,000 [Depreciation]
Profit and Loss A/c Dr.  1,24,000 [Loss on sale of

machinerv)
1,40,00 [Cost of machinery]

HHustration 14. From the following balance sheets of a Indian Company Lid.
Yyou are required to prepare fund flow statement.

Liabilities Jan. flec. Assels Jun. Dec.
2002 2002 2002 2002
L4 g 4 4
Current Liabilities 30,0600 32,600 Cush 10000 44,400
Bonds pavable 22,000 22,000 Accomunts receivable 10000 20700
Bonds Pavable discounr (200G (1} .800)' Inventories 15,000 13,000
Capitad stock 35000 43300 Land 4,000 4,000
Reiained earnings 15,000 19500 Buildings 20,000 16,000
Fguipment 15,000 17,600
Accunlated

Depreciation (3.000) (2800
Patents £.000 900
LonOo0 113,200 LOBGNG 115200

Find Flow Statement

Notes
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The following additional information is also available:

() Income for the period ¥ 10,000.

(k) A building that costs T 4,000 and which had a book value of T 1,000 was

sold for T 1,400.

{c) The depreciation charged for the period was ¥ 800.

() There was an issue of connnon stock ¥ 3,000,
(¢) Cashdividend ofT 2,000 and X 3,500 stock dividend were declared.

Solution:

Fund Flow Statemerit

Sale of Building 1,400 | Purchase of equipment 2,000
Issue of Common stock 3,000 | Cash dividend paid 2,000
Funid from operation 10,700 | Increase in working capital 13,100
17,100 17100
Workings: {/) Statement of changes in working capital
Current Assets : Jan. Dec.
2002 %) 2002 (3)
Cash 40,000 44.400
Account receivable 10,000 i 20,700
Inventories: 15,000 15,000
‘ Total current assets 63,000 80.100
Current Liabilities :
Current Liabilities 30.000 32,000
Total current liabilities 30,000 . 32.000
Working capital 35,000 48,100
Increase in working capital — 13,100
[48,100 - 35,000]
N (/1) Profit and Loss Account
“To Loss on Bond By Balance b/d 15,000
Payable discount 200 | By Profit on sale of Building 400
To Patent written off 100 | By Fund from operation 10,700
To Cash dividend paid 2.000
To Depreciation 800
To Stock dividend 3,500
To Balance ¢/d 19,500
26,100 26,100
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(iif) Capital Stock Account

To Balance c/d 43,500 | By Balance ¢/d 35,000
By Cash 5,000

By Stock Dividend 3,500

43,500 43,500

(iv) Accumulated Depreciation Account

To Balance ¢/d 2,800 | By Balance b/d 5.000
To Buildings A/c 3,000 | By Profit & Loss A/c 800
5.800 5,800
(v) Buildings A/c
To Balance b/d 20,000 | By Cash 1,400
To Profit & Loss Afc (Profit on sale) 400 | By Accumuiated Depreciation 3,000
By Balance ¢/d 16.000
20,400 20,400
NOTE : ‘
Journal Entry for 1Ind Adjusunent
Cash Alc Dr. 1400 [Sale of Building]
Accumulated depreciation Afc Dr. 3,000 [Depreciation]
To Building Afc. 4,000  [Book value]
Profit and Loss A/c 400 [Profit]

illutration 15. From the following balance sheets of Kavin Ltd., prepare a
statement of changes in working capital and fund flow staiement for the year ended
31.3.2002.

Liabilities 2001 2002 Asyets 2001 2002
4 4 4 4

Shure capital 300000 330,000 Goodwill 1,00.600 80,000
Debentures £50,000 230,000 Machinery £,10,000  5,40.000
General reserve 100,000 150000  Investment 30,000 20,000
Profit & loss Ale 60,000 70,600  Discount on
Provision for issue of
depreciation on Debeniures 3.000 —
machinery 20,000  1,30,000 Cash at bank 1,206,000 1,30,000
Sundry creditors 73.000 110,000  Sundry debtors §0.000 1,90,000
Bills payuble 10.0600 15,000  Stock 40,000 35,000

7.85,000 10,75.000 785000 10.75.000

Fund Flow Statement

Notes
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Accounting Tf"?eﬂ"y and During the year investments costing T 30,000 were sold for T 28,000 and a new
Practice machine was purchased for T 45.000. The payment was made in fully paid shares.

Solution: Fund Flow Statement
Notes Sou rﬁﬁffuﬂﬂd s 7 ) : .. Aﬂpplicatiall%?%?ulldsw o
Issue of shares 5,600 | Purchase of Machinery (4) 85.000
Issue of Debentures £,00,000 [ Increase in Working Capital (1) 95,000
Sale of investments 28,000 { Purchase of Investiment (6) 80.600
Fund from operation 1,27.060
2,60,000 2,60,000
Workings: (i) Statement of changes in working capital
Current Assets 1999 () 2000 (%)
Cash at bank 1.20,000 1,350,000
Sundry Debtors 80,000 1,90.000
Stock 40,000 55,000
Total current assets 2.40,000 3,75,000
Current Liabilities ;
Sundry creditors 75,000 L10,000
Bills payable 10,000 15,000
Total current liabilities 85,000 125000
Working capital 1.55,000 2,50,000
Increase in working capital 95,000  (1,55,060 - 2,50,000)
(ii) Profit and Loss Account
To Goodwill written off 20,000 | By Batance b/d 60,000
To General Reserve 50,000 | By Fund from operation 1.27,000
To Discount issue of Debentures 5,000
To Depreciation 40.000
To Loss on Sale of Investments 2,000
To Balance ¢/d 70,000
1.87.000 1.87.000
(iify Share Capital Account
To Balance c/d 3,560,000 | By Balance b/d 3,00,000
By Machinery 45,000
By Cash 5.000
3,506,000 3,50,000
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() Machinery Account

To Balance b/d 4,10,000 By Balance ¢/d 540,000
To Shares 45,000
To Cash (b/f) 85,000

(v) Provision for Depreciation on Machinery Account

To Balance b/d 30,000 By Bank 28,000
To Purchase of Investment (b/f) 80,000 By Loss Sale of Investment 2,000
By Balance ¢/d 80,000

1.10,000 1,£0,000

NQTE : Sale of Investment

Cash Ale Dr. 28.000 [Actual sale]
Profit & Loss Alc Dr. 2,000 [Loss on sale]
To Investments 30,000  [Value of investment]

Hlustration 16, From the following summarised balance sheets of Balaji & Co.
as on 31.12.2003 and other information furnished, prepare fund flow statement.

Balance sheet

Liabilities 2003 2002 Assets 2003 2002
4 4 4 4

Share capital 2,00,000 30,000 Fixed assels 420,000 2,40,000
Redeemable per shares —  L00.000 Investments 15,000 18,000
Profit & loss Ale 350,000 120000 Stock 1,60 000 38 500
Debentures — 1,253,000 Bills receivable 92,000 1,37.000
Sundry creditors 190,600 223,000 Cuash at bank L20.000 183000
Provision for Tax 75.000 25,000 Prepaid expenses 8,000 6,500

8,15,000 645000 815,000 6,45,000

The following additional information is also available :

(@) On 31.12.2003 accunnlated depreciation on fixed assets amowunted to
T 1.20.000 and on 3Ist December 2002 % 1,10,000

(h) Muchinery costing T 10,000 (accumulated depreciation thereon being
T 5,000) was discarded and written off during 2003.

(¢) Depreciation written off during 2003 amounted to X 13,000.
(d) During the year 2003 investments costing X 6,000 were sold for T 7,000.
(e) Dividend paid during the year was 3 43,000

(/) Redeemable preference shares were redeemed out of profils during the
year at a premium of 3%.

Fund Flow Statement

Notes
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(i) Profit and Loss Account

Solution: Fund Flow Statement
o SOUTEEOF funds e | qfpplicationonfunds B | F 75
Issue of shares 1.50,000 | Repayment of Secured Loan 1.25,000
Sales of investments 7,000 | Dividend paid 95,000
Decrease in working capital 22,000 | Redemption of preference
Fuad from operation 2,99,000 | Share [.05,000
Purchase of Investments 3,000
Purchase of Fixed assets 2,00,000
4,78,600 4.78.000
Workings: (7} Statement of changes in working capital
Current Assets : 2002 () 2003 %)
Stock 58,500 1.60,000
Sundry Debtors 1,37,000 92,000
Cash at Bank 1.85.000 1.20.000
Prepaid expenses 6,500 8,000
Tolat current assets 3,87,000 3,80,000
Current Liabilities :
Sundry creditors 2,25,000 1,90,000
Provision for tax 25,000 75,000
Total current liabilities 2.50.000 2,65,000
Waorking capital 1,37,000 1,15,000
Increase in working capital 22,000 ({1,37,000-1,15,000)

4 4
To Loss on sale of Machinery 5,000 | By Balance b/d 1.20,000
To Dividend paid 45,000 | By profit on sale of Investment £,000
To Premium on Redemption of 5,000 | By Fund from operation 2.99,000
Preference share
To Depreciation 15,000
To Balance c/d 3,50,600
4,20,000 4,20,000
(iii) Redeemable Preference Share Capital Account
To Cash 1,065,000 | By Balance b/d 1.00,000
By P & L A/c (preminm) 5,000
1.05.000 1,05,000




(iv) Fixed Assets Account

To Balance b/d (2,40.000+ 1,10.000) 3,50,000 By P& L Afc 5.060

To Cash 200,00 By Accumulated Depreciation 5.000
By Batance c/d (4,20.000 + 1,20.000)

3.30.000 5.50.000

(v} Accumulated Depreciation Account

To Fixed Assets 5,000 By Balance b/d [.£0,600
* By P& L Afc {Current year Depreciation) 15,000

To Balance ¢/d 1,280,000
1,25,000 ' 1,25,000

{vi} lnvestment Account

To Balance b/d 18,000 By Cash 6,000
To Cash 3.000 By Balance c/d 15.000
21,000 21,000
NOTE :
(i) Journal Entry for 1Ind Adjustment
Profit & Loss A/c Dr, 5,000 [Loss]
Accumulated depreciation A/c Dr. 5,000 [Depreciation]
To machinery A/c 10.000 {Value of machinery]
(i} Journal Entry for IV Transaction
Cash Alc Dr. 7.000
To Profit & Loss Afc 1,600
To [nvestment Afc 6,000

(iif) Here, provisional for Taxation assumed to current liability

Hitustration 17. From the following datu of National Auto Ltd. for the year 2000
and 2001. Particulars

Liabilities 2000 2001
T 3

Cash 2,000 2,300
Account receivable 2,400 2,700
Inventories 3,100 3.200
ther current assels 800 700
Fixed assets 5.000 3,800
Accumulated depreciation 2,100 2,500
Accounts pavable - 2,000 2,100
Long term debt 1,400 1.300

Fund Flow Statement

Notes
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Equity capital

Relained earnings

3,000
2.800

The following additional information is also availuble :

(@)
()

sold for T 200.
()

profit & loss accoun

Hi.

Fixed assets costing X1, 200 were purchased for cash.

5,300
3.700

Fixed assets [Original cost of 3400 accumulated depreciation 150] were

Depreciation for the year 2001 amounted to T 550 and duly debited 1o

() Dividend paid amounted to3dd 300 in 2001.
(¢) Reported income for 2001 was T 2,400.
Solution: Fund Flow Statement
b Sotrce of funds . 2" i 2 Appli\é'a iontof funds % ’ﬁw
Issue of Equity Shares 300 | Dividend paid 300
Sale of Fixed Assets 200 | Purchase of Fixed Assets 1.200
Fund from operation 1,800 | Repayment of Long term Debt 100
Increase in working capital 700
2,300 2,300
Workings: (/) Statement of changes in working capital
Currem Assets 2000 %) 2001 ®)
Cash 2,000 2,500
Accounts receivable 2,400 2,700
[nventories 3,100 3.200
Other current assets 800 700
Total current assets 8,300 « 9.100
Current Liabifities ;
Account payable 2,000 2,160
Total current liabilities 2,000 2,100
Working capital 6,300 7,000
Increase in working capital 700 (6300 — 7000)

(i7) Fixed Assets Account

To Balance b/d
To Cash

5,000
1,200

6,200

By Cash
By Accumulated Depreciation
By Profit & Loss Alc

By Balance c{d

200
50
30
5,800

6,200




(iif) Profit and Loss Account Fund Flow Statement
To Fixed Assets 50 | By Balance c/d 2,800
To Depreciation 550 | By Fund from operation 1,800
To Dividend paid 300 Notes
To Balance c/d 3,700
4,600 4,600
{iv} Accumulated Depreciation Account
To Fixed Assets 150 | By Balance b/d 2,100
To Balance c/d By Profit & Loss A/c 530
2.500 2,650
NOTE :
(i} Journal Entry for IInd Adjustment
Cash A/c Dr. 200 [Sale of fixed assets]
Accumulated depreciation A/lc Dr. 150 [Depreciation]
Profit and Loss Afc - Dr. 50 [Loss on sale]
To Fixed assets 400
(i) Reported income
It is included in the Retained Earnings. So, there is no need to give the effect
of this Adjustment.
Hustration 18. From the following information, calculate funds fron operations.
Profit and Loss Account
To expenses ¥ 4
To Operating expenses 100,000 By Gross profit 2,600,000
To Depreciation 40.000 By Gain on sale of building 20,000
To loss on sule of
machinery 10,000 '
To advertisement expenses .
Ale 5,000 *
To discount of debtors 300
To discount on issue a shares 300
To goodwill written off 12,000
To preliminary expenses
written off 2,000
To Net profit 50,0600
220,000 2,20,000
Solution:
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Computation of fund from operation Profit & Loss Account

To expenses 4 Incomes 4
To Depreciation 40.000 By Balance b/d Nil
To Loss on sale of Machinery 16,000 By Gain on sale of Buildings 20,000
To Goodwill written of7 12.000 By Fund from operation 99.500
Te Advertisement Expenses 5,000
To Discount allowed 500
To Preliminary Expenses Written off 2,000
To Balance ¢/d 50,000

1,19,500 1,19.500

Hlustration 19. Balance sheets of M/s Black and White as on 1st Jan. 2000 and
3ist Dec 2000 were as follows:

Liabilities Jan. Dec, Asyers Jan. Dec.
2000 2600 2000 2000
Ed 7 4 T

Crediiors 4,600 #4000 Casir 10,000 7.000)
White's loan 25,000 — Debrors. 30000 30,000
Loan from bank 40,000 50,000 Stack 35000 25000
Capiral L25,000 133,000 Land 0,000 50,000
Buildings 35,000 an,Nna
Machinery 80,000 35000
230,000 247,000 2.30,000 2,47,000

During the year machine costing X 10,000 [accumulated depreciation T 3,000}
was sold for X 5,000. The provision for depreciation against machinery as on Ist
Jan 2000 was T 25,000 and on 31st Dec 20003 40,000. Net profit for the vear 2000
amounted 10 X 43,000, Prepare fund flow statement.

Solution: Fund Flow Statement
Sourceoffunds [T | applicationgtfunas | 2
Loan from PN Bank 10,000 | Repayment of Mr, White's Loan 25,000
Sales of Machinery 5,000 | Purchase of Land 10,000
Fund from operation 63,000 | Purchase of Building 25.000
Increase in working capital 3,000
Drawings (Capital A/c) 17,000
20,000 30,000
Workings: (/) Statement of changes in working capital
Current Assets : 1.1.2002 38122002
) ®)
Cash 10,000 7,000




Debtors

Stock

Total current assets
Current Liaghilities :

Creditors

Total current liabilities

Working capital

30,000 50.000
35,000 25,000
75.000 32,000
40,000 40,000
40,000 44,000
35,000 38.000

3,000 (35.000 — 38.000)

Increase in working capital

(i) Profit and Loss Account

To Loss on sale of Machinery 2,000 | By Fund from operation 65,000
To Depreciation 18.000
To Balance c/d 45,000
65,000 65,000
(iii) Capital Account
To Balance c¢/d 1.53.000 | By Cash 5,000
To Cash (b/f) 17,000 | By Profit & Loss A/c 45,000
1.70.000 1,70,000
(iv) Machinery A/c
To Balance ¢/d {80.000 + 23,000) 1,05,000 | By Cash 5,000
ByP& LA 2.000
By Accumulated Depreciation 3,000
By Balance ¢/d 95,000
1,05,000 1.05.000
(/") Accumulated Depreciation Account
To Machinery A/c 3.000 | By Balance b/d 25,000
To Balance ¢/d 40,000 | By P & L A/c (b/f) 18,000
43,000 43,000
NOTE :
Journal Entry for ist Adjustment
Cash Afc Dr. 5,000
Accumulated depreciation A/c Dr. 3,000
Profit and Loss A/c Dr. 2,000

To Machinery Alc

10,000

Hitustration 20. The Balance sheets of Dharan Lid as on 31.12.1999 and

31.12.2000 are as follows.

Fund Flow Statement

MNotes
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Accounting Theory and Liabilitics 1999 2000 Assets 1999 2000

Practice ¥ F 4 T
Share capital 2,060,600 250,000 Fixed assets 3.50.000 4,75,000
Retained earnings  1.60.000 3,00,000 Inventory 1,006,000 95,000
Notes Premium on share — 5.000 Accounts receivable 43,000 50,000
Accumulated i}
depreciation 80,000 60.600 Prepaid expenses 4,000 5,000
Debentures 60,000 — Cash 15,800 10,200
Bank overdrafi 37,800 40.200 Commission on shares 25,000 20,000
5.37.800 6,55,200 5.37.800 6,55,200

The following additional information is also available :
(f) Net profit for the year ¥ 1,40,000

(i) Income tax was paid ¥ 40,000

(iif) Interim dividend paid during the year was ¥ 20,000.

(iv) An addition to the fixed asset was made during the vear at a cost of
1.65.000 and fully depreciated machinery costing I 40.000 was discarded,
no salvage being realised.

(v} Depreciation for the vear ¥ 20,000

3

Solution: Fund Flow Statement
...z Source of funds N i JApplication of:fund
Issiie of Shares 56,000 | Redemption of debentures 60,000
Premium on shares received 5,000 } Purchase of Fixed Assets 1,635,000
Fund from operation 2,25.060 | Income Tax paid 40,000
Decreasing in working capital 5,000 | Interim dividend paid 20,000
2.85,000 2,85,000
Workings: (fy Statement of changes in working capital
Current Assets © 1999 (%) 2000 ()
Inventories 1,060,000 95,000
Accounts receivable 43,000 50.000
P;epaid expenses 4,000 5,000
Cash 15,800 10,200
1.62.800 1,60.200
Curremt Liabilities :
Rank overdraft 37,800 40,200
Total current liabilities 37,800 40,200
Waorking capital 1,25,000 1,20,000
Decrease in working capital 5,000 [1,25,000 - 1,20,000]
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(i} Profit and Loss Account Fund Flow Statement

T ¥
To Commission on shares writlen off 5.000 | By Balance b/d $,60,000
To Depreciation 200,000 | By Fund from operation (b/f) 2,25,000 Notes
To Income Tax paid 40,000
To Interim dividend paid 20,000
To Balance ¢/d 3,00.000
3.85.000 3,85,000

(iif) Fixed Assets Account

To Balance b/d 3,50.000 | By accumulated depreciation 40,600
To Cash (b/) 1,65,000 | By Batance ¢/d 475,000
5,15,000 5,15,000

{iv) Accumulated Depreciation Account

To Machinery A/c (Fully Depreciated | 40,000 | By Balance b/d 80,000

Machinery)
To Balance ¢/d 60.000 | By Profit & Loss Ale (b/f) | 20,000
1,00,000 106,000

Htustration 21. Following are the summarized Balance Sheet of XYZ Ltd, As on
315t Dec. 2002 und 2603

, Liabilives "~ | 2002 7| 2003 |  Assers * 2002 | 2003
AT oI " 2 _
Share Capital 100,000 123,000 | Land uand Building | 106,000 | 95,000
General Reserve 23,000 30,000 | Machinery 75000 84,300
Profit and Loss A/c 15,250 15,300 | Stock 30001 37000
Bank loan (long-term) 33000 -1 Debtors 40,000 32 100
Sundry Creditors 73,000 67.600 | Cash 250 300
Provision for Taxation 15,000 17,500 | Bunk n—n 4,000

Goodwill - 2,560
2,65.250 | 2.55,4G0 263,230 255,400

Additional Information :
() Dividend of X 16,500/- was paid.

(iiy Assets of another company were purchased for a consideration of X
25,000/~ payable in shares.

The following assets purchased
Stock 10,000
Machinery 12,500
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(##f) Machinery was further purchased for ¥ 4,000
{~v) Depreciation written off on machinery % 6,000
(v} Income tax provided during the year 3 16,500/-

(vi) Loss on sale of machinery T 100/- was written off to General Reserve.
Prepare a statement of Funds Flow of XYZ Ltd.

Solution: Fund Flow Statement
Sourée of funids % At %Rpplic.fitigp of funds ?ﬁ” '
Sale of land and buildings 5,000 | Repayment of bank loan 35.000
Funds from operation 44,150 | Dividend paid 16,500
Sale of machinery 900 | Purchase of machinery 4,000
Decrease in working capital 9,450 | Income tax paid 14,000
Issue of shares for stock 10,000
69,500 69,500
Workings :
1. Statement of changes in working capital ;
Current Assets ; 2002 (%) 2003 (3)
Stock 50,000 37,000
Debtors 40,000 32,100
Cash ' 250 300
Bank -— 4,000
Total current assets 90,250 73,400
Current Liahilities :
Sundry creditors 75,600 67,600
Total current liabilities 75,000 67.600
Working capital 15.250 5.800
Decrease in working capital 9,450
2. Share Capital A/c
To Balance ¢/d 1,25,000 } By Balance b/d 1,00,000
By Stock 10,000
By Machinery 12,500
By Goodwill 2,500
1.25.000 1,25,000




3. Profit and Loss A/c Fund Flow Statement

im— : e | NBEw Wi:%@%é mf
To Balance ¢/d 15,300 | By Balance b/d 15,250
To Dividend paid £6,500 | By FFO 44,150
Notes

To Depreciation (mach) 6,000

To Income tax provision 16.500

To General Reserves 5,100
59.400 59,400

d, Provision for Taxation A/c
— = — %W,W o - - ‘”’W? !
To Balance ¢/d 17.500 | By Balance b/d 15,000
To Cash (Tax paid) 14,000 | By PL. A/c 16,500
31,500 31,500
5. Machinery Afc

' §§w g ol e et Bk (s@e «
To Balance b/d 75.000 | By Balance ¢/d 84,500
To Shares 12,500 { By Profit and loss A/c 6.000
To Cash 4,000 | By General Reserve Afc 100
By Cash 900
91,500 91,500

6 Goodwill Aje

i . g P %w“j R o
To Balance b/d Nil | By Batance ¢/d
To Shares 2,500
2,500 2,500
7 General Reserve A/c

’*W ) I&W;@%m e ,{2 :
To Balance ¢/d 30.000 | By Balance b/d 25,000
To Machinery 100 | By Profit and Loss A/c 5.100
30,100 30,100

5.14. Review Exercise

1. Babu & Co. presents the following Financial Statement for 1988 and
1989. Prepare a sources and application for funds statement.
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5 1984 Assets

. o cae |

Bills pavable 4,52.000 [ 6,28.000 | Cash

Creditors 826000 | [2,54.00 | Investment 1.74.000 -

l.oan from bank 200,000 | £,70,000 | Debtors 6.92.000 10.56,000

Receives & Sumplus | 13,84.000 | 17,28,000 | Stock 8.64.000 13.66.000

Share capital 12,00,000 | 12,060,000 | Net fixed assets | 22.26.000 27.96.000
40.62,00d | 52,580,000 40,62,000 52,580,000

Depreciation of T 3,78,000 was written off for the vear 1989 on fixed
assets.

[Ans. Increase in working capital ¥ 2,18,000]

2. Balance Sheets of M/s. Raman and Krishna as on 1st January, 1989 and 31
. st December 1998 were as follows:

Balance Sheet

Liabilitées 1.198 311298 Assets 1.1.98 311298
I 4 4 4

Bill Payable 80,000  BR.000 Cash 25,000 22,008

Mrs. Krishnan's lagn 50.000 - Debiors 30.000° 40,000

Laan, seeured on Building 30000 80,000 Slock 73,600 40.000

Creditors 30,000 60000 Bills Receivable 25,000 30,000

Capuals: Building 1.06.060 90,000

Raman 40000 30,000 Fumiture 1,05.006 86,000
Krishnan , 80,000 70,000

360,060 348000 3.60,000 34800

During 1998, furniture costing 10,000 (accumulated depreciation T 6,000)
was sold for € 3.000.

Net profit for the year was T 80,000, divided equally to the partners,
Prepare a statement of sources and uses of funds for the year 1998,
[Ans. Decrease in working capital ¥ 21,000]
3. Balance Sheet of Ganesh Mills Ltd.

Liabilities 1992 1993 Asscls 1992 1993
T g 4 T
Equity share capital 3.00,000 400,000 Building 2.50,000 3.00,000
10%% Redeemable per 2,460,000 - Machinery 300,000 3.20,000

sharc capital
Capital Redemption Furniwure 20,000 18,000

Reserve - 130,000 Invesiments 1,00,000 1.5¢, 000




Fund Flow Statement

Reserve Fund 2,040,000 120,000 Debtors 1,406,006 200,600
Share Premium 30,060 30.000 Cash at Bank 20,000 32.000
Profit & Loss Afc 120,000 1.80.000
12%5 Debentures 2.60,000 3.00,00G Notes
Creditors %0.000 1.40.000
11.30,000 1 2.?(];0[!0 113000 1270000

The following transaction took place during the vear 1993:

(«) Preference shares were redeemed at 10% premium.

() ¥ 20,0600 was transferred to Reserve Fund from P & L A/c.
(¢) Investments (book value ¥ 40.000) were sold for T 70.000.

() Depreciation provided on Building, Machinery and Furniture <
29,000, % 30.000 and T 2,000 respectively.

(¢} Dividends paid ¥ 50,000 and income tax paid I 45,000. Prepare a
funds flow statement showing change in working capital.

[Ans. Decrease in working capital T 38,000}

4. From the following prepare a statement showing changes in working
capital during 2002

Balance Sheet
as on 31¥ December

Liabilities 2001 2002 Assets 2001 2002
T L4 7 g

Share capital ~ 5,00,000  6.00,000 Fixed Assets 10,060,600 11,20,000

Reserves 15,0000  1,80,000 Less: Depreciation 370,000 4,60000

P&L Amount 40,000 65,0060 630,000 660,000

Debentures 300,000  2.50,000 Stock 240,000 3.70,000

Book debts 250,000  2,30.000

Craditors for 170000 1,60.000 Cash in hand and at bank 80,000 60.000

good

l Provision for Preliminary exp. 20600 13,000
fncome 1ax 60,000  1.80,000

12,20,000 1335000 12,20,000 1335000

[Ans. Increase in working capital ¥ 1,00,000]

5. Prepare a statement of changes in working capital from the following
details of ‘R Ltd.

Liabilities 311299 31122000 Assels 311299 31.1299
4 4 H 4
Equity capital 5,00.000 5.00,000 Fixed Assels 6.00.000  7.00,000
Debentues 3.70.600 4.50,080 Long-lerm
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Tax payable 77.000 43.000 Investments 2.00,000 1,006,000
Creditors 36.000 1.92.000 Work-in-progress 80000 90,000
Dividend payable ! £7,000 80,000 Stock 1.30.000 225,006
Debtors 70,000 1,40000

Cash 30,000 10,000

11.30.000 12,635,000 11.30,000 12,6500

[Ans. Increase in working capital I 80,000]

6. Finds fund from operations from the following data:
Opening balance of P&L A/c %.60,000
Closing balance of P&L < 30.000
The following items appeared in P&L A/c:

Interim divided paid T 20,000, proposed divided ¥ 30,000, depreciation ¥
50.000, Preliminary expenses ¥ 1,000, loss on sale of machinery ¥ 3,000,
General Reserve %, 5,000, sinking fund ¥ 10,000, salaries paid I, 3,000,
profit on sale of car T 4,000, and tax paid ¥ 3,000,
fAns. Funds from operation ¥ 90,000)

7. From the following, compute the funds from operation

/

Profit and L.oss Account

4 4

To cash Purchase 50,000 | By sales 60,000
To Gross Profit ¢/d 10,0G0

60.000 60,000
To Salaries 8,000 | By Gross Profit b/d 10,000
To Rent 7,600 | By Dividends received ‘3,000
To Depreciation 2.000 | By Interest [rvestments 3,000
To Goodwill written off 1.000 | By Net Loss 4,000
To Preliminary expenses written off 500
To Discount on issue of Debentures 1,500

20,000 20,000

[Ans. Funds outflow account of operation < 5,000}

8. From the following details, calculate funds from operations

Particulars

Salaries

Rent

Depreciation on Plant
Provision for fax
Loss on sale of Plant

Opening balance of P

& L Afc

5,000
3,000
5,000
4,000
2,000
25,000




Transfer of General Reserve

Goodwill written off
Dividend Received
Refund of tax

Profit on sale of building

Closing balance of P & L Afc

Piscount on issue of debentures

Provision for bad debts

Preliminary expenses written off

Proposed divided

Funds Flow Statement:

Liabilities 3

1205 31.12.05

[Ans, Funds from operation ¥ 47,000]

9. The followings is the comparative Balance Sheet of A Litd. Prepare a

Balance Sheet

T
Share capital 8.000
P&L Appn. Alc 1,450
Creditors 900
Mortgage loan -
10,350

1,000
2,000
5,000
3,000
5.000

60,000
2,000
1,000
3,000
6.000

Assets 31.12.05 31.12.05

4 4 4
8,500 Land 5.000 5,000
2,450 Plant 2,400 3,400
500 Debtors i,650 1,950
500 Stock 900 700
CashatBank 400 900
11,950 18,350 11,950

[Ans. Increase in working capital: T 1.000;
Total sources: T 2,000; Applications:

T 1,000; Funds from operations: ¥ 1000]
10. From the following Balance Sheets of Arun Ltd. Prepare a sources and

uses of funds staiement for 2005.

Assets
Cash
Debtors

31.12.05
4

75,000
90,000

31.12.04

4

35.000
98,000

Stock & work-in-progress
Long term investments
Land

Liabilities :

1,20,000
14,000
30,000

3,25,000

87,000
15.000
20,000

2,55,000

Fund Flow Statement

Notes
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Account payable

Notes payable (short-term)
Notes payable (due Dec. 206)
Capital Stock

Retained earnings

45,000
35,000
20,000

1,50,000
75,000
3,25,000

50,000
20,000
1,25,000
60,000

[Ans. Increase in working capital: ¥ 35,000:
Totat sources: T 45,000; Applications: ¥ 10,000,
Funds from operations: ¥ 15,000]
11. The Batance Sheet of Swatantra Bharat Co. Ltd. As at 3ist December

1991 and 1992 are given below:

1991 1992
4 4
Assats

Freehold land 1.00,000  1,00.000
Plant at cost 1,04,000  1,00,000
Furniture at cost 7.000 9.000
Investment at cost 60,000 80,000
Debtors 30,000 70,000
Stock 60,000 65.000
Cash 30,000 45,000

391,000  4,69,000

Liubilities .

Share capital 100,000  1,50,000
Sharé premium - 5,000
General reserve 50,000 60,000
Profit & Loss Afc 16,000 17,000
6% Debentures 76,000 50,000
Provision for depreciation on plant 50.000 56.000
Provision for depreciation on fumiture 5,000 6,000
Provision for taxation 20,000 30,000
Sundry creditors 86,000 95,000

391,000 4,69,000

A plant purchase for ¥ 4,000 (depreciation I 2,000) was sold for cash
T 800 on 30th Sep. 1992. On 30th June 1992, an item of fumniture was
purchased for ¥ 2,000. These were the only transitions fixed assets during
1992. Depreciation on plant was provided at 8% on cost (the sold item is
not taken into censideration) and on furniture at 12/ % on average cost. A
dividend of 22/:% on original shares was paid.




Prepare a schedule of changing in working capital and statement of sources
and application of funds during 1992.

{Ans. Increase in working capital: ¥ 51,000; Total sources of funds: £4
1.35,500: Applications of funds: ¥ 84,500; Funds from operation:
79,700: Loss on sale of plant: T 1,200; Depreciation of plant for 1992; I
8,000; Opening Balance of provision for tax is 1o be assumed as paid i.e.,
¥ 20.000; Closing balance of ¥ 30.000 is the provision for 1992; Dividend
< 22,5000]

Fund Fiow Statement

Notes
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Cash Flow Statement

Structure

1. How to Adjust lor Non-Cash Transactions
5.2. Introduction
5.3. Meaning
4. Uses of Cash Flow Statement
5. Limitations of Cash Flow Analysts
5.6. Difference Between Cash Flow Analysis and Fund Flow Analysis
5.7. Steps in Preparation of Cash Flow Statement
8

. Review Exercise

5.1. How to Adjust for Non-Cash Transactions

In business accounting, non-cash transactions include any items that do not
directly involve the transfer of money. When preparing a cash-flow statement, the
only way to adjust fro non-cash transactions is through the indirect method, which
subtracts rule items from the company's net income. For longer businesses that often
deal with non-cash transactions, preparing a cash-flow statement using the indirect
method is important as it gives a more accurate description of the company's current
finances.

Cash-Flow Statements

A cash-flow statement is a document prepared by a company that details how
much money is flowing in and out of the business. Specifically, it shows the change in
cash and cash equivalents in a given period of time. Along with a income statement,
most small businesses prepare a cash-flow statement, most small businesses prepare a
cash-flow statement at least every quarter. Some tmay even prepare one every month.
While a cash-flow statement is a requirement for publicly listed companies. non-listed
compantes still use them for keeping track of payments. Many hire an accountant
familiar with GAAP accounting rules and standard to prepare a cash-flow statement.

Non-Cash Transactions

On a cash-flow statement, a non-cash transaction encompasses any aspect
that undergoes depreciation or amortization. This included transactions such as
the conversion of bonds to other types of assets or vice versa, lease arrangements
that lead to a purchase. such as commercial real estate rentals, and the exchange of
any asset for another asset that is not cash. ltems such as interest rate payments are
non-cash transactions. Although non-cash transactions do not normally appear on a

J.R.
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cash-flow statement, an accountant can adjust a cash-flow statement to factor in such
transactions. To do this, an accountant uses the indirect method of creating a cash-
flow statement.

The indirect Method of Cash-Flow Statement Preparation

There are two main methods for constructing a cash-flow statement: the direct
and indirect method. The former simply sums up all cash transactions. from both
customers and investment activities and adds and subtracts any interest or dividends
the company is liable for. The accountant. using this information, then computes the
cash flow for the company for the end of the year. The indirect method, on the other
hand, computes the end of year cash flow by adding up net income and rule items.
The accountant obtains net income from the company's income statement. Rule items
include all non-cash transactions,

3

Example

Consider a_.company with a net income of $ 100,000 a vear. The accountant
adjusts net income upward for the following non-cash transactions; $ 2,000 for
depreciation, $3 1,000 for the amortization of bond discount. $ 1,000 for the loss on
sale of equipment, $ 1,000 for the decreases in account receivable and T 1000 to I
1,06.,000. The accountant then adjust net income downward premium. ¥ 200 for gain
on the sale of —

5.2. Introduction

Cash contributes significant role in the entire economic activities of the
business world, And at the same time, cashis not only essentiat for business, but is
also essential for each and every activity of human life. What blood is 1o human body,
cash is to a business firm. The firm receives cash from various sources like issue
of sharcs, sale of assets ete. [t needs cash to make payments for various purposes
like payment to suppliers and to meet-out the day to day expenses. The foremost
responsibility of the financial manager is to determine cash planning activities and to
maintain adequate cash balances. At this juncture cash flow statement is an important
tool of cash planning and control. The term cash is used to refer to cash in hand and
bank balance.

5.3. Meaning

Cash flow statement is a statement which is prepared from the historical data
showing the inflow and outflow of cash. It shows the sources and uses of cash between
the two balance sheet dates, [t clearly explains the causes for changes in cash position
between two periods. Simply, it is a receipts and payments account in a summary
form.

5.4. Uses of Cash Flow Statement

Cash flow statement is an important tool of financial analysis. It is vital to
financial management, Its main uses are as follows :

Cash Flow Statement

Notes
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{7}

(i)

(iif)
(i)
(¥)

(vi)

(vif)

{viii)

It zives guidance to the management in taking and implementing short-
term financial policies.

It helps to strengthen the borrowing capacities of the firms. The financial
institutions can easily assess the repaying capacities of the firms through
the cash flow analysis.

It contributes significant role for the capital budgeting decisions.
1t helps in shoit term financial decisions relating to liquidity.
In order to find out the variation and take necessary remedial measures

with the help of the comparison of actual cash flow statements with the
projected cash flow statements.

To overcome the problem of meeting deficit cash or investment of surplus
cash with the help of the projected cash flow statement. Thus, projected
cash flow statement is usually prepared on the basis of past year’s
experience.

1t explains the causes for poor cash position in spite of huge profits or
surplus cash balance in spite of low profits.

It explains the major sources and uses of cash for the business concern
during a particular period of time.

5.5. Limitations of Cash Flow Analysis

Cash flow statement is a systematic tool of financial analysis, However, it
suffers from some limitations which are as follows :

1.

A cash flow statement cannot be equated with the income statement. An
income statement considers both cash and non-cash items. So, cash does
not mean net income of business,

The cash flow statement may not represent the real liquid position of the
concern. Due to this aspect. postponing of purchases and paymenis couid
be developed.

Cash flow statement cannot replace the income statement or fund flow
stalement. Each and every statement has a separate function to perform,

Due to inflation. economic depression and other external factors, projected
cash flow statement may not achieve its results.

5.6. Difference Between Cash Flow Analysis and Fund Flow
Analysis

1.

Cash flow statement starts with the opening cash balance and ends with
the closing cash balance by processing through various seurces and uses.
But, there are no opening and closing balances in fund flow statement.
Cash from operation can be found out under the cash flow statement. But,
fund from operation can be found out under the fund flow statement.
Separate statetnents are prepared for the purpose of finding out increase or
decrease in working capital under the fund flow statement. But, no separate

-~




statements for increase or decrease in working capital are prepared in cash
flow analysis.

A cash flow statement explains the causes for the changes in cash and
bank balances i.e., cash receipts and cash paymenis alone. But, fund flow
statement indicates the causes for the changes in net working capital.

Cash flow statement is suitable for short term financial planning and
decision, while fund flow statement is appropriate for long term financial
planning and decisions.

Cash flow analysis deals with the movement of actual or notional cash.
But, fund flow statement deals with not only cash but also the items
constiiuting working capital. Cash is one of the components of working
capital, :

Whenever, wherever there is inflow of cash there will definitely be inflow
of funds. Buy, sound fund position need not be a sound cash position.

5.7. Steps in Preparation of Cash Flow Statement

Cash flow statement can be prepared on the same pattern on which fund flow
statement is prepared. But, hiere statement of changes in working capital does not need
to be prepared. Remaining all other procedures were.same in fund flow statement.

Cash flow statement is prepared on any one of the following assumptions :

— When all transactions are taken as cash transactions.

— When all transactions are not cash transactions.

Here, we have to proceed with all the problems by treating all the transactions
as cash transactions.

Steps
1. No need to prepare working capital statement
2. Preparation of cash flow statement
3. Preparation of profit & loss account-computation of cash from operation
4, Preparation of separate ledger if necessary
5. Treatment of adjustments
1. No need to prepare the working capital statement
Changes in current assets and current liabilities are adjusted in the cash
flow statement itself. So, separate statement is not necessary for the
changes in working capital,
2. Cash Flow Statement (Proforma)
i nflow of%ﬁ&é% ‘Outfow of casm ‘| ¥Amonnt
Sl v ? P Flaads, . ? > . ?wx%
Opening Cash Balance XN Redemption of preference shares XX
{including bank balance) XX Repayment debenture holders XX
1ssue of Shares XX Repayment of Loans XX

Cash Flow Statement

Notes
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tssue of Debentures
Raising of loans

Sale of fixed assets
Dividends received
Share premium received
Cash from operation

(Transfer from P&L A/c)

AN

XX

XX

XX

XX

Purchase of fixed assets XX
Dividend paid XX
Income Tax paid XX

Cash from Operation (Lost in
operation) Transfer from P&L

Alc XX
Closing balance (including bank

balance)

XX

3. Preparation of Profit & Loss Account - Computation of cash from

operation

Cash from operations can be found out in two methods, One is statement
form another one is preparation of profit and loss account. Normally, cash
from operation can be found out with the help of the preparation of profit
and loss account because it is an casy and convenient method. Here, profit
and loss account 1s prepared in usval procedure.

Profit and Lass Ajlc

Dr. Cr.
el Amount. . # | Amount’
) x é«&iﬁ} i | e s w G
To Goodwill written off XX By Opening Balance b/d XX
To General reserve XX By Dividends received XX
To Preliminary expenses XX By Interest on investments XX
written off By Profit on sale of assets- XX
To Depreciation XX By Cash from operation XX
To Loss on sale of fixed assets XX (Balancing figure)
To Loss on sale of [nvestments XX
To Patents & Trade mark XX
writien off
To Income tax provided XX
To Interim dividend paid NX
To Closing balance ¢/d XX
To Cash from operation XX
(Balancing figure)
XX XX




4. Preparation of Separate Ledger Cash Flow Statement
If information of any particular assets or liabilities are given in the
adjustment, we have to preparc separatc asset or liabilities account.
Balances from this ledger can be transferred to cash flow statement.

5. Treatment of adjustments Notes

The additional information which are given apart from the balance sheet
are, simply called as adjustment. All the adjustments will appear in two
places. The following are the important adjustments and their treatment.

(c) Dividend paid - Cash flow statement - outflow side
—~ Profit & loss Afc - Debit side
(h) Depreciation — PIl.A/c - Debit side

Respective asset Afc - credit side
(¢) Lossonsaleof — P.L.A/c - Debitside

assels Respective asset Alc - credit side
()} [ncome Tax — PL.A/c - Debit side
provision — Income Tax - Credit side.

!ustratlpr! and'Solutions

Iﬂmtmnmr 1. From the following profit and loss account, compute the case
Jrom operations.

Profit and Loss account for the year ended 31.3.2001

N Amount ‘ Amount:
o @ B s | & L
To Salaries 23,000 | By Gross Profit 1.23.000
To Rent 3.000 | By Profit on sale of jand 15,000
To Deprectalion 10,000 { By Income tax refund 13,000
To Loss an Sale of plant 4,000
To Goodwill written of? 10,000
To Proposed dividend 15.000
| To Provision for Tax 12,000
I To Net Profit 74,000
1.53.000 1,353,000

Solution :

Computation of cash from operation

Net profit earned during the year 74.000
Add : Non-cash and Non-operating expenses

Depreciation 10,000

Loss on sale of plant 4,000
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Goodwill written off 10,000
Proposed dividend 15,000
Provision for tax 12,000
51,000
Less : Non-cash and Non-operating income
Profit on sale of land [ 5.000
[ncome tax refund 13,000
28,000
Cash from operation 97,000
Hiustration 2, Statement of financial position of M. Arun is given below.
Liabhilities 1.1.2000 | 3112.200 Assefs 112000 1 31.12.200
4 ¥ 4 4
Account Pavable 29,000 23.000 | Cash 40,000 30.000
Capital. 7.39.000| 6,135,000 Debtors 20,000 17,000
Stock 8,000 13,000
Building 1.00,.000 50,000
Cther fixed
Assels 6.00.000( 3,00.000
768,000 640,000 768,000 6,40,000

The following additional information is also available:

(a) There were no drawings.

(b) There were no purchases or sale of either building or other fixed assets.
Prepare a statement of case flow.

Cash Flow Statement

Solution :

“Inflow of cash =~ Atount ; . Outfiow of cash
i pa X : ¢ o B 5 sl
Opening cash balance 40,000 | Decrease in accounts payable 4,000
Decrease in Debiors 3.000 | Increase in Stock 5,000
Cash from operation (1) 4.000
Closing cash balance 30.000
43,000 43.000
Workings : 1. Profit and Loss Account
§ Atno%;_ﬁ“tw
) . - 3
To Depreciation on Building : By Capital Account (Loss) 1.24.000
To Depreciation on Plant 1.00,000
To Cash from operation
| (Loss on operation)
1,24,000 1.24.000




2. Capital Account of Mr. Arun Cash Flow Statement

To Profit & Loss A/c (Loss) 1.24.000 | By Batance b/d 7,39,000
To Balance ¢/d 6.15.000
Notes
7.39.000 7.39.000

3. Builiting Account

To Balance b/d 6,00,000 | By Depreciation (P&L Afc) 1.00.000
By Balance c/d 20.000
1.00.000 1,00,000

i 4. Other Fixed Assets Account

To Balance ¢/d 6,00,000 | By Depreciation (P&L A/e) 1.00.000
By Balance cfd 5,00,000
6.00.000 6,00,000

Htustration 3. From the following particulars of Mrs. Ragu, prepare cash flow

sleteneris.

| Liabilities: 1.1.99 31.12.99

I 4 4
Crediltors 36,000 41,000
| Mrs.A’s Loan — 20,000
Capital 1,48.000 1,49.000
Bank Loan 30,000 25.000
2.14,000 2,35.000

Assets:

Cash 4,000 3,600
Debtors 35,000 .38.400
Stock 25,000 22,000
Land 20,000 30,000
Buildings 50,000 55.000
| Machinery 80,000 86,000
| 2,14.000 2.35.000

| During the year Mrs.Ragu had drawn ¥ 26,000 for personal use. The provision
' for depreciation against machinery as on 1.1.99 was ¥ 27.000 and as on 31.12.99
< 36,000.
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Solution :

Cash Flow Statement

o PR .
. Inflow;of cas

=

Opening cash balance
Loan horrowed from Mrs. A
Decrease in stock

Cash from operation {1)

| Increase in Debiors

Repayment of Bank loan

Purchase of Land

Purchase of Buildings

Increase in creditors Capital Account (Drawings) 26,000
Purchase of machinery (3) 15.000
Closing Cash Balance 3,600
68,000 68,000
Workings : I. Profit and Loss Account
-Amount. -Amount
e ¥ il 7 e T
To Depreciation (4) 9.000 | By Cash from operation 36.000
To Capital Account 27,000
36.000 36,000
2, Capital Account
To Cash {Drawings) 26,000 | By Balance b/d 1.48.000
To Balance ¢/d 149,000 | By Profit & Loss Afc 27.000
(Transfer to P&L A/c)
1,75,000 1.75.000
3. Machinery Account
To Balance b/d 1.07.000 | By Balance c/d 1.22,000
(80.000+27.000) (86,000+36,000)
To Cash (b/) 15.000
1,22,000 £.22.000
4. Accumulated Depreciation Account
To Balance c/d 36,000 | By Balance b/d 27,000
By P&L A/c (b/f) 9.000
36,000 36,000

Hltustrativon 4. The Balance sheet of Super Computers Lid as on 31.12.1992
and 31.12.1993 respectively are given below.

Liabilitics 1992 1993 Assers 1992 1993
T T 4 4
Share capital 5,00.0001 1.60.0001 Fixed assets at
Retained earnings | 70,250 835300 cost 1,532,000} 2,00,000




Jwventory | 93.400| 89,200
Sundry Debtors 30,8001 21,100
Prepaid expenses 3,950 3,000
Bunk 28100 20,000

3,08,250| 3,33,300

The following additional information for the vear 1993 is also available.

Accumudated ||
Depreciation 60,000 40.000
6% Debentures 30,000 —
Sundry creditors 28,000 48,000
3,08,2507 3.33.300
(i} Net profit 3 27,050.

(ii} Depreciation charged T 10,000.

(iii) Cash dividend declared during the period ¥ 12,000.

(iv)

salvage value being realised. Prepare cash flow statement,

Solution :

An addition to the building was made during the year at a cost of < 78.000
and fully depreciated equipment costing X 30,000 was discorded, no

Cash Flow Statement

finfiow of cash . .| Amount: Lot
=  WTE | .
Opening cash batance 28,100 | Redemption of debentures 50.000
Decrease in inventory 4.200 | Cash dividend paid 12,000
Decrease in debtors 9,700 [ Purchase of butilding 78,000
Decrease in prepaid expenses 950 | Closing cash balance 20,000
Issue of shares 60,000
Cash from operation 37.050
Increase in creditors 20.000
1,60,000 1.60.000
Workings : 1. Profit and Loss Account
¥ Amount iy Amount ;
¥ el Ty " X8
To Cash dividend paid 12.000 [ By balance b/d 70,250
To Depreciation (Current year) 10.000 | By Cash from operation (b/f) 37,050
To Balance ¢/d 85.300
1.07.300 1,07,300
2. Accumaulated Depreciation Account
To Fixed Assets 30,000 | By Balance b/d 60,000
{Discarded Equipment) By P&L A/ 10,000
To Balance c/d 40.000
70,000 70.000

Cash Flow Statement

Notes
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3. Accumulated Depreciation Account

To Balance b/d

To Cash (Purchase)

1.52.000
78.000

2,30,000

By Depreciation

By Balance ¢/d

30,000
2,00.000

2.30.000

Hllustration 5. The following are the summarised balance sheets of South

Computers Ltd. as on 31.12.2000 and 31.12.2001.

Liabilities 2000 2001 Assels 2000 2001
T T T 4

Share Capital 2 00000 2,50,000 | Land & Buildings 2.00.000 1,96,000
General Reserve 30.000 60,000 | Machinery {.50.000 1,069,000
P&L Afe 30,500 30,600 1 Stock 1,00,000 74,000
Bank loan 70,000 — | Sundry Debtors 80,000 64,200
Sundry Creditors 1.30.000 1,35,200% Cash 500 600
Provision for ' Bank — 8,000
Taxation 30.600 35,000 | Goodhwitl < — 3,000

3.30.500 3.10.800 5,306,300 510,800

The following udditionad information for the the vear 2001 is also available :

(i) Dividend of T 23,000 was paid.

(ify The jfolliowing assefs of another company were purchased for u

consideration of X 50,000 puid in shares.

() Stock T 20,000 and (b) Machinery T 23,000
(iif)y Muachinery was further purchased for T 8.000.
(i) Depreciation writien off machinery 3 12,000.

(v) Income Tax provided during the year I 33,000.

(vi) Loss on sale of machinery 3 200 was written off to general reserve,

(vii) Prepare cash flow statement.

Solution : Cash Flow Statement
1 Amount;
§§ . this
Opening cash balance 500 | Repayment of Bank Loan 70.000
Sale of Land & Building 10.000 | Decrease in Sundry Creditors 14,800
Decrease in Sundry Debtors 15800 | Dividend paid 23,000
Sale of Machinery 1,800 [ Purchase of Machinery 3.000
Sale of Stock 46,000 | Income Tax paid 28.000
Cash from operation 78.300 i Closing cash balance 8.600
(8,000 + 600)
1.52.400 1,52,400




Workings :

1. Share Capital Account

To Balance ¢/d By Balance b/d 200,000
By Stock 20,000
y By Machinery 25.000
| By Goodwill 5,000
2,50,000 2.50,000
2. General Reserve Account
To Loss on sale of Machinery 200 | By Balance b/d 50,000
To Balance ¢/d 60,000 | By Profit & Loss Afc 10,200
60,200 60,200
3. Provision for Taxation Account
To Cash (Tax paid) 28,000 | By Balance b/d 30.000
To Balance c/d 35000 | By P& L Ale 33,000
63.000 63.000
4, Profit and Loss Account

To Dividend Paid 23.000 | By Balance b/d 30.500
To Depreciation on Machinery 12.000 { By Cash from operation 78,300

To Income tax provided 33,000

To Transfer to General Reserve 10,200

To Bajance c/d 30.600
1.08.800 1.08.800

5. Machinery Account
To Balance b/d 1.50.000 | By Depreciation 12,000
To Shares 25,000 | By Loss on sale of Machinery 200
To Cash 8,000 | By Cash (b/f) 1.800
By Balance ¢/d 1,69,000
1.83.000 1,83,000
G. Stock Account

To Balance b/d i.00.000 | By Cash (b/f) 46.000
To Shares 20.000 | By Batance c/d 74,000
1.20,000 1,20,000

Cash Flow Statement

Notes
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7. Goodwill Account

To Balance b/d Nil | By Balance ¢/d 5,000
To Shares 5.000

5.000 5.000

Note:  In the absence of direction, the differences in the Land & Building value (i.e.,

2.00,000 — 1,90,000 = 10,000) are treated as sale of Land & Building and not as
depreciation. If any specific direction is given in the problem, we proceed with
the problem according to the direction.

Hiustration 6. Balance Sheets of M/s. Black and White as on Ist Jan. 2000 and

3ist Dec. 2000 were as follows.

Liabilities Jan. 2000 | Dec. 2008 Assets Jun. 2000 | Dec. 2000

e T 4 4
Creditors 40,000 44,000 | Cash 10.000 7,000
White loan 25,000 — | Debtors 30,000 30,000
Loan from bank £0,000 50,000 | Stock 35000 25,000
Capital 1,253,000 1,593,000 Land 40,0001 30,000
Building 35,000] 60.000
Machinery 80,060 53,000
2.30.000 | 2,47.000 2,30.000| 2,47,000

During the year machine costing X 10,000 (accumulated depreciation T 3,000)
was sold for T 3.000. The provision for depreciation against machinery as on P
Jan. 2000 was T 25,000 and on 31 Dec. 2000 40,000. Net profit for the vear 2000
amounted to X 43,000. Prepare cash flow statement.

Solution : Cash Flow Statement

FAmount' [,  Outflow of cash.

;, TR U o
Opening cash balance 10,000 | Increase in Debtors 20.000
Decrease in stock 10,000 | Purchase of Land 10.000
Increase in Creditors 4.000 | Purchase of Buildings 25,000
Loan from Bank 10.000 | Repayment of Mr. White's Loan | 25,000
Cash from Operation (1) 65.000 | Capital Account (3) (Drawings) 17.000
Closing Cash Balance 7.000
1,04,000 £.04,000




Workings :

1. Profit and Loss Account

Famount |

o
To Loss on sale of Machinery 2.000 | By Balance b/d
To Depreciation (4) 18.000 | By Cash from operation
To Balance cfd 45,000
65,000 65,000
2, Machinery Account
To Balance b/d 1,05.000 |By Cash 5.000
(80,000 + 25.000) By P&L Alc 2,000
By Accumulated Depreciation 3.000
By Balance ¢/d 95.000
(55,000 + 40.000)
1.05.000 1,05,000
3. Capital Account
To Cash 17.000 | By Balance b/d 1.25.000
To Balance c/d 1.53.000 | By P&L A/c 43.000
1.70.000 1,70,000
4. Accumulated Depreciation Account
To Machinery Afc 3,000 | By Balance b/d 25,000
To Balance ¢/d 40.000 | By P&L Afc 18.000
45,000 43.000

Hustration 7. From the following balance sheet of Exe Lid., prepare cash flow

statement.

Liabilities

Equity shure capital

Redeenmable preference

Shere capital
General Reserve
Profit & Loss A/c
Proposed dividend
Creditors

Bills Payable

Provision for taxation

1.1.99
4

3,00,000

1,50.000
40,000
30,000
42,000
55,000
20,000
40,000

6.77.000

31.12.99
3T

4,00.000

1,00,000
70.000
45,000
50,000
83,000
16,000
50.000

8.17.000

Cash Flow Statement
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Assets
Goodwill
Land & Buildings
Plant
Debtors
Stock
Bills Receivable
. Cash in hand
Cash ar hank

1,15,000
2,00,000
80,000
1,60,000
77,000
20,000
15.000
10,000
6,77.000

The following additional information is also available :
{«) Depreciation of ¥ 10,000 and ¥ 20,000 have been charged on Plant and

L.and and Buildings

in 2000,

(b) A dividend of T 20,000 has been paid in 2000.
(¢) Income tax of T 35.000 has been paid during 2000,

Solution ;

Cash Flow Statement

90,000
1,70,000
2.00,000
200,000
1.09.000

36,000

10.000

8,000

817,000

g f..;.'_"gln flow of cash Amou’af'lt”z w of Cﬁi‘,ﬂ
By g " &
Opening Cash Balance 25,000 [ Redemption of preference
[ssue of Shares 1.00.000 Shares 50.000
Increase in Sundry Creditors 28.000 | Dividend paid 42,000
Sale of Land & building 0,000 | Decrease in Bills Payable 4,000
Cash firon operation 2,18,000 ! Increase in Debtors 40,000
Increase in Stock 32.000
Increase in bills receivable 10,000
Purchase of Plant 1.30,000
Interim dividend paid 20,000
[come Tax paid 35,000
Closing Cash balance 18,000
{10,000 + 8,000}
3.81.000 3.81.000
Workings: 1. Profit and Loss Account
i’% £

To General Reserve
To Proposed dividend

To Goodwill written off

By Balance c/d

By Cash from operation




et [ I Tow Stat {
To Depreciation of Plant 10.000 Cash Flow Statemen
To Depreciation of
Land & Buildings 20.000
T im dividend paid 20.000
o Interim dividend pai Notes
To Income Tax provided (2) 45,000
To Balance ¢/d 48,000
2.48.000 2,48.000
2. Provision for Taxation Account
To Cash (Tax paid) 35.000 | By Balance b/d 40,000
To Balance c/d 50.000 | By P&L A/c 45.000
85,000 (Tax Provisions) 85,000
3. Land & Buildings Account
To Balance b/d 2.00.000 | By Depreciation Afc 20,000
By Balance c¢/d },70.000
4 By Cash (b/T) 10.000
2,00,000 2,00,000
4. Plant Account
To Balance b/d 80.000 | By Depreciation 10,000
To Cash {b/t) 1.30.000 | By Balance c/d 2,00.000
2,10,000 2,10,000

HHustration 8. From the following comparative Balance Sheet of ABC Lid, as

on 31.12.2002 and 2002.

Liabilities 2001 2002 Assets 2001 2002
4 T T 4

Share Capital 70,000 74,000 | Cash 9.000 7,800

Debentures 12.000 6,000 | Trade Debtors 14.900 17.700
Credilors 10,360 11,840 ; Marketable

Provision for Securities 49,200 42,700

Doubtful debts 700 800 | Land 20,0004 30.000

Profit & Loss Afc 10,040 10,560 | Goodwill 10,000 5.000

1.,03,100 | 1.03,200 1,03.100 | 1.03,200

The following additional information is also available :

(i}
(i}

of goodwill of 3 5,000.

Dividend of T 3,500 was paid during the year 2002.

Lundwas purchased for 3 10,000 and amount provided for the amortization

(iii) Debentures was repuaid % 6,000.

Prepare cash flow statement.
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Sotution :

Cash Flow Statement

¢ %iyinflowof cash 7" *["Amodnc’| "Outflow.of cash = | Amount
B ?* wiel @B Ene | B ‘&é . gsgm.
Opening cash balance 9.000 | Increase in Debtors 2.800
1ssue of Shares 4,006 | Dividend paid 3,500
Increase in Creditors 1,480 | Purchase of land 10,000
Decrease in Marketable 6,500 ] Redemption of debentures 6.000
Securities
Cash from Operation 9.120 | Closing cash balance 7.800
30,100 30,100
Workings : 1. Profit and Loss Account
. JFAmouni.] o F W Amunt
£ ?2'_ - s EL I Q‘k;‘-v .
To Provision for Doubtful debts 100 | By Balance b/ 10,040
To Dividend Paid 3.500 [ By Cash from operation 9,120
To Goodwill written off 5.000
To Balance ¢/d 10.560
19.160 16,160
2. Debentures Account
To Cash {b/f) 6.000 | By Balance b/d 12,000
To Balance c/d 6.000
12.000 12,000
3. Land Account
To Balance b/d 20,000 | By Balance ¢/d 30.000
To Cash 10.000 | By Balance ¢/d 5.000
30,000 30,000
4, Goodwill Account
To Balance b/d t0.000 | By P&L Afc 5.000
By Balance c¢/d 5.000
10,000 10.000
Hlustration 9. From the following Balance Sheet of Gristol Lid., make out the
statement of sources and uses of case.
Liabilities 1998 1999 Assets 1998 1999
T 4 4 T
Capital 113,000 113000 Cash & Bank
Sundry Creditors 315001 48.000 Balance 43,000 43,000
Cutstanding Expn. 6,500 6,000 | Sundry Debtors 33,500 21,500




$% Debentures | 5000]  35.000] Temporary | | Cash Flow Statemen!
Depreciation Fund 20,000 22,000 Invesiment 53,000 37,000
Reserve for Prepaid Expenses 500 1,000
Contingencies 30,000 30,000 | Stock in Trade 41,000 33,000 Notes
Profit & Loss A/c 8000 11360 Land & Buildings 73,000 75,000
Machinery 26,000 35,000
2,76,0007 2,67,500 276,000} 267,500

The following additional information is also available :
(7} 10% dividend was paid in cash.
(ify New machinery for T 15,000 was purchased but old machinery costing
< 6,000 was sold for ¥ 2.000; accumulated depreciation was T 3,000,

(#if) < 10.000 8% debentures were redeemed by purchase from open market @
X 96 for a debenture of T 100,

_ (iv) T 18.000 investinents were sold at book value.

Solution ; Cash Flow Statement
nggﬁﬁ?w;é;;cas\w@ . Am;ﬁgn_t Ou%@:\v of ¢ash
Opening Cash balance 45,000 | Decrease in Sundry Creditors
Decrease in Sundry debtors 12,000 | Decrease in Outstanding
Sale of Machinery 2.000 Expenses 500
Sale of Investments 18,600 | Increase in prepaid expenses 300
Cash from operation 20.600 | Redemption of debentures 8.600
Increase in Stock in Trade 12,000
Payment of dividend 11.500
Purchase of Machinery 15.000
Closing Stock balance 45.000
97.600 97.600
Workings : 1. Profit and Loss Account
-% TAmount | ¥ EEE %
To Payment of dividend 11,500 | By Balance b/d 8.000
To Loss on sale of Machinery 1.000 | By Profit on Redemption of
To Depreciation 5,000 Debentures
To Balance ¢/d 11,500 (10.000-9.600) 400
By Cash from operation 20,6900
29,000 29,000
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2. Accumulated Depreciation Account

To Machinery 22,600 | By Balance b/d 20,000
To Balance ¢/d 3,000 | By P&L A/c (b 5,000
25.000 25.000
3. Machinery Account
To Balance b/d 26,000 | By Cash 2.000
To Cash (b/f) 15.000 | By P&L'A/c 1,000
By Accumulated Depreciation 3,000
By Balance ¢/d 35.000
41,000 41.000
4. Debenture Account
To Cash 9,600 | By Balance b/d 45,000
To Profit on Redemption 400
To Balance ¢/d 35.000
45,000 45,000 |
5. Investment Account
To Balance b/d 35,000 | By Cash 18,000
By Balance c/d 37.000
55,000 35.000

Note:

Amount paid

6
100

Actuzl vaiue of debenture

Profit on Redemption of debenture =

Redemption of debenture 2, 10,000 = 9,600

10,000
9,600
400

1l

flilustration 10. The Comparative Balance Sheets of Mr: Hitler for the two years

are as follows.

Liabilities 2002 2003 Assers 2602 203
4 4 k4 £

Loan from wife — | 20.000} Cash 11,060 15,000
Bills Payable 12,000 8 000 | Debtors 40.000 35,000
Creditors 25,000 32.000] Stock 25,000 30.000
Loan from Bank 43,000 60,000 Machinery 20,000 14.000
Capital 66,000 34.000 | Land & Buildings 30,000 80.000

1,46,000| 1.74,000 146,000 1,74,000

The following additional information is also available :

i) Net Loss for the year 2003 amounted to X 13,000.




(i) During the year machine costing T 35,000 (accunndated depreciation  Cash Flow Statement
T 2,000} was sold for T 2.500. The provision for depreciation againsi
machinery as on 31.12.2002 was T 6,000 and on 31.12.2003 was

T 7,000.
Solution : Cash Flow Statement Notes
% Iniov ot cash B BAmguncE] P Outhow of cash
rab wes® ot o L Boaibum b owe v e
Opening cash balance [1.000 | Decrease in bills payable
Loan borrowed from wife, 20,000 | Increase in Stock
Increase in Creditors 27,000  Purchase of Land & Buildings
Loan borrowed from bank 17.000 | Drawings (2) {Capital A/c)
Decrease in Debiors 3.000 | Cash from operation
Sale of Machinery 2,500 | Closing cash balance
82.500
Workings : 1. Profit and Loss Account
() ;@e i ag;\ﬁ%ﬂﬂt% o %V = % .
St 8w - N s e @mle R
To Loss on sale of Machinery 500 | By Balance b/d 13.000
To Depreciation Afc 3.000
To Cash {rom operation 9.500
13.000 13,000
2. Capital Account
To Profit & Loss Afc (Net Loss) | 13,000 | By Balance b/d 66,000
To Balance c/d 34,000 | By Profit & Loss Afc 500
To Cash (b/f} 19.000
66.000 66.000
3. Machinery Account
To Balance b/d 26.000 | By Cash 2,500
(20.000 + 6,000) By Profit & Loss A/c 500
By Accumulated Deprecation 2.000
By Balance ¢/d 21.000
(14,000 + 7.000)
26,0600 26,000
4. Accumulated Depreciation Account
To Machinery Afe 2,000 | By Balance b/d 6.000
To Balance ¢/d 7.000 | By P&L A/c 3,000
9.000 9,000
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Accounting Tfheory and Note:  Journal Entry for Hind Adjustment
Praciice . .
Cash Afc Dr. 2,500 (Sale price)
Accumulated Depreciation A/e Dvr. 2,500 (Depreciation)
Profit & Loss A/c Dr. 500 (Loss)
Notes To Machinery 5,000 (Value of machinery)

Hiustration 11. From the comparative balance sheets of Serial Engineering Ltd.
As af 31.12.1998 and other information furnished, prepare a cash flow statement for
the year ended on 31.12.1998.

Liabilities 1997 1998 Assels 1997 1998
4 4 T 4

Equity Share Fixed Assels 240,000 4,20,000
Capital 50,000 | 2,00,000 | Imvestments 18,000 13,000
Redeemabie Pref. Stock 383500 160000
Share Capital 1.00.000 — | Sundry Debrors 137,000 92,000
Retained Earning 1,20,600 | 3,50,000 | Cash at Bank 1.85.000 126000
Unsecured Loan £,25,000 — | Prepaid expenses 6.300 8,000
Bills pavabie 2250007 1,90.000
Provision for Tax 25,000 73,600

6,435,000 | 8 15,000 643,000 815000

The following additional information is aiso available :

(i) On 31.12.1998 accumulated depreciation on fixed assets amounted 1o
T 1.20.000 and on 31st December 1997 103 1, 10,001,

(iy Machinery costing X 10,000 (Accumidated depreciation thereon being
T 3,000) was discarded and written off during 1998.

(iif) Depreciation written off during 1998 amounted 10X 15.000.
(iv) During the yvear 1998 investments costing X 6,000 were sold for X 7.000.
(v) Dividend paid during the year was I 45,000.
(vi} Redeemabhle preference shares were redeemed out of profile during the
vear at a premium 0f 5%.

Solution : Cash Flow Statement

¥ Tnflowofcash ™% { Amount | Amount
B 4w w. b | F T . | =R
Opening Cash Balance 1.85.000 | Repayment unsecured loan 1.25.000
1ssue of Shares 1,50,000 | Decrease in bills payable 33,000
[ncrease in provision for taxation 50.000 | Increase in stock 1.01,500
Decrease in Sundry Debtors 45.000 | Increase in prepaid expenses 1.500

Dividend paid 45,000

Sale of [nvestments 7,000 | Purchase of fixed assets (3} 2,00,000
_C_ash from operation ] 2_ 99_0_0_0 Redemption of preference )
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Shares
Purchase of investment (4)

Closing Cash batance

7.36.000

1.05.000
3.000
1.20.000

7,36,000

Workings :

1. Profit and Loss Account

~ e
{\moum

To Loss on Machinery 3.000 | By Balance b/d 1,20,000
{Discarded) By Profit on sale of Investment 1.000
To Dividend paid 45,000 | By Cash from Operation 2.99.000
To Premium on Redemption of
Preference shares 5.000
To Depreciation 15,000
To Balance c/d 3.50.000
4.20.000 4.20.000
2. Redeemable Preference Share Capital Account
To Cash 1.05.000 | Bv Balance b/d 1.00.G00
By Premium 5,000
1.05.000 1.05,000
3. Fixed Assets Account (Machinery)
To Balance b/d 3.50.000 | By Profit & Loss A/c 5,000
To Cash 2,00,000 [ By Accumulated Depreciation 5,000
By Balance c¢/d 5.40.000
(4.20.000 + 1.20.000)
5.50.000 5,50,000
4, Investment Account
To Balance b/d 18.000 | By Cash 6,000
Tao Cash 3,000 | By Balance c/d 15,000
21,000 21.000
8. Accumulated Depreciation Account
To Balance c/d 1,20,000 | By Balance b/d 1,10,000
Te Machinery 5,000 | By P&L A/ 15.000
1.25.000 1.25.000

Cash Flow Statement

Notes
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Note:  Journal Entry for Adjustment (i & i)
(i) Profit & Loss A/c Dr. 5.000
Accumulaied Depreciation Afc Dr. 5,000
To Machinery A/c 10.000
Notes (iv) Cash Afc Dr. 7.000
To Profit & Loss Afc 1,000
To [nvestment A/c 6,000

Hlustration 12. Prepare a cash flow statement from the balance sheets of TTD
& Co. as on 31.3.2000 and 31.3.2001. R in thousand)

) Liabilities 2000 | 2004 Assets 2000 2001
- 3 T 3 T
Capital 140 140 | Fixed Assets (Net) 90 87
Reserve 74| 105 Cash 75 97
Creditors 32 35 | Debrors 43 40
Outstanding Inventory 49 38
Wages 3 41 Prepaid Expenses 3 3
Expenses
Outstanding i 3
260 287 260 1 287

Accumulated depreciation was X 16,000 and T 19,000 respectively at the
beginning and end of the year 2001.

Other information Sales T 3,00,000, Wages T 23.000. Operating Expenses T
47,000, Cost of goods X 1,90.000, Rent T 6,000 and Depreciation T 3,000.

Solution : Cash Flow Statement

o

& Inflow of c;;sii Outfiow of cash

Opening cash balance Increase in inventory 6.000

Increase in creditors Decrease in Miscellaneous

Increase in wages outstanding Expenses cutstanding 8.000

Becrease on debtors Increase in prepaid expenses 2.000
Cash from operation (1) Closing cash balance 97.000
1.16.000 1,16,000
Workings : L. Profit and Loss Account

Wi fAmount s A“?“h}:unf%

. e‘; . . ] % < i
To Depreciation 3.000 | By Balance b/d 74,000
To Balance ¢/d t.05.000 | By Cash operation 34,000
1.08.000 1,08,000
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2. Fixed Assets Account Cash Flow Statement

To Balance b/d 1,06.000 | By Balance ¢/d 1,06,000
(90,000 + 16.000) 1 (87.000 + 19,000)
1,06,000 1.06.000 Notes
4, Accumulated Depreciation Account
To Balance b/d 19.000 | By Balance b/d 16,000
By P&L A/c 3,000
(Current year Depreciation)
19.000 19,000
Hltustration 13, Kapin Lid. furnishes you the following balance sheet for the
vear ending on 31.12.2002 and 2003. You are required to prepare cash flow statement
of the year ended on 31.12.2003.
Liubilities 2002 | 2003 Assels 2002 2003
4 4 T 4
Equity Share Capital 10,000 10,000 | Goodwill 1.200 1,200
General Reserve 1406 1800 | Land 4,000 3.600
Profit & Loss A/c 1600 1300t Buiiding 3,700 3,600
Sundry Creditors 800 340t Equipment 1,000 1,160
Bifls puyable 120 80 | Stock 3,000 2340
Provision for Taxation 1,600} 1,800 | Accounts Receivable 2.000 2,220
Provision for Bad Debts 41 60 | Bank Balance 660 1,320
15,560 15580 15560 13380
The following additional information is also available :
(7) A piece of land has also been sold for T 800.
(if) Depreciation amounting to < 600 has been charged on building,
(iii} Provision for taxation has been made for T 1,700 during the year.
Solution : Cash Flow Statement
ilfloworcash = . gAniounty) § p'nt_t}%‘%}v ofgdsh B ' §Am o%mq.
AT o lom i owe . selm
Opening Cash balance 660 | Decrease in Sundry Creditors 260
Decrease n stock 660 | Decrease in Bills payable 40
Sale of land 800 | Purchase of equipment 100
Cash from operation 2,420 | Increase in account 220
receivables
Tax paid 1.500
Purchase of building 500
Land purchased 400
Closing Cash balance 1,520
4,540 4,540
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Accounting Theory and Workings : 1. Profit and Loss Account
Practice - — Cirs o —
B . gxmqﬁ'nt e T A e L Shount
3 |sb 8 , ;
s w e | |®
To General Reserve 400 | By Balance b/d
Notes o i

To Provision lor Doubtful debts 20 | By Cash from Operation 2,420

To Depreciation on Building 600

To Income Tax Provision 1,700

To Balance c/d 1.300
4.020 4.020

2. Provision for Taxation Account
To Cash {Tax paid) 1,500 | By Balance b/d 1.600
To Balance ¢/d 1,800 | By Profit & Loss A/c 1.700
(Income Tax provision)
3,300 3.300
3. Land Account
To Balance b/d 4,000 | By Cash 800
To Cash 400 | By Balance ¢/d 3.600
4.400 4,400
4. Building Account

To Balance b/d 3,700 } By Depreciation (P&L A/c) 600
To Cash 500 | Bv Balance ¢/d 3.600
4.200 4,200

Cash Flow (AS 3) Revised Format

Under the revised format, cash flow statement should be prepared in such a way
as to repoit the cash flows during the periods separately for operating, investing and

financing activities.

I Cash Flows from Opcrating Activities

Net profit earned during the year XX
Add : Depreciation xX
Less on sale of machinery XX
Preliminary expenses written off XX
Goodwill written oft’ XX
Patents and copy right written off XX
Operating profit before working capital changes XX
Adjustment of working capital

(Add cash flow, less cash cutflows)

Decrease in current assets XX
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Cash Flow Statement

Decrease in current liabilities XX
[ncrease in current assets XX
Increase in current liabilities XX
Cash flows from operating activities XX XX Notes
IT Cash Flows from Investing Activities
Purchase of imachinery XX
Purchase of land & building XX
Purchase of goodwill XX
Purchase of furniture XX
Sale of machinery XX
Sale of land & building XX
Sale of furniture XX ‘
Interest on investment received XX
Cash flows from investing activities XX
HI Cash Flows from Financing Activities
1ssue shares XX
Issue debentures XX
Loan borrowed KN
Redemption of shares XX
Redemption of debentures XX
Loan repaid XX
Dividend paid XX
Interim dividend paid XX
Drawings XX
Net cash flows from financing activities XX
Net increase or decrease in cash and cash equivalent XX
Add : Opening cash balance
(Adjust BOD if any given the problem) XX
Closing cash Balance NX
(Adjust BOD if any given the problem)
Note:  In the question will specifically mention for the applying revised methods only,
we follow the revised format otherwise better to follow Existing format.
Hlustration 14. Prepare cash flow sratement under Revised format from the
Jollowing balance sheets of Tiruchengodu Traders Ltd,
Liabilities 2000 2001 Assets 2000 2001
4 4 4 Z
Share Cupital 17,060,000 | 1833000 | Buildings 800,000 | 10,060,000
Reserves 40,000 83,700 | Plant and Machinery | 2,306,000 | 3,70.000
P& LAPP A/ 106,000 | 1.30,000 | Furniture 3.000 6,000
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Accomnting Theory and (3, oo oo™ [ Faon) o e T e
Practice

Creditors 1.06,000 95,000 | Debtors 1.00,000 45,0900

Bank overdrafi 8,000 18,000 | Bills receivable &,000 2000

Bills payable 14,000 13.000 | Srock 400000 343700

Notes Morigage Loan « 10,000 70,000 | Prepaid expenses 3,000 3.100

Investments LeL000 | 1,70,000

Goadwill 300000 343700

Preliminary Expenses 10,000 2,000

20,442,600 | 22,94,704 20,42,000 22,94,700

The following additional information is also available:

{a) Depreciation is charged on buildings ar 3% of cost 0f X 9,00,000 on plant
and machinery at 8% of cost of T 4,00.000; Furnirure at 5% of cost I
8,000,

(b} Investments were purchased and interest was received T 3,000 which was
used in writing down the book value of investment,

(¢} The declared dividends for 70,000 were paid and interim dividend for T
20,000 was paid out of P & L App. A/c.

Solution : Cash Flow Statement (Revised Method)

1 Cash Flows from Operating Activities ‘ 4 4
Net profit before tax and extraordinary item 1.43,700
Adjustment for depreciation for furniture 400
Adjusiment for depreciation for plant and machinery 32.000
Adjustment for depreciation on building 27.000
Preliminary expenses wriiten off 8.000
Operating profit before working capital changes 2.11,000
Decrease in debtors 55,000
Decrease in stock 56,300
Decrease in creditors (5,000)
Increase in bills receivable {1,000}
Decrease in bills payable (1,000)
Increase in prepaid expenses (100)
Net cash flow from invsting activities 3.15.300

Il Cash Flows from Investing Activities

[nterest on investments 3,000
Purchase of investment (9.600)
Purchase of building (2,27.000)
Purchase of machinery (1.52.000)
Purchase of funiture (1,400)
Purchase of goodwill {43.700)
Net cash flow from investing activities 4,30,100
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[{I Cash Flows from Financing Activities Cash Flow Statement

Issue of shares 1,35,000
Mortgage loan 60,000
Dividend paid for 2000 {70,000)
Interim dividend paid (20,000) Notes
Net cash flows from financing activities 1,05.000
Net increase {decrease) in cash angd cash equivalents (9.800)
Cash and cash equivaients opening balance
{Bank O/D-cash) (6.000)
Cash and cash equivalents closing balance
(Bank QfD-cash) (15,800)
Workings : 1. Profit and Loss Account
Ty w B W{" e W 5 __ A‘?“UW_ szW W A N *‘ &; ;\W K"i"“oﬁwn[ "
To Balance ¢/d 1,30,000 | By Balance b/d 1.00.000
To Transfer reserves 43700
To Provision for dividend 50.000 | By 1.43,700
To Interim dividend paid 20,000
2.43,700 2.43,700
2. Building Account
To Batance b/d 8,00,000 | By Balance ¢/d 10,00.000
To Purchase (Bt) 2,27,000 | By Depreciation
(9.00.000 x 3/100)
10,27.600 10,27.000
3. Plant & Machinery A/c
To Balance b/d 2.50,000 | By Balance ¢/d 3.90.000
To Purchase (Bf) 1,52,000 | By Depreciation
- (9.00,000 < 8/100) 32.000
4,02,000 4.02,000
4. Furniture Account
To Balance b/d 5,000 | By Balance c¢/d 6,000
To Purchase (Bf) 1,400 | By Depreciation
(8.000 = 5/100) 400
6,400 6,400
4. Investment Account
To Balance b/d 1,64,000 | By Balance ¢/d 1,70,000
To Purchase Investment (ﬁf‘j 4,000 By Bank (Enterest) 3,000
1.73.000 1,73,000
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5.8. Review Exercise

BN

N oo w

N

—.

3. The summarized Balance Sheet of Kandan Lid.,
31.12.92 are as following;

What is meant by cash flow statement ?

How will you prepare the cash flow statement ?

What is the purpose of preparing cash flow statement ?

What are the differences between cash ffow and fund flow statement ?

Explain the advantages of cash flow statement.

Whalt are the limitations of cash flow statement ?

From the following Balance Sheet of Arvind Ltd., you are required to

prepare a cash flow statement:

Liabilities 1489 1990 Assets 1989 1990
_ 4 4 4 4
Share Capital 4.00.000 | 5.00.000 | Cash 60,000 | 94.000
Trade Creditors 1.40.000 90.000 | Debtors 2,40,000 | 2,30,000
Profit & Loss Afc 20,000 46,000 | Stock 1,60,000 | 1,80,000
Land 1.00,000 | 1.32.000
£,60,000 ) 6.36,000 5,60.000 | 6,36,000

From the following Balance Sheet as on 31.12.93 and 31.12.92, prepare a

Cash Flow Siatement:

Liabilities 1993 1992 Assets 1993 1992
T 4 T 4

Share Capital 1.30,000 1 1.00.000 | Fixed assets 1.50,000 | 1,00.000
Profit & Loss Alc 80.000 50.000 | Goodwill 40.000 50.000
General Reserve 40.000 30,000 | Stock 80.000 30,000
% Debentures 60.000 50,000 | Debtors 80,000 50.000
Creditors 40,000 30,000 | Bills Receivable 20,000 30,000
Cuistanding exp. 1 5.000 10,000 | Bank 15.000 10.000
3.85000 | 2.70.000 385,000 [ 2,70,000

as on 31.1291 and

Liabilities 1991 1992 Assets 1991 1992
T 4 T 4

Share Capital 4.50.000 | 4.30.000 | Fixed ussets 4.00.000 | 3.20.000
General reserve 3.00.000 [ 3.10.000 | Investment 50.000 60.000
P&L Afc 56.000 68.000 | Stock 2430060 | 2.10.000
Creditors 1.68.000 | 1.34.000 | Debtors 210,000 1 4.55.000
Tax provision 75.000 10.000 | Bank 1.49.000 | 1.97.000
Moartgage loan - | 2.70.000 _

10.49,000 | 12.42,000 g 10,49,000 | 12.42,000




Additional Details Cash Flow Statement
1. investment costing T 8.000 were sold for T 8,500.

b

Tax provision made the vear was T 9,000.

3. During the year part of the fixed assets costing ¥ 10.000 was sold for ¥
12,000 and the profit was included in P&L Account. You are required Notes
to prepare cash flow statement for 1992,

4. The following shows the balance in condensed from of Pavitra Lid. At the
beginning as well as at the end of the year 1987:

Liabilitics 1.1.87 31.12.87 Assets 1.1.87 311287
4 4 4 T
Credilors 52,000 47,500 | Cash & Bank bal- 43,000 43,000
ance

(utstanding exp. 6.000 6.500 | Debtors 38,300 26,300
% Debentures 45,000 35,000 | Investments 50.000 32.000
Depreciation fund 20,000 22.00 | Prepaid exp. 00 1.000
Reserve for contingencics 30,000 30.000 | Stock-in-trade 41,000 33.0000
P&L Afc 8.000 11,3000 | Land & Building 71,000 F7.000
share capital 143000 1 113000 | Machinery 24,600 33,000
276000 | 2.67.5004) L6400 | 2.67.5000

The following information is also available
(a) 10% dividend was paid in cash.
() New Machinery for 15,000 was purchased but old machinery costing

< 6,000 was sold for ¥ 2.000 on which accumulated depreciation was
T 3,000.

(¢) Y 10,000 Debentures were redeemed by purchase from open market at
T 96 for a debenture of T 100. '

() Investments were sold at book value.
Prepare a Cash Flow statement

LY
5. From the following balance vou are required to calculale cash from

operations:
Liabilities 31,1289 3LzH
Z 4
P & L Afe balance 30,000 3.16.000
Deblors 0,000 84,000
Creditors 40,000 32,000
Bills Receivable 24.000 30000
Prepand expenses 3,200 2.800
Bills Pavable 30,000 32.000
Outstanding expenses 2,400 3.200
Outstanding Income 1.600 1,800
Income received in advance 00 600
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Accounting Theory and 6. From the following Balance Sheets as on 3 st December, prepare a Cash

Practice Flow statement and Adjusted P & L A/c.
Liabilities 312,200 | 31.12.2000 Assets JLI12.2000 | 3t.12.2001
4 T 4 4
Notes Share Capita) 1.00,000 1,50.000 | Fixed assets 1.00.000 150,000
P& LA F0.000 80,600 | Goodwill 50,000 40.000
General Reserve 30,600 40,000 | Inventories 50.000 80,000
16% Bonds 50.000 60.000 | Debtors 50,000 80,000
Sundry creditors 30,000 $0.000 | Bitl Recetvable 19,000 13,0600
lixpenses vutstanding 10.000 13000 | Bank 10.000 15.000
2.70.000) 335,00 2.70.0600 3.85.000

7. The Comparative Balance Sheetl of Mr. Wheldon for the two years were as

follows:
Liabilities 1988 1989 Assets 1988 1989
4 4 4 T
Capital 1,50.000 | 1,75,000 | Land &1 1100001 1,50,000
Buildings

Loan from Bank | 1.60.000| 1.00.000 | Machinery 2.00.000 | 140,000
Creditors | 90.600 | 1.00.000 | Stock 50.000 45.000
Bills Pavable 50,000 40,000 | Debtors 70.000 $0.000
L.oan from [FC - 25,000 | Cash 20,000 25,000
4,50,000 | 4,40,000 4,50,000 | 4,40,000

Additional Information:
Net profit of the year 1989 amounted to ¥ 60.000. During the year a
machine costing ¥ 25,000 (accumutated depreciation ¥ 10.000) was sold
for ¥ 13,000. The provision for depreciation against machinery as on 31-
12-88 was T 50,000 and on 31-12-89 ¥ 85,000. You are required to prepare
a Cash Flow Statement.

8. The Balance Sheet of Thirugananam Ltd., for the year 1989 and 1990
were as follows:

Liabilities 1989 1990 Assels 1989 1990
z 2 2 7
Share capital 1.50,000 1 1.75.000 | Buildings 110,000 | 130,060
P& LAk 1.20.000 80,000 Plant 2.00.000 | 140,000
l.on from bank 1.40.000 20.000 | Siock 30.000 45.000
Creditors 85.000 93.000 | Deblors 70,000 80.000
Qutstanding exp. 3.000 7.000 | Cash 15.000 22.000
Bills pavable 50,000 40.000 | Prepaid exp. 5.000 3.000
Loan from [FC - 25.000
, 450,000 | 4.40,000 450,000 | 440,000
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9.

Additional Information :
(«) Net profit for the vear 1990 ¥ 60,000.

(b) During the vear a plant costing T 25,000 (accumulated depreciation T
10,000) was sold for T 13,000.

{c¢) The provision for depreciation against plant as on 31-12-89 was I
50.000 and on 31-12-90 was ¥ 85,000.

You are required to prepare a Cash Flow Statement.

The following are the Balance Sheet of Velavan Brothers Ltd., as on 3 1st,
March 1986 and 1987.

Balance Sheet

Liabilities J1.3.87 | 31.3.86 Assets 31.3.87 3386
. 4 4 4 E4

Share capital 5.000 4.000 | Fixed assets 4.000 4. 1000

P& LAf 320 300 | Less: Depreciation 4.000 4,000

Debentures 700 600 1.500 1.100

2.500 3.000

Creditors 1.400 1.700 | Debtors 2.400 2.000

Provision of lax 420 300 | Prepaid expenses 30 30

Proposed 580 300 | Preliminary exp. 300 300
dividend

Bank Overdraft 680 |  1.250 | Cash 350 (20

Stock 3.500 3.000

9,100 8650 9.100 8.650

Additional Information :
[. Tax paid during the year ending 31.3.87 ¥ 350.
2. Dividend proposed during the year ending 31.3.87 ¥ 400,

3. Fixed assets coasting ¥ 700, accumulated depreciation thereon I 300
were sold at book value

You are required to prepare a cash flow statement.

T e e e e

Cash Flow Statement

Notes
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